Chapter 2

#

2.1-1 Let us denote the signal in question by g(t) and its energy by E,. For parts (a) and (b)

ox 1 2n 1 2
Ey= sinftdt = = dt - = cos2tdt=n+0=m
° 2Jo 2 Jo

4n 1 4r 1 4
(c) E,--/ sin%dt:—/ dt — = cos 2tdt=n+0==
2n 2 2 2 V14

2 1 2 1 2
(d) Ey = / (2sin #)? dr =4 [-,;/ dr — ;,-/ cos 'tht] =4{x +0] =4n
o 0 0

Sign change and time shift do not affect the signal energy. Doubling the signal quadruples its energy. In the
same way we can show that the energy of kg(t) is k*E,.

21-2 (a) FEe= [J0Wr=2.  E,= [J(1dt+ [{(-1)%dt=2

1 2
E,ﬂ,=/ (2)°dt = 4. Ez-, —/ (25%dr = 4
] 1

Therefore Ezxy, = Ex ~ E,.

.. . 27 ”/2 - 2 2=
(DVE: = / (1)'dr+/ (~1)%dt = 2x. E, =/ (1)24;+/ (-1)’4:4_-/ (1)‘ar+/ t-1)%t = 2x
Jo ” [+] Jwf2 ] JAr;2

»/2 In/2 2%
Ecey= / (2)%dt + / (0)%dt + / (=1)%dt = 4r
o] " 3

/2 /2

Similaily. we can show that E;_, = 47 Therefore Ez3, = E. + E,. We are tempted to conclude that L.ty =
E. ~ E, in general. Let us see.

rx/d ” ”
(c) E. =] (1)2dr.+/ (-1)%dt=x E, =/ (MWt ==
0 ” 4]

/4

/4 wr ~/4 L]
Evivy =/ (2)°dt +/ 0%dr =7 Eax-, =/ (0)2at +/ (—-2)%dt = 3
[<] n/4 [+] n/4

Therefore. in general Erzy # Ex + E,

2.1-3
1 To 2 2 Ci To
= o ' t+80)dt = — 2wot + 20)] dt
Py T J, C* cos*(wot + ) d T /; {1 + cos (2wot + 28)]
C2 T T CZ C?
= — - s (& . G)dt | = wm— = -
T [_/o dt + [) cos (2wot + 26) d T |To + 0} 3

2.1-4 This problem is identical 1o Example 2.2h. except that w; # w2. In this case. the third integral in I’ (see p. 19
is not zero. This integral is given by

2c,s (T2
Iy = lim & ‘/ <05 (wit + 61) cos (wit + B2) dt

T—~ T -T2
T/2 T/2
= lim g-l-gz- [/ cos{f —~ 62) dt -:-/ cos(2unt + 0y + 02)1/!}
T T -T;2 -T2
. ‘1C2 . N v . — ‘
= lim == |7" cos(8y — 02)} + 0 = C1Cacos(fr —- 02)
T T

www.freedvn.org oldroad



Therefore

C? 2
Py =+ -C-;-’- 4 C1C2 cos(by - 62)
2.1-5
1 T . 1 2 2
Po== | (1F)2dt=64/T (8) P-g=7 (—t*)%dt = 64/7
T4, 4/,
1 [? 1 2
(b) P2y = / (21%)2dt = 4(64/7) = 256/7 () Peg = 7 / (ct)?dt = 64¢% /7
-2 -2
Sign change of a signal does not affect its power. Multiplication of a signal by a constant ¢ increases the power
by a factor 2.
2.1-6 .
_1 MY RPN | by Yo -7
(a) Pg—ﬂﬁ(v )dr—ﬁ-/or dt-—ﬂ[l e 7
®b) P —i/" w’(f)rll-—-—l—/”/z dt = 0.5
7w 2 J_.p2
1 To/2 1 To/2
() Pﬁ‘/ Aa= [ a=1
To J_1o/2 To J_1o12
, 1 : 2
(d) PF -—--/ (£1)7dt =1
4J.2
2% 2
1 t\* 1
© F=a () =3
2.1-7

" "

T/2 T/2
P, = lim = git)g"it)dt = lim 4 ZZDkD',r""""‘)' dt
Y T—-~T -T!'?H T Tom T %

cAh=mr=m

The integrals of the cross-product terms (when k # r) are finite because the integrands are periodic signals
(inade up of sinusoids). These terms. when divided by T — co. yield zero. The remaining terms (k = 1) yield

T2 " n
1 2 2
= | - 8 1 = D
Py = lim % --7‘/2,\.2”)‘! d ;| «l

2.1-8 (a) Power of a sinusoid of amplitude C i3 C?/2 |Eq. (2.6a)) regardless of its frequency (w # 0) and phase.

Therefore. in this case P = (10)3/2 = 50.
(b) Power of a sum of sinusoids is equal to the sum of the powers of the sinusoids {Eq. (2.6b)]. Therefore. in

this case P = 437 + 08" =178,
(c) (10 + 2 sin 3t) cos 10t = 10cos 10t + sin 13t — sin 3t. Hence from Eq. (2.6b) P = Qgﬁ +3+ 3 =51
(d) 10 cos 5t cos 10t = 5(cos 5t + cos 15t. Hence from Eq. (2.6b) P = %2: + 53}: = 25.

(e) 10sin 5tcos 10t = 5(sin 15t — sin 5¢. Hence from Eq. (2.6b) P = 3333 + -‘;;-ﬁ = 25.
3 [p-"°+~°)' + vj(""’°)']. Using the result in Prob. 2.1-7. we obtain P =(1/4)+(1/4) =1/2.

~ MR
E,= / (e ™) dt= / e~ dt = 00
- -
T2

1 - 2 N A
. —at . -2a
= P ; It = - : dt = oc
Py = lim = /:T/Z(r P dt= lim = ./;1'/'.'( oc

(f) r®' coswot =

2.2-1 For arealn

For imaginary a. let a = jr. Then

T/2

1 [T ; 1
= limTa~= / (r’x')((’_"t)df = lim = / dt =1
g T -T/2 Tem: T JoTr2
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Fig. $2.3-2
Clearly. if a is real. ¢—°! is neither energy not power signal. However. if a is imaginary, it is a power signal with
power 1.

2.3-1
@) =gt -1 +a:(t=1). ga(t) =g(t - D+glt+1), glt) =glt - 0.5) + g1t + 0.5)

The signal gs{t} can he obtained by (i) delaying g{) by 1 second {replace t with t —1). (ii) then time-expanding
by # factor 2 treplace t with 1:2). (iii) then multiply with 1.5. Thus gs(t) = 1.5¢(3 - 1).

2.3.2 Al the signals are shown in Fig. $2.3-2.

2.3-3 All the signals are shown in Fig. §2.3-3

4k e ‘\yl(l’-‘s)
2 : 2 o
° A & -6 t™> 3
gt-4) 4 gu-v
"M
el s t—= o e t~*

Fig. 82.3-3

t->

N A

e ¥

I:'..y=/ [-—g(!)]zdf=/ g*(t)dt = Eg. Eg(-;)=/ [g(—t)]zdt=/ ¢’lz)dr = Eg

1 -

n . W {2 ¥ 1 e 5
Egu-Ty = / lalt - ’I‘)j2 di = / g2 (x)dr = Eg.  Egan = / [g(at)]’d? = ;/ g%(z)dr = Eg/a
— .—n - -

2 V) ~ ~ N
Eytar-.= / l.q(af-h)]’«lf=%/ gt(r)dr = Egfo.  Eyu/a) = / lo(t/a)? dt = a / g*lr) dt = aEy

Eagty = / {n.q(i)]"‘ dt = a=/ g (Hdt= o°E,
2.4-1 Using the fact that g(r)#(r) = g(0)4(r). we have
(a) 0 (b) 38(w) (c) a1 (d) -18(t-1) (e) e +3) () ké(w) (use L’ Hopital's rule)

2.4-2 In these problems remember that impulse #(x) is located at z = 0. Thus. an impulse é(t —7) is located at 7 = 1.
and so on.
(a) The impulse is located at 7 =1 and g(7) at 7 =t is g(t). ‘Therefore

3

www.free4vn.org
oldroad

t-»



2.4-3

2.5-1
2.5-2

2.5-3

/ a(T)d(t = T)dr = g(t)

-

(b) The impulse A(7) is a1 7 = 0 and g(1 ~ 7) at 7 = 0 is g(t). Therefore

/ 8(r)g(t — 7)dr = g(t)
Using similar arguments. we obtain
(©1 (@0 () (05 (8)o(-1) (h) -
Letting af = 7. we obtain (for a > 0)
" ompsandt =1 [ o(Z)t(z)dz = 30(0)
. Y R "
Similarly for @ < 0. we show that this integral is —%¢(0). Therefore

[ o(tp(ar)dt = =:6(0) = 10 /_ ) #(2)6(2) dt

e

Therefore

b(at) = T}l—lau)

Trivial. Take the derivative of {e!? with respect to ¢ and equate it to zero.

(a) In this case Ez = [, dt = 1. and

1 M 1 1
r=E./o g{f}:r(!)di=7/0 tdt =05

(b) Thus. g{t) = 0.57(t). and the error e{t)y=t~-050ver (0 <1< 1). and zero outside this intervai. Also Ey
and E. (the energy of the ervor) are

1 1 1
Eg=/ 9’(")«'t=/ t?dt=1/3 and E,-—:f (t —0.5)%dt = 1/12
0 [+] 1]

The error (t — 0.5) is orthogonal to (1) because

3}
/ (t—0.5)(1)dt =0
[s]

Note that Ey, = ?E; + E.. To explain these results in terms of vector concepts we observe from Fig. 2.15
that the error vector e is orthogonal to the component ¢X. Because of this orthogonality, the length-square of
g ienergy of g(1)] is equal to the sum of the square of the lengths of cx and e [surn of the energies of rr () and

e(n].
In this case E, = fol 2 (Ndt = fol 12dt = 1/3. and

« =

1 H
L redt .—_3/ tdt =15
Ey 0 [}

IA

Thus. 7(t) = 1.5g(¢). and the error e(t) = 2(1) — 1.59(t) = 1 - 1.5t over (0 < t < 1). and zero outside this

interval. Also E. (the energy of the error) is Ee = fol(l ~1.5t)2dt = 1/4.

(a) In this case Ez = [ sin®2rtdt =05, and

t 1

(b) Thus. g{t) = ~(1/7)7(t). and the error e(t) = t+ (1/x)sin 2nt over (0 <t < 1). and zero outside this
interval. Also E, and E. (the cnergy of the error) are

4
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2.5-5

2.5-6

1 1 1 1 1
Eg=/ 92(:)4zf.=/ t?dt=1/3 and E.=/ [t - (1/m)sin 2«n]’m=§--2—5
1] J0 1] n

The ervor |t + (1/)sin 27t} is orthogonal to (1) because
1
/ sin 27t{t + (1/7)sin 2nt]dt =0
0

Note that Eg = ¢2E, + E.. To explain these results in terms of vector concepts we observe from Fig. 2.15 that
the error vector e is orthogonal to the component cx. Because of this orthogonality, the length of f [energy of
g(1)] is equal to the sum of the square of the lengths of ¢x and e [sum of the energies of cx(t) and c(t)).

(a) If 7(t) and y(t) are orthogonal, then we can show the energy of x(t) £ y(t) is Ex + E,.

o

f " ety £ (0P dt = / Rt + j " WP deE f oyt / Sepmd (1)

= / je()) dt + / u(1)[? dt 2)
The last result follows from the fact that because of orthogonality, the two integrals of the cross products
#(t)y"(t) and 7* (t)u(t) are zero [see Eq. (2.40)]. Thus the energy of =(f) + u(t) is equal to that of =(t) — y(t) if
r(t) and y(1) are orthogonal.

(b) Using similar argument. we can show that the energy of air(t) + c2y(t) is equal to that of ryzx(t) — caylt) if
a(t) and y{t) are orthogonal. This energy is given by e |2Ex + jc212Ey.

(c) If z(t) = x(t) £ y(t). then it follows from Eq. (1) in the above derivation that

2= Ez + Ey £ (Ezy + Euz)

g:1(2.-1). g2(-1.2). g2(0. ~2). ga(1.2). gs(2.1), and ge(3,0). From Fig. 5§2.5-6. we sec that pairs (83.86)
(g:.84) and (g2.8s) a1e orthogonal. We can verify this also analytically.

Q

gig. §2.5-6

gr-gs=(0x3)+(-2x0)=0
81-84=(2x1)+(-1x2)=0
82~gs=(—1x'2)+('2x1)=0

We can show that the corresponding signal pairs are also orthogonal.

/"“ ga(t)gs(t) dt = / '[*,2(')}[311“)1’“ =0

~ -

‘/‘* g1(t)gs(trdt = f» [273(t) — ra(t)}[r1 (1) + 2r5(t)}dt =0

~

/ " s dt = / T =ma (1) + 253(][2n (1) + a(D)dt = 0

-~ -

[ ]
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In deriving these results, we used the fact that f:., 22dt = f_’; r3(t)dt = 1 and f_‘; i (t)za2(t)dt =0
2.6-1

We shall compute ¢, using Eq. (2.48) for each of the 4 cases. Let us first compute the energies of all the signals.

1
E: =/ sin?2rtdt = 0.5
0

In the same way we find Ey, = E,, = Egy = Eg, = 0.5.
Using Eq. (2.4R), the correlation coefficients for four cases are found as

1 1
1 . 3 . p p = » el ' ’= _1
(1) m./o sin 2ntsin dntdt =0 (2) m‘/o (sin 271)(—sin 2nt)d

1 0.8 1
i = in 2rtdt — | 0.707sin 2ntdt| = 1414
3) m /o 0.707sin 2mtdt =0 (4) ~rmbenms [ /o 0.707 sin 2ntdt /o R sin 27 ] /r

Signals (¢) and g2(t) provide the maximum protection against noise.
2.8-1 Here Ty = 2. so that wo = 27/2 =7, and

g(t) =ao0+ Za,. cosnnt + by sinnat -1<t<1
n=l
where
1 1 \n 1
1 2 1 2 2 - 4(‘1} - ?_ 2. -
no=§/:x1dt=-5. nn=§[licosnw!dr—w. l,.—2 -1t sinnwtdt =0
Therefore
1 4 o= (=D)"
g(f)==-§+;—2-z:l —— cosnt —1<t<1
n=

Figure S2.8-1 shows gif; = 12 for all t and the corresponding Fourier series representing q(t) over {=1.1).

9t) , P

1
£ - +
-1 | > -3 -2 - Z 3 4 5
Fig. S2.8-1
The power of g(t) is
P, = l/Al ttdt = 1
T2, 5

Moreover. from Parseval's theorem [Eq. (2.90)]
~ 2 a o ‘ n 2 it
2 C2_ (1N, 1 4-)n\"_1 .81 1 81
P!'—C°+Z_2-—(§)+22(ﬂ2n2 —9+1r‘2n4—9+90 3
1 n=i

(b) If the N-term Fourier series is denoted by (/). then

cosnwt -1<t<1
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For N =1. Pp =0.1111;: for N = 2. P = 0.19323. For N = 3. Px = 0.19837. which is greater than 0.198.
Thus. N = 3.

2.8-2 Here To = 27. so that wo = 27/27 = 1. and

(s )
g(r)=ao+Za,,cosnt+b,.sinnt ~m<tsTw
n=1
where
1 P o P L4 . 2 -1 n+l
a0 = — tdt =0, 0"=—2- tcosntdt =0, bn=’2_ ts’""tdtz-—(_.l—-
2r J_, 2 J_, r J_ . n
Therefore
o 1
1) = 2(-1)"" ~sinnt ~-x<t<
g(1) =2(-1) Zlnsmn x<t<w
n=

Figure S2.8-2 shows g(t) = t for all t and the corresponding Fourier series to represent g(t) over (—=, m).

FITS

-yl

Fig. S2.8-2
The power of glt] is
1 2 w2
P, = = ) dt = —
97 or *) 3

(b} If the N-term Fourier series is denoted by r(t). then
kg
i) = 2(=1)"*"') —~sinnnt —n <1<
T(t) = 2(-1) Z\ns-nn'r n<t<n
ns

The power P, is required to be 0.93 x 4?- = 0.372. Therefore

2

P, = =03x

[T
M=
AL

n=l

For N =1. P; =2 for N = 2. P, =25, for N =3, P: = 2.927, which is less than 0.372. For N =6, P =
2.9%25. which is greater than 0.37% Thus. N =6.

2.8-3 Recall that

1 To/2

g = — g(t)dt (1a)
To ~To/2
2 Ta/l2

Ay = = g(t) cos nwot dt (ib)
6 J_Ty/2
To/2

by = — g(1) sin nwot dt (1e}
To -To/2
7
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Recall also that cos nwot is an even function and sin nwot is an odd function of t. If g(t) is an even function of
t. then g(!)cos nwot is also an even function and g¢(t)sin nwot is an odd function of . Therefore (see hint)

2 To/2

o= — g(t) dt (2a)
To Jo
4 [To?

Ip = = q(f) cos nwot di (2b)
To Jo

b =0 (2¢)

Similarly. if g(t) is an odd function of t. then g(t) cos nwot is an odd function of t and g(t)sin nwot is an even
function of ¢. Therefore

A = 0n = 0 (33)
4 To/2

bn = = ¢(2) sin nwot dt (3b)
To Jo

Observe that. because of symmetry, the integration required to compute the coefficients need be performed over
only half the period.
2.8-4 (a) To=4. wo = % = 5. Because of even symmetry, all sine terms are zero.

g(t) =nao+ Z an COS (%1)

n=1

ao = 0 (by inspection)
4 ! nw 2 nw 4 kg
an == cos (—r) dt = | cos (——1) dt| = — sin —
A 2 \ 2 nr o2
Therefore. the Fourier series for g(t} is

q{t) = = | cos - — 7 €O e 4 2 CO0S—— — T COS e~

4( =t 1 s31tt 1 5t 1 nt )
* 2 3 2 5 2 7 2

Here b, = 0. and we allow Cp to take negative values. Figure §2.8-4a shows the plot of Cn.
(b) To = 107. wo = % = % Because of even symmetry. all the sine terms are zero.

g(t)y=ao+ Zn.. cos (%1) + hn sin (%f)

n=1

1
a0 =3 (by inspection)

a —Z- ﬂcos(nt) it = ! (5) (P-t)” —-?—Sill(ﬂ)
T om f_, 5) %7 sn\n SII\F Men  wn 5

w
Tor —"sin (%t) dt=0 (integrand is an odd function of t)

bp =
Here b, = 0. and we allow Cn to take negative values. Note that Cpn = an forn=0,1.2. 3, ... Figure 52.8-4b
shows the plot of Cn.

(¢) To=27. wo = 1.

~
g(t) = ao + Za,. cosnt + basinn?  with ap =05 (by inspection)

n=t

: 2 Y14

a.,.=l/ Lcosnfdf:O. hn=l/ -t—sinmdt=—-l—
7T Jo T 7 Jo 27 ™n

and

(l)—-05—l('inr+ls'1 21+1sin3r+lsin4r+-~)

gy =0o= 2 ® gSnel T AR T Y
—05+l[ (14-")4»1 os(2f+“)+lc0‘(3!+1)+~--]
=05+ feos{f+g) T3¢ 5) vzt

8
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Fig. S2.8-4

The reason for vanishing of the cosines terms is that when 0.5 (the d¢ component) is subtracted from g(t). the
remaining function has odd symmetry. Hence. the Fourier series would contain dc and sine terms only. Figure
$2.8-4¢ shows the plot of Crn and 6n.

(d) To= 7. wo =2and ¢{t) = it

ap=10 (by inspection).

a,=0 (n>0) because of odd symmetry.

n/4
bp = i/ -4-rsin2ntdt = -?— (—2—sinﬂl- —cosﬁ’-)
Tl ™ fn \7Tn 2 2

4 1 4 1

=4 snar s Lingt - ——si 1
gft) = sin 2t ﬂsm4 o sin 6¢ 27 sin 8¢ +
: : 1
=%cos(2l—%)+-}co&(4t—%) -+§:—5cos(6t+%)+;cos(81+-§)+-'~
9
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Figure S2.8-4d shows the plot of Cy, and #,.
(e) To = 3. wo = 21\’/3,

1
1 1

np = = tdt = —
° 3_/0‘ 6

2 ! 2nnw 3 27n  2rn 27n
== t —_—1dt = e+ S—sin=—— ~1
n 3/0 cos —o=tdt = s——[eos = + - sin =3~ - 1]
2 [} 2nir 3 2rn 2mn 2nn
by == sin “/—=1dt = —=—(sin ~—— ~ —
=3 ./o tsin — tdt 5Eng [sin 3 5 05 =3 ]
Therefore Cp = % and
3 / 4n2n2 2zn  4rnn 27n . v 5 con '3 —sin \)
C = - _ . =t -1 s 3 . ]
Al [\ 2+ ) 2cos = — "3 sin—~ J and #, = tan (cos 75 It e B2 — 1,

(f) To = 6. wo = /3. no = 0.5 (by inspection). Even symmetry; b, = 0.

3
4 'l)cosﬂdf
6/, ¥ 3

Op ==

2 ! na 2 nn
== T — 1) cos —¢ dt
3 [/o cos =3 «h+/1 (2 ~t)cos 3 td
_ ] [cos nt ‘2111r}
=7, (T %73

: .. 6 1r 2 o1 LT 1 =
glt) =08+ = oS —t — = COST! + == COS ==t = — €05 —1 + - -~

9 25 3 49 3

Observe that even harmonics vanish. The reason is that if the dc (0.5) is subtracted from ¢(f). the resufring
function has half-wave symmetry. (See Prob. 2.8-6). Figure $2.8-4f shows the plot of Cn.

2.8-5
An cven function g.¢t) and an odd function go{f) have the property that
g.,(!) = ge(—f) and Qo(’) = —go("')
Every signal g(t) can be expressed as a sum of even and odd components hecause

9(t) = § lalt) + g(-)]+ ig(*) - 9(-1)]

o’

Vo v
even odd

From the definitions in Eq. (1). it can be seen that the first component on the right-hand side is an even
function. while the second component is odd. This is readily seen from the fact that replacing ¢ by —1 in the
first component yields the same function. The same maneuver in the second component yields the negative of

that component.
To find the odd and the even components of g(t) = u(t). we have

g(t) = ge(t) + go(t)

where {from Eq. (1)]

N~

ge(t) = § {n(t) + u(-0)] = ;
and
go(t) = § [u(t) = n(=0)} = Zsgn()
The even and odd components of the signal u(t) are shown in Fig. 52.8-5a.
Similarly. to find the odd and the even components of ¢(t) = e~ % u(t), we have
g(1) = 9¢(1) + go(t)

where
ge(t) = % [F_”u(') + r“u(—!)]
and

10
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2.8-6

05] DelV EX)

(2

0.5 Q‘l*) 05 L 2]
0O &>
) -85
Fig. 52.8-5

9.(t) = % [P—"n(t) - c“u(—t)]
The even and odd components of the signal ™ %4 (t) are shown in Fig. $2.8-5b.
For g(t) = ¢''. we have
= ge(t) + go(t)
where

[+ 3] = cos t

Wi~

ge(1) =

and

golt) = § [e’* - e"#] = jsin t

(a) For half wave symmetry

a(t) = —¢ (f = %)

and
To
g(t) cos nwot dt +/ g(?) cos nwot dt
To/2

9 [T g [To/2
n =z t tdt = —
and “ To‘/o g{t)cosnwo T /;

Lot » = t — To/2 in the second integral. This gives

r r70/2 To/2.
/ g(t) cos nwot dt + / g (.1.‘ + 22-9) €08 Nwo (:r + -1;3) d:t]
L' 0 -

r rTo/2 To/2
L./ g(t) cosnwot dt + / —g(z)|- cosnwox] d.r]
0 0

.

4 To/2
= — / g(t) cos niwot dt
To { Jo

In a similar way we can show that

sl

n

S|

4 To/2
be = —/ g(t)sin nwot dt
To /o
(b) (i) To=8. wo=F.00=0 (by inspection). Half wave symmetry. Hence

11
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an =13 ) g(t) cos -t dt =1 2tcosmrrdt
"8 1/o 4 T2 2 4
4 nr nw . nw
= (cos 2 +Tsm-? —l) (n odd)
4 nT . nw
=33 (—2- sm? - ]) {n odd)
Therefore
Sz (F-1) n=15913
an =
. l ~=ir (F+1) n=371115
Similarly
2
1 t . n7w 4 . nm  nxw nn 4 (nw)
== L ein 2t = ns_ =z 2ZZ) = —_— dd
bn 2/0 st = o (S'" 7 ~ 73 2) aen () (nedd)
and
g(t) = Z a,.cos——'+b,\sm%—l
n=1,3.5.

(i) To=27. wo = 1. a0 = 0 (hy inspection). Half wave symmetry. Hence

e 9

g(t) = Z ancosnt + by sinnt
n=13,5.

np = 3/ /10 cos nt dt
T Jo
2 (,—t/lO L d
= o | —e—— (). 3 t d
- [n’+0.01( 0]cosn'+nsmn)]0 (n odd)
9 r—n/lO 1
== . -0.1
% [n3+0.01(01) 001 )
2
- 2 (c_"“o -1 = 0.0465

107(n? 4+ 0.01) n? + 0.0l

and

2 [ °
b,,=3-/ e~ 0ginntdt
T Jo
k.4

2 ot/
== [m(—o.lsinnt — ncosnt) (n odd)

0
oy 1.461n
(n2+0.01) n? +-0.01

2.9-1 (a): To=4.wo=7/2. Also Do = 0 {by inspection).

1 X1
Dy = 1 P R L T eI gy = 2 sin 2~ n{ > 1
2n N r - 2

(b) To = 107. wo = 27/10m = 1/5

L

N
3 1 - . nm 1 . (n7
q(t) = Z Dac?!3', where D, = or PRERAR T -2-:'—- (—2_/ sin -5—) = — sin (—5-)

n=—-

12
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3
Ey——y §
. =
- ] -Ir | m
g 3 | ™3 .gg'
Fig. S2.9-1
(c) N
g(1) = Do + z Dne'™.  where. by inspection Do =05
n=-—"x f
= j ] 3 n>0
1 1 _mt - _J__ = d 4D, =
Dn:ﬁ/o a;("’ dt—21m‘ so that |Dnl e an {:,: <o
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(e) To=3.wo = 27"

r=o

ad ) 1 ) 3 o 2e .
g{t) = E D. o/ %, where n.—.-%/ te- I gt = [(- i (32"" +1) _1]
0

Therelore

ann 2rn

3 4n2n? 21n cos 2xn oy 27T
Dal = g ,/H_«__"__zcosz:m_m,i,,&m and 2Dy = tan~! |~
4nin 9 3 3 3 cos 452 + LAsin F -~ 1

(1) To=6.w0= /3 Do=0.5

o(t) =05+ Doe™ ¥

ns -~ o

P
il

-1 xnt 1 nnt 3 yent
: U (t+2)e dt+/ o az+/ (—t 4 2)e~F dv] = s (cos T - 21’-‘)
-2 -1 1

0s
min? 3 3

3 Cn
2
1 1 T o
o\ 1 5 8 N -3 n->
C))
ar {®n
T o)
3
Fig. §2.9-2
2.9-2
. T T
g(t) = 3cost + sin (5! - 3) - 2cos (81 - -5)
For a compact trigonometric form. all terms must have cosine form and amplitudes must be positive. For this
reason. we rewrite g(f) as

L]

g(t) = 3cost + cos (51— % - E) +2cos(8t - -;- —w)
= 3cost + cos (St— 231) + 2cos (8!— %’I-)

Figure $2.9-2a shows amplitude and phase spectra.

(b) By inspection of the trigonometric spectra in Fig. S2.9-2a, we plot the exponential spectra
§2.9-2b. By inspection of exponential spectr

as shown in Fig.
a in Fig. 52.9-2a, we obtain

p—

JEICEY 3] +,,--j(sz-3,=)] + [,,j(s:—% +(,—j(az—5§'-)]

4 (r'j‘-"') o8 4 %n“" + (%r"f) eI g (ej"’") PRt

il
oW
=
+
—
94—
-
1
<
3
£
~—— 12—
RS

14
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2.9-3 (a)

o(t) = 2 + 2cos(2t — 7) + cos(3t — g)
= 2 — 2cos 2t + sin 3¢t

(b) The exponential spectra are shown in Fig. $2.9-3.
(c) By inspection of exponential spectra

g(t) = 2+ [o0D 4 I @] 4 1 [ g O]

=2+2cos(2t—1r)+cos(3t— %)

(d) Observe that the two expressions (trigonometric and exponential Fourier series) are equivalent.

g T4 £0n

: + 8 4
= =3 11; -
_x-r ’

Fig. 52.9-3

2.9-4

1 To/2 To/2
= [/ f(t) cos nwot dt — j/ f(t)sin n.uotdt]

=
To |J 702 ~Tos2

If git) is even. the second term on the right-hand side is zero because its integrand is an odd function of t.
Hence. D, is real. In contrast. if g{1) is odd. the first term on the right-hand side is zero because its integrand
is an odd function of . Hence. D is imaginary.
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Chapter 3

/

3.1-1

3.1-2

G(w) = /'*- (e dt = /m g(t) coswit dt —j/ g(t)sinwtdt

—-— -

If g() is an even function of . g(t)sinwt is an odd function of t, and the second integral vanishes. Moreover,
g(t) coswt is an even function of t. and the first integral is twice the integral over the interval 0 to oc. Thus
when g(?) is even

Glw) = 2/ g(t) coswt dt (1)
0

Similar argument shows that when g(t) is odd

Glw)=-2j /mg(t)sinut dt (2)
)

If g(t) is also real (in addition to being even), the integral (1) is real. Moreover from (1)

G(-w)= 2/ g(t) coswt dt = G(w)
0

Heuce G.«) is real and even function of w. Similar arguments can be used to prove the rest of the properties.

~ A
q{t) = .9_1".‘/ G(..:)n-"" dw = E’l-;/ I(;(_‘,)!,.Jﬂy(-')‘,.‘uz do
- - R

=5‘;U Gl cost + Byt + [ lcunsin{mwg(w)lda]

Since IG(w)} is an cven function and 6,(w) is an odd function of w. the integrand in the second integral is an
odd function of «. and therefore vanishes. Moreover the integrand in the first integral is an even function of w.
and therefore

g{t) = -::‘/ |G (w)| coslwt + 0y(w)] dw
" Jo

For g(1) = r~**u(t), G(w) = gkz. Therefore IG(w)} = 1/V&T +a* and f,(w) = - tan~!(%). Hence

e L[ - (3))]
e = - cos |wl — tan = dw
T Jo we <+ a° a

G(w) = / ¥ et dt

~

Therefore

and

www.free4vn.org

G'(w):/ g ()™ dt

-~

G (-w) = / g~ (e~ dt

-

16

oldroad



3.1-4 (a)
T T -(jw+a)T
Gw) = / et it gy = [ UMM dr = _1_:._"__(.]:.—“—
[\) 0 W “+a

(b)

i T -(jw=—a)T
G(u.l) = / r.at‘,-;ut dt = / n-(j“"_‘) dt = 1 _? Jjw—a
o Jo jw-a

3.1-5 (a)

1 2 - —gw -~ j 2w
Gw)= / 47 dt + / 207 dt = -2 - 2
o 1 Jw

(b)

° v Tt 2
Gw)= [ -<c™dr+ [ —e ' dt = —lcoswT +wrsinwT - 1)
T o T Tw?

-

This result could also be derived by observing that g(t) is an even function. Therefore from the result in Prob.

3.1-1
2 [7 2
Giw) = —/ tcoswtdt = —;[cosu‘r+w‘rsinw‘r—l}
T Jo Tw
3.1-6 (a)
R AP N it g X PP “° (wdr® = 2)sinwot + 2wot cOS o
g(t) = 5m uuou. Y de = E; W ~tf —2jwt + 2 ” = vy
G )
2 G (w) Gy (W)
| L 1 ~ 3
el -1 v 2 -2 o 2 -\ ¢ ¢

Fig. $3.1-6

(b) The derivation can be simplified by observing that G(w)-can be expressed as a sum of two gate functions
G1{w) and G2(w) as shown in Fig. $3.1-6. Therefore

2 2 . . .
- (N gy = wt g jut , | _ sin 2t +sint
s = 2 [ 1610+ Gatalle o= {/2 we [ o ¢.,} o Hndteint

3.1-7 (a)

1 =x/2
g(t) = — cosw e dw
27 /2
Fjul

= 2x(1 = t7)

= sem (7)

{jtcosw + sin;.z}’_',’:/2

(b)
1 wo ) 1 g wo
g(t) = -5:/ Gl dw = 5 [/ G(w) coswtdw +j/ G(w) sinwfdw]
e —wo i

—wQ —wo

Because G(w) is even function. the second integral on the right-hand side vanishes. Also the integrand of the
first term is an even function. Therefore

17
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1 [ w tw + twsin bw 140
q(t) = = —costwdw = -1_. [SOS;_N__?':’_____}
7 Jo wo wwo t [+

{coswot + wotsinwot — 1}

Twot?
3.1-8 (a)
(0) = = T pmitogit gy = L 0 wit=to) g,
9 211’ —wo > = 2’:, -
= m#“('"“) = .._..__-S":r“::g ;o)tO) = %sinc[wo(t — to))
(b)
( ! ’ jwt o CJ d ]
g{t) = =— ,"Ui+ et
) 2#[‘/;‘07" W ,/o J w
_ _1__ jor|® _ L ~0 1~ coswol
=" oo rridill Ml
4 rect(;‘_)
-t ¢ | t-o =z
G
. ’ t £
j sine ( “_2.:5!.5-”) | 1 stnc.(g)rzct(wr)
ST & £
ST ol g2l w —s7 | 57 t-
Fig. §3.2-1

3.2-1 Figure $3.2-1 shows the plots of various functions. The function in part (a) is a gate function centered at the

origin and of width 2. The function in part (b) can be expressed as & (‘1'571) This is a triangle pulse centered

at the origin and of width 100/3. The function in part (c) is a gate function rect( %) delayed by 10. In other
words it is a gate pulse centered at ¢ = 10 and of width 8. The function in part (d) is a sinc pulse centered
at the origin and the first zero occurring at % = 7, that is at w = 5. The function in part (e) is a sinc pulse
sinc(¥) delayed by 10x. For the sinc pulse sinc(%), the first zero occurs at ¢ =n thatisatw= 5r. Therefore

the function is a sinc pulse centered at w = 107 and its zeros spaced at intervals of 57 as shown in the fig.

§3.2-1e. The function in part (f) is a product of a gate pulse (centered at the origin) of width 107 and a sinc
This results in the sinc pulse truncated

pulse (also centered at the origin) with zeros spaced at intervals of 5m.
beyond the interval 37 (|t| 2 5n) as shown in Fig. f.
3.2-2 The function rect (f — 5) is centered at t = 5, has a width o

5.3 1
f r—;w! dt = ——_-(‘-"J‘
45 it

—iSw . —-j% .
—[,,Jul/2 - (‘Ju/ﬂl - F_._._ [2Jsin :’.]
jw &

f unity. and its value over this interval is unity. Hence

5.5
- _1_[(,-,‘4.54 — om335)
Jw

G(u-)
4.3

® Jw i 2
i 3
: = sinc (:;-) PR

-

18
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3.2-3

10+ ; 104+
g = _}— i A dw = o = 1 [ej(m*'”)‘ - c’(m—')']
[ 27 Jio-w 27 (jw) - j2rw
.,,;10: 10t
= = |2; sin =t} = sine(xt)e’
J

3.2-4 Observe that 1 + sgn(t) = 2u(t). Adding pairs 7 and 12 in Table 3.1 and then dividing by 2 yields the desired

result.
3.2-5 Observe that

cos (wo! + #) = % [e"““’"”” 4 e ileot+0)]

= L0 w0t | 1 50 —jwnt
0 g e

~

Fourier transform of the above equation yields the desired result.
3.3-1 (a)
u(t) <= né(w) + —l—
Jw

a(d) Glo)

Application of duality property yields
ah(t) + —}- = 2nu(-w)
it e st
) 2ng(-w)
or

AT
JR——
>
=
~
=
+

,|‘_‘
| SE—— )
=
]

(3
-

Application of Eq. (3.28) vields

But A(7 is an even function. that is #(~#) = #(t). and

1 L ,
5!6(') + .ﬂ—ll & u(u.)
(b)

cos wot = 7|d(w + wo) + Alw — wo)
o ~ o

o(t) G(w)

Application of duality property yields

n[8(t + wo) + 8(t - uﬂ o 2r cos(—wgﬂ = 27 cos (wow)

CR:) ﬂrg?-..:)
Setting wo = T yields
st +T)+08(t—~T) < 2cos Tw
(c)

sin wot <= j7[é(w + wo — b(w ~— we))
Jn[Aw + wo) )}

o(t) Glw)

Application of duality property yields

Jrla(t + wo) = b(t - wn)] <= 27 sin(—wow) = —-27 sin(wow)

G‘(t) 2wg(v-- w)

Setting wo = I yields
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bt +T) - b(t = T) <= 2jsin Tw
3.3-2 Fig- (b) 91(') = g(—f) and
Gi(w) =G(-w) = .1.2.[,-‘1"‘ + jwe ™ = 1]
w
Fig- (c) g2(f) = g(t — 1) + g1(t = 1). Therefore

Gal(w) = [G(w) + G1(W))e ™7 = [G(w) + G(-w)e ™™

—-jw

w2

(cosw + wsinw — 1)
Fig. (d) ga{t) = glt - 1)+ @u(1 + 1)
Ga(w) = Gw)e ™™ + G(-w)e™
= :1-2—[2 - 2cosw) = -sisinzg = sinc’ (%)

Fig. (e) g4(t) = g(t = §) + q1(t + }). and

Gi(w) = Glw)e™ ™% + G (w)e™/?

e Awi2 . w/2 . .
= e - Jwel® — 1) 4 ——je 7MY + jur el
' w
1, W w
= —=2wsin =] = sinc (—)
w2t 2] 2

Fig. (f) gs(t) can be obtained in three steps: (i) time-expanding g(t} by a factor 2 {ii) then delaying it by 2
seconds. (iii) and multiplying it by 1.5 [we may interchange the sequence for steps (i) and (ii)}. The first step
(time-expansion by a factor 2) yields

t PR SIPSrT WP - W R
f (2) = 2G(2w) = 753 (e j2we 1)

Second step of time delay of 2 secs. yields
t-2 1 . 2 - 2w 1 . g2
f (—;—-) = -2?(#2" — 2w - 1) = F{'l -2 -0

The third step of multiplying the resulting signal by 1.5 vields

t—2 3 -12w
(y=1.5 (——)@—-—1-‘2‘;#1
95‘) ! 2 4‘]2( J )
TN
’ ~ -
‘. ”
’ /
’ ’

A ,’
Pl ,\"
s\inC uie (lﬂ ) n(t-T) LWie-1d

Fig. §3.3-3

3.3-3 (a)
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;md

Glw) = Teine (4 ) [T/% - 2T/

(b) From Fig. $3.3-3b we verify that
a(t) = sintu(t) -+ sin{t — m)u(t - )

Note that sin(t — 7)u(t ~ «) is sin t u(t) delayed by 7. Now. sintu(t) &= -2'-';[6(“) - 1) =b(w+1))+ g~ and

. ™ . 1 —-jTw
sin{t — #)u(t - 1) = {5;[6(..) -1 -bw+1)]+ T }e
Therefore
1

1-w

G(w’):{%[b(d—])—b(u-{- 1)]+ }(1+C—J”U)

Recall that g(r)8(r ~ 7o) = ¢(70)A(7 — 70). Therefore 4(w 1)(1+ ¢7?"™) = 0. and

1
1—w?

Glu)= (L+e72")

(c) From Fig. $3.3-3¢c we verify that

e

g(t) = cost [u(f) - (f - %)] = costu(t) — costu (t - _12r_

But sin(t — §) = —cost. Therefore

glt) = costu(t) +sin (' - %) u (f - E)

jw - 1 —gme 2
-{-..;2 +{§7(h(.u'—l)—6(..;+l)]+ l—wz}(’ g

Glu) = Zbw =1 + 4w+ D]+ 5

Also hecause ¢(r)8(r ~ ro) = glro)t(r — ro).

Mux e ™ = bwt Nt = 2jo(u k1)

Therefore

Jjw o ITw/2

= - jRw /2
- w? + 1-uw? 1 l

1 .
G(w) = 7 _d2[1d+0

(d)

gty =" hu(t) —u(t - T)} = e~ Mult) —e" Mu(@ - T)
=¢"%n(t) - emTemo=Tlhy(t - T)

1 —aT 3 1
Glw) = —— - ST = [1 = e~(e+aIT)
jw+tao jwta jw+a

3.3-4 From time-shifting property
o(t £ T) == Gw)e* T
Therefore
ot +T) +q(t = T) = Glw)e™T + Gw)er T = 2G(w) cos T
Ve can use this result to derive transforms of signals in Fig. P3.3-4.
(a) Here g(#) is a gate pulse as shown in Fig. S3.3-4a.
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g(t) = rect (-;») <= 2sinc(w)
Also T = 3. The signal in Fig. P3.3-4a is g(t + 3) + g{t - 3), and

g(t + 3) + g(t — 3) &= 4sinc(w) cos 3w
(b) Here g(#) is a triangular pulse shown in Fig. $3.3-4b. From the Table 3.1 {pair 19)

g{t)=A4A (é) <= sinc? (%)
Also T = 3. The signal in Fig. P3.3-4bis g(t + 3} + g(t — 3), and

g(t +3)+g(t — 3) &= 2 sinc? (g) cos Jw

a) 4 gued
1
1 1 (a) /I\ SR

-1 ¢« - - | I ¢+ -

Fig. $3.3-4

3.3-5 Frequency-shifting property states that
_(;(r)r'*"“Jot & Glw T wo)
Therefore
Y si 1 t g dwot - Jwgt 1 : . 3
g{?)sin wot = -27;g\l)r + g()e = 2—j[G(u—«.‘o)-rG(.u — wo)}

Time-shifting property states that
G(1 £ T) <= G()e*T
Therefore
ot = T) = g(t = T) &= Gw)eT = Gu)e™™7T = 2jG(w)sinoT

and
%’r{g(i +T)-g(t-T)) & G(w)sinTw
The signal in Fig. P3.3-5 is g(* + 3) — g(t — 3) where
g(t) = rect (%) &= 2sinc(w)
Therefore
g(t + 3) — g(t = 3) &= 2j[2sinc(w)sin 3w] = 47 sinc(w) sin 3w

3.3-6 Fig. (a) The signal g(?) in this case is a triangle pulse A(-z’;) (Fig. 83.3-6) multiplied by cos 10¢t.
(t)=4 (-E-) cos 107
b= 2n

Also from Table 3.1 (pair 19) A(g) <= 7 sincz(-"sj‘-’) From the modulation property (3.35), it follows that

g(t)=4A (%—) cos 101 &> -’2: {sinc"" [_”_(i.;_l?).] + sinc? [m-;—lﬁl]}

Tl’

The Fourier transform in this case is a real function and we need only the amplitude spectrum in this case as
shown in Fig. §3.3-6a.

Fig. (b) The signal g(t) here is the same as the signal in Fig. (a) delayed by 2. From time shifting property.
its Fourier transform is the same as in part (a) multiplied by ¢~9+(3%) Therefore
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3.3-7

Fig. S3.3-6

Gl = I {sinc2 [—————W(d — 10)] + sinc? [f-(“‘—'——--‘L ]0)] } pd2me
2 9

2 2
The Fourier transform in this case is the same as that in part (a) multiplied by ¢~427<  This multiplying factor
represents a linear phase spectium —27w. Thus we have an amplitude spectrum {same as in part (a)] as well as
a linear phase spectrum :G(«) = —27w as shown in Fig. $3.3-6b. the amplitude spectrum in this case as shovn
in Fig. $3.3-6h.

Note: In the above solution. we first multiplied the triangle pulse A(;’;) by cos 10t and then delayed the result
by 27. This means the signal in Fig. (b) is exprersed as A(‘-“%)cos 10(t - 27).

e could have interchanged the operation in this particular case. that is. the triangle pulse A(Q-‘—*) is first delayed
by 27 and then the resuls is multiplied by cos 10t. In this alternate procedure. the signal in Fig. (b} is expressed
as A(L52%) cos 101

This interchange of operation is permissible here only because the sinusoid cos 10t exccutes integral number of
cvcles in the interval 27, Because of this both the expressions are equivalent since cos 10(t — 27) = cos 1Gr.
Fig. (c) In this case the signal is identical to that in Fig. b. except that the basic pulse is rect (2—‘”) instead of
a triangle pulse A{z). Now

rect (Et;) <= 27 sinc{rw)
Using the same argument as for part (b). we obtain

-j2nw

G(w) = n{sinc[x(w + 10)} + sinc[x(w — 10)]}e

(a)
G(w) = rect (w ; 4) + rect (f_;ﬂ)

Also

1 (e

;_-smc(t) &= rect (2)
Therefore

g(t) = %sinc(t)costtt
(b)

Clw=24 (“’_:;i) + A (.“)_;-_i)

Also
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3.3-8

3.3-9

3.3-10

%sinc’(t) = A (

> E

)

Therefore

g(t) = %sinc’(f)cosd,t

From the frequency convolution property, we obtain
2 1
g(t) &= E;G(u) * G(w)

The width property of convolution states that if ¢1(z) » c2(x) = y(z), then the width of y(z) is equal to the
sum of the widths of r1(7) and r2(r). Hence, the width of G(w) = G(w) is twice the width of G(w). Repeated
application of this argument shows that the bandwidth of ¢™(t) is nB Hz (n times the bandwidth of g(1}).

(a)
o T p .
Gw) = / PTGt — / eIt dt = —-,2—[1 - cos wT} = "—4—sin2 (“—)-1—.)
o jw ) 2

-T
(b)
g(t) = rect (27_1/2) — rect (t —;/2)
rect (i) <=> Tsinc (-“i)
T 2
txT/2 o AT ts0rn
rect( T ) e—_—>Tsmc( 3 )e
and
G(w) = Tsinc (:éZ) [(eT/2 = o seT12)
= 2,T'sinc (%) sm-"’-}
= Lan ()
(c)

% = 8(t+T) - 26(t) + 4(t = T)

The Fourier transform of this equation yields
jwGw) =T =2+ 79T = _2[1 - cos wT) = —4sin’ (%Z)

Therefore
G(w) = %sinz (-‘g—)
A basic demodulator is shown in Fig. $3.3-10a. The product of the modulated signal g(t) coswot with 2 coswot
yields
g(1) cos wat x 2coswot = 2g(t) cos® wot = g(1)[1 + cos 2uwot] = g(t) + g(t) cos 2.0t

The product contains the desired g(f) (whose spectrum is centered at w = 0) and the unwanted signal g{t) cos 2ucot
with spectrum 3{G(w+2wo]+G (w - 2.0l. which is centered at +2wo. The two spectra are nonoverlapping because
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3.4-1

3.5-1

www.free4vn.org

+Veaos ot t
gut)eess, [LowPass gLed
Fiiter
n)2Cos cq,t
Fig. S3.3-10
G o D)
G, (D *
-zo'm'l'ﬂ a000v / - ‘ WJ—=
4 4
‘H] (e 'ﬂ,_(a])
TRgeT T agme w2 a7
; 4
2 e,m);;,m') G (@D
.aa,nv"rr i z,rmT w-> - 10l w (TR0
Fig. §3.4-1

W < -0 (See Fig. $3.3-10b). We can suppress the unwanted signal by passing the product through a lowpass
filler as shown in Fig. $3.3-10a.

G1(«) = sinc(zgks ) and Gz{w) =1
Figure $3.4-1 shows G1(). G2(«). Hi(~) and Ha(w). Now

Yi(w) = G (w)Hi(w)
Ya{w) = Ga(w)Ha(w)

The spectra Yi(w) and Y2(w) are also shown in Fig. $3.4-1. Because y(t) = 11 (t)ya(t), the frequency convolution
property yields ¥(w) =1 (w) * Ya(w). From the width property of convolution, it follows that the bandwidth of
Y (») is the sum of bandwidths of ¥1(w) and Ya(w). Because the bandwidths of Y)(w) and Yz(w) are 10 kHz. 5
kHz. respectively. the bandwidth of Y (w) is 15 kHz.

H(u}) = c—kw:(’—jwto

Using pair 22 (Table 3.1) and time-shifting property, we get

L(t) = R G

Viénk

This is noncausal. Hence the filter is unrealizable. Also

~ N L 2
/ IlnIH(w)”d‘d=/ " = oo
2?‘

22 :
o Wil w

<)
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Figure S3.5-1

Hence the filter is noncausal and therefore unrealizable. Since h(t) is a Gaussian function delayed by to. it looks

as shown in the adjacent figure. Choosing to = 3V 2k, h(0) = «~45 = 0.011 or 1.1% of its peak value. Hence
to = 3v/2k is a reasonable choice to make the filter approximately realizable.

3.5-2
2 x 105 --jwtg

w? + 1010
From pair 3. Table 3.1 and time-shifting property, we get

Hw) =
ht) = a’msl'““’l
The impulse response is noncausal. and the filter is unrealizable.

h{(©

& t -
Figure $3.5-2

The exponential delays to 1.8% at 4 times constants. Hence to = 4/a =4 x 10~% = 40us is a reasonable choice
10 make this filter approximately realizable.

3.5-3 From the results in Example 3.16

Ho) = — =
|H("J)|— o +ni a= RC

= 10°
Also H(0) = 1. Hence if wy is the frequency where the amplitude response drops to 0.95. then

|H(.,.) )| = .___196—-—-
' Vi + 1032

Moreover. the time delay is given by (see Example 3.16)

= 0.95 => w) = 328.684

== 14(0) = i— =10"°

a
)= e

If w2 is the frequency where the time delay drops to 0.98% of its value at w = 0. then

108 -6 -
ta(ws) = m = 0.98 x 107° = wp = 142,857
We select the smaller of w; and w2. that is w = 142,857, where both the specifications are satisfied. This yields
a frequency of 22,736.4 Hz.
3.5-4 There is a typo in this example. The time delay tolerance should be 4% instead of 1%.

The band of Aw = 2000 centered at w = 10° represents the frequency range from 0.99 x 10° to 1.01 x 10°. Let
us consider the gains and the time delays at the band edges. From Example 3.16

| = __..———-a = _—ﬂ—_ = 3
|H(w)) = Tt ta(w) T ot a=10
At the edges of the band
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. LI _ -3 LI g3 = -3
{H(0.99 x 10 );_m%m_unxxo , and |H(1.01x10 )|_m 9.901 x 10

The gain variation over the band is only 1.99%. Similarly, we find the time delays at the band edges as

3 s ! - 1
14099 x 10%) = GrpriyrerE = g and t(101x107)= TR = (N

The time delay variation over the band is 4%. Hence, the transmission may be considered distortionless. The
signal is transmitted with a gain and time delay at the center of the band, that is at w = 10%. We also find
{H(10%) = 0.01 and 14(10%) = 1—-7. Hence, if g(t) is the input. the corresponding output is

y(t) = 0.01g(t - 1077)

3ct)

t-»
Bat-t-T)

J al-"' Ut~tyrTD

Fig. §3.6-1

3.6-1
¥i(w) = G(w) rect (——

w

-

o ) . Jlwto+ksnwT)

x~ G(w) rect (4:3) [t = jksin WT)e 7!

This follows from the fact that ¢ = 1+ when » € 1. Moreover, G{w)rect (ﬁ) = G(w) hecause G{w) is
bandlimited to B Hz. Hence

Y(2) = Gw)e 7 - jkG(w)sin Iy
\oreover. we can show that (see Prob. 3.3-5)
5‘719(: +7T) - g(t = T)] &= G{«)sinwT
Hence

y(1) = glt = to) + Slo(t - to = T) = (t = to+ )

Figure $3.6-1 shows g(t) and y(t).

3.6-2 Recall that the transfer function of an ideal time delay of T seconds is =T Hence. the trausfer function of
the equalizer in Fig. P36-2is
Heq(w) = 0g + al(,-—juAt + aan—j".’wAt +ot anc—jn«:At

Ideally. we require the equalizer to have

[}{Cq("))]desircd = 1+ ﬁ,,--,,-uA!

=1=-ac ™8 4 alem 130t e IWA 4
The cqualizer in Fig. P3.6-2 approximates this expression if we select ag = l.ay = —a. 02 = o - an =
(~1)"a™.
27

www.free4vn.org
oldroad



3.7-1

E, = 2 = 3 &/ dt
g ./—m_q (Hat T2 _/:,,.,F

Letting £ = v and consequently dt = Sxdx

E——l—-—”—m"znd—\/zﬂ— 1
R s T Eme VT

Also from pair 22 (Table 3.1)

G(U) —a w /2
1 )

1 —e3?
E,=-2-;/ |G(w)}2du=§; e dw

Letting muw = 35 and consequently dw = :{75(11:

1 1 —x2/2 virn 1
E, = =— w—— ] P — =
T PN ,/_,,,P ar a2 2

4

3.7-2 Consider a signal

g(t) = sinc(kt) and G(w)= {-rect (-2:’(-)

~ e ¥ 2 2
- kY dt = - il w
Eg = /—msmc (kf)dt = 7 <] [rect(zk)] dw

3.7-3 Recall that

~

.qz(t)=-2’; / Ga(w)r’** dw and / ()’ dt = Gi(~w)

-

Therefore

/ q1(t)ga(t)dt = ‘-/ a(t) [/ Ga(w)e’™" d,.)] dt
- £ / Galw) [ / (e dt] doo = 5= / G1(~w)Galw) dw
Interchanging the roles of g1(t) and g2(t) in the above development, we can show that

'/‘ g1 (t)ga(t)dt = 51;/ G1(w)Ga(—w)dw

3.7-4 In the generalized Parseval's theorem in Prob. 3.7-3. if we identify g1(t) = sinc(2nBt — mn) and g2(t) =

sinc (27 Bt — n7), then

I ) l M
Giw) = -2—151"&:! (IEE) B, and Galw)= —rect (Z-:iﬁ) s

Therefore

~ 1 1 ~ w 2 ynemiw
/. gi()g2(t)di = -2-:(-2'5)‘;?/_m [rect (413)] ‘ e

~

But rect (g2g) =1 for jwi < 97 B. and is 0 otherwise. Hence
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2B

puﬁﬁdw_—_{o ﬂ#"l
515 n=1m

In evaluating the integral. we used the fact that e*i2"k = | when k is an integer.

- 1
/ g1{t)ga(t) dt = =5

- -2nB

3.7-5 Application of duality property [Eq. (3.24)] to pair 3 (Table 3.1) yields

-t-z—iq-a-? == '21((!_1'“4

The signal energy is given by

E,= l/ (270 do = 41r/ e gy = il
mJo )

a
The energy contained within the band (0 to W ) is
w 2n
Ew= 41r/ 03 = =1 - e~V
o a

If Ew = 0.9953. then

2.3025 r 0.366

PV =001 = W= ad/s = e Hz

a

3.7-6 If g2(t) = 4(w). then the output Y{x) = A(w)H (). where H(w) is the lowpass filter transfer function (Fig.

$3.7-6). Because this filter band Af — 0. we may express it as an impuise function of area 47Af. Thus.
H(v) = [4rAf]d(w) and Y(w)= [4nA(w)Af]b(w) = [4mA(0)Afib(w)
Here we used the property g(7)8(r) = g(0)4(r) {Eq. (1.23a)]. This yields
y(t) = 2A(0)Af

Next. because ¢°(t) <= A(w). we have

AlWw) = ‘/‘1 g?(1)e™ 7' dt sothat A(0) =/ g°(t)dt = Eg

-y

Hence. (1) = 2E,Af.

i R0
~ (9D
- 4TAf 9
| i 4 -»

Fig. S3.7-6

3.8-1 Let g(t) = g (f) + g2(t). Then

1 T/2
Ry(r) = Tlim —/ [91(2) + g2(t)jigs (t + 7) + g2t + 1)} dt
e -T2
= Ry, (7) + Rop{7) + Ra1g2(7) + Ryag (m)

where

L [T
‘Rzy(‘r)=1!im -T—/ r(Oy(t +7)dt

iiad T/2
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If we let g1(t) = Cacos(unt + 61) and ga(t) = Cacos(wat + #2). then

T/2
'R.yxy:(f) = #Enm % / C1C2 cos{unt + ) cos(wat + w27 + fa) dt
-T/2

According to the argument used in Example 2.2b. the integral on the right-hand side is zero. Hence. Ry, o (7) = 0.
Using the same argument. we have Rya9: (1) = 0. Therefore

2 2
Ry(r) = R (7) + Rgu(7) = % coswT + %— cosw2T

This result can be extended to a sum of any number of sinusoids as long as the frequency of each sinusoid is
distinct. hence, if

~ Rt 2
g(t) = z C'y cos(nwot + ) then Ry(r) = z 923 cosnwoT

n=1 nasl

Moreover. for go{t) = Co, Rg(T) = 3, and

T/2
Rgoa, (T) = }Eﬂm l’ / CoCh cos(wit +unt + 6y)dt=0
-T/2

Thus. we can generalize the result as follows. If

-~ et 2
4(t) = Co+ Z Cn cos(nwot + 6n) then Ry(r) = ct+ Z -%'— COS NwoT
n=]}

n=]
and N
Y = 240, s 200/ s »
Sylw) = 21C3b() + 3 3 Chip(w - nuwo) + 8w + nwo))

=l

3.8-2 Figure 53.8-2a shows the waveforms r(t) and z(1 — 1) for 7 < To/2. Let T = NT,. On the average. there are
N/2 pulses in the waveform of duration T. The area under the product x(t)z{t — 7) is N/2 times (Z} —T)as
shown in Fig. $3.8-2b. Therefore

y [T2
R:(T) Th_r‘nm -f/‘r/z:(t)fr(r - T)dt

D1 S S T B g
,3‘1“11\'?,2(2 ’)"2 s R) T2

For 1} < {r} € Tp. there is no overlap between pulses. and Re(r)=0.ForTh < |7l < -"-? pulses again overlap.
But on the average. only half pulses overlap. Hence, R;(7) repeats every T, seconds, but only with half the
magnitude. as shown in Fig. §3.8-2c. We can express R(7) as a sum of two components. as shown in Fig.
§3.8-2d. Thus. Rz(T) = Ru(7) + Ra(r). The PSD is the sum of the Fourier transforms of Rs(r) and Ra(T).

Hence

oy

; ) + S2(w)

where Sa2(w) is the Fourier transform of the periodic triangle function, shown in Fig. S3.8-2d. We find the
exponential Fourier series for this periodic signal to be

Sz(w) = -Z% sinc? (

d .
Rar)= 3 Dae™  w=

n=—n

Using Eq. (2.80). we find Dn = {gsinc"'(%ﬁ). Hence, according to Eq. (3.41)

Sa{w) = % z sinc? (%’i) dlw—nwy) W= %
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Avea T

3
—er -2 1k er
) T ) B A
Fig. S3.8-2
Therefore
Ts . 2({wT o= . (N7 _2n
Sz(w) = 6 sinc (—4—) + 3 "Z_: sinc (—2-) d{w — nws) we = =
8.8-3 Il(w) = =iy and |H(0)? = 72
~n 1 [T M 1 ™ K K
2 _ 2 - 2 = = L ot e
(a) (= "/0 Kdu=oc and yi(h) "/o ] dw 3
31

www.free4vn.org
oldroad



AN 1 ! 1 Vs 1 ! 1 1
) _ 1 = A 2 = - ——— ) = —
(b) () = ”A dw - and ¥y (t) L‘ Fr1v T

L e aaed

~ AAaAe ~ _ ”x o -
(c) .'rz(f) = l/ dw=1)dw = 3— and yz(f) = 1 / 9.(.“—}——12 dw = l/ u
K K 0 5}

T w? + n
0 n w 1

3.8-4 The ideal differentiator transfer function is jw. Hence. the transfer function of the entire system is

- 1 iy = ¥ N2 =
H(w)= (j.d-i— 1) (iw) = ot and  |H(W)I

"
wi+l

AAPNA

Y At : 1 !
(1) = -'/ rect ("—J) dw = -/ d
T Jo 2 T Jo

AnAan ~ . 2 1 2 .
0= 2 [ et (3) e = L =2 (1 - f—) = 0.06831
’ 7 Jo 2/ W2 +1 7 f, wit] L 4

1
%

€
i
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Chapter 4

H

4.2-1 (i) For i (t) = cos 1000/

Poss.sc(!) = m(t)cos 10,000t = cos 1000t cos 10, 000t

1
= =[cos 9000t + cos 11.000¢
2Lv-‘ \._v——fl

LSB USB
(ii) For m (1) = 2cos 1000t + cos 2000¢

- Ypss.cc(t) = m(t) cos10.000t = 2 cos 1000t + cos 20001} cos 10.000¢
= ¢0s 90007 + cos 11.000¢ + -,ls[cos 8000t + cos 12.000¢]

= {cos 9000/ + '-;-cos 8000¢) + [cos 11,000t + %cos 12.000¢]
LSB UsB

{iii) For m/1} = cos 10001 cos 30001

Crepec(t) = m(t)cos10.000f = %{cos?OOOt + 08 4000¢] cos 10, 000t

%[cos 8000t + cos 12.000t) + %[cos 6000t + cos 14,000¢]

1 1
E'cos 8000t Vv cos 6000t + 5[505 12.000¢ + cos 14.000¢]

LSB UvSB

This information is summarized in a table below. Figure $4.2-1 shows various spectra.

T MWD Modu]afeel si_gna\ sped'mm
. : T :
o 1T - r £l o> 1.3
- 1600 1 1600 :u};’. - 9000 Jr . Qqceoe (1.€00
jor A
W ol B .1 -'m +e 1 1a
2 1 . 1= .
" T e 2008 te® aceo. n > 12K PR L3 al o) > gr S R e
L) Tt
il -
Tﬁﬁw» 11 ¢4 o T4 Tt
<415 O 2k 4K K ~12K =8 —6M 1 W > €K 8K 12k 14K
Fig. §4.2-1
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(4 ) M () &200 -~ wfac0 £200-> .
T/ 1eo :SB (-1 Vel
o N> ] |
DN\
|
—100 00 -écoo © @ igeee
., .
) -
M (a) o '
2 (8> (@2 -
g it % ; Ceb
vsh - LSB —“4 lﬁﬁﬁ% .
0| ) — ~10,00 6 O ®=> joooo v
veh
\:’ & LSB
-tc;o‘oq
Fig. 54.2-2 _Q‘
{wr2 o
UeB Qe 5™ 11 ;.583@,059
~lo 060 [ o= deee
-T2t -t
Fig. 84.2-3
case | Baseband frequency | DSB fr.equency [ LSB frequency | USB frequency |
i 1000 9000 and 11,000 | 9000 11.000 |
i 1000 9000 and 11,000 ‘ 9000 11,000 I
2000 8000 and 12.000 | 8000 12.000 |
i 2000 8000 and 12.000 | 8000 12,000 |
4000 6000 and 14.000 | 6000 14,000 |

4.2-2 The relevant plots are shown in Fig. $4.2-2.
4.2-3 The relevant plots are shown in Fig. 54.2-3.

4.2-4 (a) The signal at point b is

www.free4vn.org

ga(t) = m(t) cos® wet

= m(t) [% coswet + %COS 3«1:!]
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The term 3m(t)coswet is the desired modulated signal, whose spectrum is centered at tw.. The remaining
term %m(r) cos 3w.t is the unwanted term, which represents the modulated signal with carrier frequency Jwc
with spectrum centered at 3w 8s shown in Fig. $4.2-4. The bandpass filter centered at Zw. allows to pass
the desired term gm(l) cos ct. but suppresses the unwanted term %-m(t) cos 3w.t. Hence. this system works as
desired with the output Zm (1) coswef.

(b) Figure $4.2-4 shows the spectra at points b and c.

(¢) The minimum usable value of we is 27 B in order to avoid spectral folding at dc.

(d)
i (t) cos® wet = ’—"—,‘(,-Q (1 + cos 2wet|
1 1
= Em(t) + §m(t) cos 2wt
The signal at point b consists of the baseband signal %m(f) and a modulated signal %m(t) cos 2w.t, which has a
carrier frequency 2w . not the desired value we. Both the components will be suppressed by the filter. whose
center center frequency is wc. Hence, this system will not do the desired job.

{e) The reader may verify that the identity for cosnw.t contains a term cos wct when n is odd. This is not true
when n is even. Hence. the system works for a carrier cos™ uict only when n is odd.

" | at(B)
$ i A

& W B

a @&

.y 5 o-

Fig. S4.2-4

4.2-5 We use the ring modulator shown in Fig. 4.6 with the carrier frequency fe = 100 kHz (& = 2007 x 10"). and
the output bandpass filter centered at fo = 300 kHz. The output ;(t) is found in Eq. (4.7b) as

n(t) = :— [m(t)cos Wet ~ %m(t)cos 3.t + %m(t) cos Swet + ]

The output bandpass filter suppresses all the terms except the one centered at 300 kHz (corresponding to the
carrier 3<.t). Hence. the filter output is

y(t) = ;—:-m(t) cos 3.t

This is the desired output km(t) coswct with k=—-4/3r.

4.2-8 ‘I'he resistance of each diode is r ochms while conducting. and oo when off. When the carrier A cos w.f is positive,
the diodes conduct (during the entire positive half cycle). and when the carrier is negative the diodes are open
(during the entire negative half cycle). Thus, during the positive half cycle. the voltage -ﬁ-’_{-;g‘)(f) appears across
each of the resistors /t. During the negative half cycle. the output voltage is zero. Therefore, the diodes act as

a gate in the circuit that is basically a voltage divider with a gain 2R/(R + r). The output is therefore
2R
eo(l) = Tz—:—;w(t)m(/)
The period of u:(t) is To = 27 /w.. Hence. from Eq. (2.75)
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12
w(t) = '2' + P [COB wel — %cos Swet + %cos Sa;ct+-»-]

The output eg(t) is
2R 2R 1 2 . 1 1 )]
B v— 4 e cm— -— - -— Jel - t R
rolt) ol (t)m(t) 7'm(t) [2 + 2 (cos wet 3 o8 Bwet + ¢ cos Swet +

(r) If we pass the output co(t) through a bandband filter (centered at wc). the filter suppresses the signal m(t) and
m (1) cos nwet for all n # 1, Jeaving only the modulated term ;(ﬁ;sm(t)cosuct intact. Hence. the system acts
as a modulator.

(b) The same circuit can be used as a demodulator if we use a basepass filter at the output. In this case, the input

is @(t) = ni{?) coswet and the output is ;—&;ﬁ—,;m(z).

4.2-7 From the results in Prob. 4.2-6. the output co(t) = km(t)cosw.t, where k = i =5 In the present case. -
m(t) = sin{wct + A). Hence, the output is

eo(t) = ksin{wct + 6) coswet = g[sinﬁ + sin(2wct + 8))

The lowpass filter suppresses the sinusoid of frequency 2wc and transmits only the dc term §sin 8.

la+A,_® AL\I/AM;;
- oK | Bis jok (B (O-> - 10K, | 3% Z_;EK

at (@
AN A A

~35K,  -20K -5r. [P 5K 201, AR, O+
m, ()
¢rs 20000 LPF -
cos (g eoct :
m, (1 )
LPF

Fig. S4.2-8

4.2-8 (a) Fig. 54.2-8 shows the signals at points a. b. and c. .
(b) From the spectrurn at point c. it is clear that the channel bandwidth must be at least 30.000 rad/s (from
5000 to 35.000 rad/s.}.
(c) Fig. 54.2-8 shows the receiver to recover ma(t) and ma(t) from the received modulated signal.

4.2-9 (a) 54.2-9 shows the output signal spectrum Y (w).

(b) Observe that Y (w) is the same as M () with the frequency spectrum inverted. that is. the high frequencies
are shifted to lower frequencies and vice versa. ‘Thus. the scrambler in Fig. P4.2-9 inverts the frequency spectrum.
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-le

Fig. $4.3-2

To get back the original spectrum M («). we need to invert the spectrum Y () once again. This can he done by

passing the scrambled signal y(?) through the same scrambler.

4.2-10 \We use the ring modulator shown in Fig. 4.6. except that the input is m(!)cas(?w)lost instead of (1. The
carrier frequency is 200 kHz Lwe = (4007)10%]. and the output bandpass filter is centered at 400 kHz. The
output r,(t) is found in Eq. (4.7b) as

v, (1) = i) cos(?r)lf)s!}n'g(f) = %m(f)cos(f.’r-)l()st [cos (4007!’)10'1! - %cos 3(4001&')103!. + ::’-cos 5(4007.')1011 -+ ]

4007)10%t and (4/7)m(t) cos(2n)10% yields the desired term

The product of the terms (-1/3) cos 3(
s through the bandpass filter

- (1) cos (8007)10™1. whose spectrum is centered at 400 kHz. It alone passe
(centered at 400 kHz). All the other terms are suppressed. The desired output is

y(t) = —3—21r—1!:(t)cos (8007)10™
4.3-1 go(t) = |A < m(t)| cos.t. Hence.

gs(t) = |A+ m(1)] 08> wel
= %{-4 +m{t)] + %[A + m(t)] cos 2wet

0. The lowpass filter allows this tenn

The first term is a lowpass signal because its spectrum is centered at w =
Hence the output of the lowpass

to pass. but suppresses the second term. whose spectrum is centered at &2we.
filter is
y(e) = A+m(t)

When this signal is passed through a dc block, the dc tenn
shows that the system can demodulate AM signal regardless o
demodulation.

A is suppressed yielding the output m(t). This
f the value of A. This is a synchronous or colievent
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4.3-2

(a) Il=0.5=—‘i—=7 = A=720
(b) u=1.0=1’i;=1£ - A=10
(e) u=2.0=%’-=1]9 > A4=5
() ,‘=m=£';{:=lA‘l - A=0

This means that j = 0o represents the DSB-SC case. Figure $4.3-2 shows various waveforms.
4.3-3 (a) According to Eq. (4.102), the carrier amplitude is 4 = mp/p = 10/08 = 12.8. The carrier power is
P. = 4%/2=T78.125.
m(t)

10 .

’
p
e

(Y >

T /|° R
-~ - *

Fig. S4.3-3

very quarter cycle. the power of

(b) The sideband power is m*(t)/2. Because of symmetry of amplitude values e
Over a quarter cycle in(t) can

m(t) may be computed by averaging the signal energy over a quarter cycle only.
be represented as m{t) = 40t/To (see Fig. 54.3-3). Hence.

P Ve To/4 2
24 1 5_0_’] -
(1) = —70/4A [T dt = 33.34

0

The sideband power is

2
p,=" _ 1667
2
The efliciency is
i 16.67 x 100 = 19.66%

"= B P, 78125+ 16.67

he envelope of the signal m (1) cos wct is |rn(t)]. The signal [A + m(t)lcoswct is
identical to m(t) coswet with m(t) replaced by A + m(t). Hence. using the previous argument, it is clear that
its envelope is |A + m(1)]. Now. if A+m(t)>0forallt then 4+ m(t) = |A + m(t)i. Thevefore. the condition
for demodulating AM signal using envelope detector is 4 + m(t) > 0 for all 1.

4.3-4 From Fig. $4.3-4 it is clear that t

- m(t)zcos 2Tt
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4.3-5

4.3-6

4.3-7

4.3-8

www.free4vn.org

= [A+meedfeos 6t
—>—| aenemtor
mLe) ] 2maders <.t
—— cos Wt
AM
o -1 nerqtof |

[A- M(b)_] ces “?ﬁt
Fig. $4.3-5

\When an input to a DSB-Sc generator is m (t), the corresponding output is m(t) coswet. Clearly, if the input is
A + m(1). the corresponding output will be [A +m(t)] cosw,t. This is precisely the AM signal. Thus. by adding
a dc of value A to the baseband signal m(#). we can generate AM signal using a DSB-SC generator.

The converse is generally not true. However, we can generate DSB-SC using AM generators if we use two
identical AM generators in a balanced scheme shown in Fig. $4.3-5 to cancel out the carrier component.

\When an input to a DSB-SC demodulator is 7n(t) coswl. the corresponding output is m(t). Clearly. if the
input is [A + ru (1)) cos wet. the corresponding output. will A + m(t). By blocking the dc component A from this
output. we can demodulate the AM signal using a DSB-SC demodulator.

The converse. unfortunately. is not true. This is because. when an input to an AM demodulator is (1) coswct.
the corresponding output is {m(t)| [the envelope of m(t)l. Hence. unless m{t) > 0 for all t. it is not possible to
demodulate DSB-SC signal using an AM demodulator.

2A

t->

-2A

Fig. S4.3-7

Observe that m2(1) = A? for all 1. Hence. the time average of m?(t) is also A2. Thus
e ad

mi(t) _ A?

— T2

The carrier amplitude is A = mp/p = mp = A. Hence P. = A%/2. The total power is P = P.+ P, = A*. The
power efficiency is

4 2
mi(ty= A P, =

2y
1,=%XI00=%—4;

x 100 = 0.5
The AM signal for 4 = 1 is shown in Fig. 54.3-7.
‘The signal at point a is (4 + m (1)} cos wet. The signal at point b is

A% 4 24m{t) + m3(t)
9

(1 + cos 2wct)

r() =4+ n:(t)}zcosz.ucf =

The lowpass filter suppresses the term containing cos 2w.t. Hence. the signal at point ¢ is

2 2 3 2
w(t) = A +2A/uéf)+m M _ %_ [1 + 2mA(') N (m}:)) }

Usually. m(t)/4 <« 1 for most of the time. Only when m(f) is near its peak, this condition is violated. Hence.
the output at point d is
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2
u(t) = %— + Am(l)

A blocking capacitor will suppress the dc term A?/2. yielding the output Am(t). From the signal w(t), we see
that the distortion component is m3{1)/2.

4.4-1 In Fig. 4.14. when the carrier is cos [(Aw)t + 6] or sin [(Aw)t + 5], we have

r1{t) = 2w (t) coBwet + ma(t) sinwet] cos [(we + Aw)t + 8]
= 2m (1) coswctcos [(we + Aw)t + 8] + 2m3(t) sinwct cos [(we + Aw)t + 8]
= m(t){cos [(Aw)t + 8] + cos [(2we + Aw)t + 8]} + m2(t){sin [(2we + Aw)t + 8] — sin [(Aw)t + 1}

Similarly

ra(t) = my(t){sin [(2we + BI) + 8]+ sin [(Aw)t + 8]} + ma(t){cos [((Aw)t + 8] — cos [(2we + Au)t + 8]}
After 7,(t) and 72{t) are passed through lowpass filter. the outputs are

my(t) = my(t) cos [(Aw)t + 8] — ma(f)sin [(Aw)t + 6

ma(t) = my(t)sin [(Bw)t + 8} + ma(t)cos [(Aw)t + 8]

4.5-1 To generate a DSB-SC signal from m(t). we multiply m(t) with coswc!. However. to generate the SSB signals

of the same relative magnitude. it is convenient to multiply m(t) with 2coswc!. This also avoids the nuisance
of the fractions 1/2. and yields the DSB-SC spectrum M (w — we) + M (w+we). We suppress the USB spectrum
(above . and below —wc) to obtain the LSB spectrum. Similarly. to obtain the USB spectrum. we suppress
the LSB spectrum (between —we¢ and w) from the DSB-SC spectrum. Figures S4.5-1 2. b and ¢ show the three
cases.

(a)From Fig. a. we can express Fres(t) = cos 900t and p,.sp (1) = cos 1100t.

(b)From Fig. b. we can express Frse(t) = 2c08 T0O? + cos 9007 and ¢sp(t) = cos 11007 + 2 cos 13001
{c)From Fig. c. we can express Zrep(t) = 3[cos 400t + cos 600¢] and wysg () = %[cos 1400¢ + cos 1600t

4.5-2
o (t) = m(t)coswet — ma(t) sinwet and Wrsp (1) = m(t)coswel + ma(t)sinwet

(a) m(t) = cos 1001 and my(t) = sin 100t. Hence,
¥rea (1) = cos 1007 cos 1000t + sin 100t sin 1000¢ = cos(1000 — 100)t = cos 900?

Prsp(t) = cOS 100¢ cos 1000t — sin 100¢ sin 1000t = cos(1000 + 100)t = cos 1100t
(b) m(t) = cos 100t + 2 cos 300t and ma(t) = sin 100t + 2sin 300t. Hence,

#rep(?) = (cos 100t + 2cos 3001) cos 1000t + (sin 100t + 2sin 300t) sin 1000t = cos 900t + 2 cos 700!

£osplt) = (cos 100t + 2 cos 300t) cos 1000/ — (sin 100t + 2sin 300t) sin 1000t = cos 1100t + 2 cos 1300¢

(¢} m(t) = cos 1007 cos 500¢ = 0.5 cos 4001 + 0.5 cos 600t and ma(t) = 0.55in 400t + 0.5sin 600¢. Hence.

(1) = (0.5cos 400t + 0.5 cos 600t) cos 1000t + (0.5sin 4001, + 0.5sin 600t) sin 1000t = 0.5 cos 400t + 0.5 cos 600t

Frea

©1en(t) = (0.5 cos 400t + 0.5 cos 6001) cos 1000t — (0.5 sin 400t + 0.5 sin 600¢) sin 10007 = 0.5 cos 1400t + 0.5 cos 1600t
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4.5-3 'a) Figure S4.5-3a shows the spectrum of m{(t) and Fig. $4.5-3b shows the corresponding DSB-SC spectrum
it cOS {0,00017'3
(b; Figure S4.5-3c shows the corresponding LSB spectrum obtained by suppressing the USB spectrum.
(¢} Figure $4.5-3d shows the corresponding USB spectrum obtained by suppressing the LSB spectrum.
\We now find the inverse Fourier wransforms of the LSB and USB spectra from Table 3.1 (pair 18) and the

frequency shifting property as
£rep (1) = 1000 sinc (100071) cos 9000~
@ en(t} = 10008inc (10007t) cos 11, 0007t
4.5-4 Because Mp(w) = —Jj M () sgn (w). the transfer function of a Hilbert transformer is

H(w) = —jsen(w)

If we apply ma(t) at the input of the Hilbert transformer. Y (w). the spectrum of the output signal y(t) is

Y (w) = Ma(w)H(w) = [-iM(v)sgn ()]|-jsgn (W)] = —M () o
This shows that the Hilbert transform of ma(t) is —r(1). To show that the energies of m(t) and ma(t) are 4
equal. we have
Em= /Wm’(f),u = %/_JM@)P()J

s ™ ” ) 1 ~ 1 ) " 1 ~o .
Em, = /ﬂ»m;(f}d' =9 ,/.,\,Mlh(*')lz dw = 2—7‘:/;,& l“\l(u)lzlisgn (W] dw= or ‘/_m!,\l(..))lzd..: =Em
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4.5-5 The incoming SSB signal at the receiver is given by [Eq. (4.17b)]

Crep(t) = m(1) coswet + ma(t) sinwet

Let the local carrier be cos [(we + Aw)t + 8]. The prodeuct of the incoming signal and the local carrier is ea(t).
given by

ca(t) = p g (t) cos [(we + Aw)t + 8]
= 2{m(t) coswct + ma(t) sinwet] cos [(we + Aw)t + )

The lowpass filter suppresses the sum frequency component centered at the frequency (2we + Aw). and passes
only the difference frequency component centered at the frequency Aw. Hence, the filter output eq(t) is given

by
co(t) = m(t) cos(Aw)t + 8) — ma(t) sin(dw)t + 6)

Observe that if both A and & are zevo. the output is given by

eg(t) = m(t)

as expected. If only # = 0, then the output is given by

colt) = m(#) cos(Aw)t -~ ma(t)sin(Aw)t

This is an USB signal corresponding to a carrier frequency Aw as shown in Fig. 54.5-5b. This spectrum is the
same as the spectrum A/ (w) with each frequency component shifted by a frequency Aw. This changes the sound
of an audio signal slightly. For voice signals. the frequency shift within £20 Hz is considered tolerable. Most US
svstems. however.estrict the shift to 2 Ha.

{b) When only Aw = 0. the lowpass filter output is

rolt) = m(t)cost — mp(t)sind
We now show that this is a phase distortion, where each frequency component of A/(«) is shifted in phase by
amount . The Fourier transform of this equation yields
Eo(w) = M(w)cost — Alp(w)sind
But from Eq. (4.14b)}

—jM{(w) w>0

Alh(\&') = "]'58“ (.4))1‘1(’-0‘) = { I‘I( ,) w < 0

and
M{(w) el w >0
Eo(w) = )
o) { M(w)emi® w<0

It follows that the amplitude spectrum of eo(?) is M (w). the same as that for m({f). But the phase of each
component is shifted by 4. Phase distortion generally is not a serious problem with voice signals, because the
human ear is somewhat insensitive to phase distortion. Such distortion may change the quality of speech. but
the voice is still intelligible. In video signals and data transmission, however, phase distortion may be intolerable.

4.5-6 We showed in prob. 4.5-4 that the Hilbert transform of ma(t) is —m(t). Hence, if ma(t) linstead of m(t)] is
applied at the input in Fig. 4.20. the USB output. is

y(1) = mp(t) coswet — m(') sinwel

= m(t) cos (wcr + %) + ma(t) sin (..:ct + %)
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Thus. if we apply m4{t) at the input of the Fig. 4.20. the USB output is an LSB signa! corresponding to m{#.
The cairier also acquires a phase shift /2. Similarly. we can show that if we apply ma{t) at the input of the
Fig. 4.20. the LSB output would be an USB signal corresponding to m(t) (with a carrier phase shifted by w/2).

4.6-1 From Eq. (4.20)

lw| < 2%B

1
Ho(w) = Ho{w + we) + Hi(w — we)

Figure $4.6-1a shows H,(w — wc) and H.(« + we). Figure $4.6-1b shows the reciprocal. which is Ho(w).

4.8-1 A station can be heard at its allocated frequency 1500 kHz as well as at its image frequency. The two frequencies
are 2fir Hz apart. In the present case. fiF = 455 kHz. Hence. the image frequency is 2 x 455 = 910 kHz apart.
Therefore. the station will also be heard if the receiver is tuned to frequency 1500910 = 590 kHz. The reason for
this is as follows. When the receiver is tuned to 590 kHz. the Jocal oscillator frequency is fuo = 590 +455 = 1045
kHz. Now this frequency fro is multiplied with the incoming signal of frequency fe = 1500 kHz. The output
vields the two modulated signals whose carrier frequencies are the sum and difference frequencies. which ave
1500 + 1045 = 2545 kHz and 1500 — 1045 = 455 kHz. The sum carrier is suppressed, but the difference carrier
passes through. and the station is received.

4.8-2 The local oscillator generates frequencies in the range 1+8=9 MHz to 30+8=38 MHz. When the receiver setting
is 10MHz. fro = 10+ 8 = 18 MHz. Now. if there is a station at 18 + 8 = 26 MHz. it will beat (mix) with
fio = 18 MHz to produce two signals centered at 26 + 18 = 44 MHz and at 26 — 18 = 8 MHz. The sum
component is suppressed by the IF filter. but the difference component. which is centered at 8 MHz. passes

through the IF filter.
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Chapter 5
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$.1-1 In this case fc = 10 MHz. mp = 1 and m, = 8000.
For FM :
Af = kgmp/2% = 2m x 105,27 = 10° Hz. Also fc = 10". Hence. (f)mux = 107 + 16° = 10.1 MHz. and
{)mm = 10° = 10® = 9.9 MHz. The carrier frequency
increases linearly from 9.9 MHz to 10.]1 MHz over a quarter (rising) cycle of duration a seconds. For the next a
seconds. when 1 (t) = 1. the carrier frequency remains at 10.1 MHz. Over the next quarter (the failing) cycle of
duration a. the carrier frequency decreases linearly from 10.1 MHz to 9.9 MHz., and over the last quarter cycle,

when m (1) = —1. the carrier frequency remains at 9.9 MHz. This cycles repeats periodically with the period 4a
seconds as shown in Fig. §5.1-1a.
For PM :

Af = kprn},/27 = 50% x 8000/27m = 2 x 10° Hz. Also fo = 107. Hence. (f.)max = 107 + 2 x 10® = 10.2 MHz.
and (f))mmn = 107 =2 x 10° = 9.8 MHz. Figure S5.1-1b shows rn(t). We conclude that the frequency remains at
10.2 Mz over the (rising) quarter cycle, where 7ii(t) = 8000. For the next a seconds, rn(t) = 0. and the carrier
frequency remains at 10 MHz. Over the next a seconds, where m(t) = —8000. the carrier frequency remains at
0.8 MHz. Over the last quarter cycle 7i(t) = 0 agein, and the carrier frequency remains at 10 MHz. This cycles
repeats periodically with the period 4a seconds as shown in Fig. $5.1-1.

5.1-2 In this case fe = 1 MHz. mp = 1 and my = 2000.

For FM :
Af = kgmp/27 = 20,0007/2n = 10* Hz. Also fo = 1 MHz. Hence, (fi)max = 10° 4 10* = 1.01 MHz. and
(f)min = 10% — 10% = 0.99 MHz. The carrier frequency rises linearly from 0.99 MHz to 1.01 MHz over the cycle

(over the interval — 1% let< }%——3). Then instantaneously, the carrier frequency falls to 0.99 MHz and starts
rising linearly to 10.0] MHz over the next cycle. The cycle repeats periodically with period 10~? as shown in
Fig. §5.1-2a.

For PM :

Here. because m(t) has jump discontinuities. we shall use a direct approach. For convenience. we select the
origin for m(t) as shown in Fig. $5.1-2. Over the interval -‘9;—: to -1%’- we can express the message signal as
m(t) = 2000t. Hence.

Epull) = cos [2n(10)6t + -;in.(r)]
= C0s [21r(10)°t + %20001]
= cos [27(10)°1 + 1000x¢] = cos [27 (10° +500) 1]

At the discontinuity. the amount of jump is g = 2. Hence. the phase discontinuity is kpna = 7. Therefore,
the carrier frequency is constant throughout at 10° + 500 Hz. But at the points of discontinuities. there is a
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5.1-3

5.2-1

5.2-2

5.2-3

5.2-4

5.2-5

Fig. 5.1-2

phase discontinuity of = radians as shown in Fig. §5.1-2b. In this case,

is a discontinuity of the amount 2. For kp > 7, the phase
ambiguity in demodulation.

(a) epa(t) = Acos [wet + kpm(t)] = 10 cos|10,000t + kpm(t)]

V

4 mvf\ NN

AV VAT

we must maintain k, < 7 because there

discontinuity will be higher than 2r giving rise to

We are given that ¢pa(t) = 10 cos (13.000t) with kp = 1000 Clearly. m(t) = 3t over the interval |t] £ 1.

t t
(b)  wrwmff) = Acos [-:cl + k,/ m(a)da] = 10 cos [10.0001 + k,f m(a)da]

4

¢
Therefore k;/ m(a)da = 1000/ m{a)da =

t
Hence 3t=/ m(a)da

In this case k; = 10007 and kp = 1. For

= m(t)=3

3000t

m(t) = 2 cos 100t + 18 cos 20007t and rir(t) = ~200 sin 100t — 36,0007 sin 20007t

Therefore nip = 20 and m}, = 36.0007 + 200. Also the baseband signal bandwidth B = 20007 /27 = 1 kHz.

For FM : : Af = ksmp/2n = 10.000. and Bry = 2(Af + B) =

For PM : : Af = kpm'/2n = 18,000 + 32 Hz. and Bpn = 2(Af + B)

kHz.

2(20.000 + 1000) = 42 kHz.

= 2(18.031.83 + 1000) = 38.06366

¢en(t) = 10 cos(wet + 0.1 sin 20007t). Here, the baseband signal bandwidth B = 20007 /27 = 1000 Hz. Also,

wi(t) = we + 2007 cos 2000x¢

Therefore. Aw = 2007 and Af = 100 Hz and Bepm = 2(Af + B) =

Zeu(t) = 5 cos(wet + 20 sin 1000xt + 10 sin 20007t).

Here. the baseband signal bandwidth B = 20007 /2x = 1000 Hz. Also,

2(100 + 1000) = 2.2 kHz. ¢

w, (1) = we + 20,0007 cos 10007t + 20,0007 cos 20001
Therefore. Aw = 20,0007 +20.0007 = 40,0007 and Af = 20 kHz and Bem = 2(Af+B) = 2(20.000+1000) = 42

kHz.
The baseband signal bandwidth B =3 x 1000 = 3000 Hz.

For FM : Af = 47r = 19x1 =15.95] kHz and Brm = 2(Af + B) = 37.831 kHz.
For PM : Af = -272 — 3:8000 - 31 83] kHz and Bpm = 2(Af + B) = 66.662 kHz.
[ r

The baseband signal handwidth B =5 x 1000 = 5000 Hz.

For FM : Af = 47 = 20907xl = | kHz and Bru = 2(Af + B) = 2(2+5) = 14 kHz.
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For PM : To find BPM. we observe from Fig. $5.1-2 that ¢, (t) is essentially a sequence of sinusoidal pulses
of width T = 10~? seconds and of frequency f. = 1 MHz. Such a pulse and its spectrum are depicted in Figs.
3.22¢ and d. respectively. The bandwidth of the pulse, as seen from Fig. 3.22d, is 4= /T rad/s or 2/T Hz. Hence.
Bpn = 2 kHz

5.2-6 (a) For FM : Af = 472 = 200.0007x1 = 100 kHz and the baseband signal bandwidth B = #2* =] kHz.
Therefore
Bpum = 2(Af + B) = 202 kHz

For PM : Af= 272 = 10x2000 - 10 kHz and Bpm = 2(AS + B) = 2(10+1) = 22 kHz.

(b) m(f) = 2 sin 2000x¢. and B = 20007 /27 =1 kHz. Also m, = 2 and my, = 40007,
For FM : Af = 5472 = 200000723 = 200 kHz, and

Bpa = 2(Af + B) = 2(200 + 1) = 402 kHz

For PM : Af = ‘272 — 1024000t = 20 kHz and Bpu = 2(Af + B) = 2(20 +1) = 42 kHz.

(c) m(t) = sin 40007t and B = 40007/2x = 2 kHz. Also m, = 1 and mj = 4000~.
For FM : Af = X7z — 200.000mxl — 100 kHz, and

Bra = 2(Af + B) = 2(100 + 2) = 204 kHz

For PM : Af = 27k = 10240007 _ 20 kHz and Bpa = 2(Af + B) = 2(20 + 2) = 44 kHz.

(d) Doubling the amplitude of i () roughly doubles the bandwidth of both FM and PM. Doubling the frequency
of m(t) jexpanding the spectrum A(w) by a factor 2] has hardly any effect on the FM bandwidth. However. it
roughly doubles the bandwidth of PM. indicating that PM spectrum is sensitive to the shape of the baseband
spectrum. FM spectrum is relatively insensitive to the nature of the spectrum A (w).

5.2-7 From pair 22(Table 3.1). we obtain o=t e=s J/Te~*/Y. The spectrum M(w) = V7 e «?/4 is a Gaussian pulse.
which decays rapidly. Its 3 dB bandwidth is 1.178 rad/s=0.187 Hz. This is an extremely small bandwidib

compared 10 Af.

Also (1) = —2tr=t*/2_ The spectrum of ri(t) is M'(w) = jwM(w) = jﬁwe“"z". This spectrum also decas
rapidiy away from the origin. and its bandwidth can also be assumed to be negligible compared to Af.

For FM : Af = 4472 = 8007x1 = 3 kHz and Bpy = 24f = 2x 3 = 6 kHz.

For PM : To find . we set the derivative of m(t) = —ote~t/2 equal to zero. This yields

g2 _e2; ‘
m(t) = =2e /2 L 4207220 =t=

Sl

and ‘m;, = 'i'(Vlf) = 0.858. and

Af='37e - 8000720858 o 3437 kHz and Bpm & 2(Af) = 2(3432) = 6.864 kiz.

5.3-1 The block diagram of the design is shown in Fig. §5.3-1.

=48
ﬁ:lwhﬂb ‘%:ll’SMH& BPF ‘ﬁ=l'635f\1 g azi

—p———t X |25 ] . L — . X €0 r——"—'
&F = 10 Hy, o Af- 1250 He {1638 MH| Af 1260 ht—— A =75

) 10868 MUz

Fig. §5.3-1

a7

www.free4vn.
eavn.org oldroad



§. = 200 kHzZ | fo=12-8M BPF fez3MH2 <32 fos

Af- QTeE6HE X o4 TAf cz5vz AMH2 [ Af-G265H2 Af - 2.0t

q-8MHz

Fig. S5.3-2

5.3.2 The block diagram of the design is shown in Fig. $5.3-2.
5.4-1
(a) wpMm(t) = Acos fwet + kpm(t))

When this wpni(?) is passed through an idea) FM demodulator, the output is kprn (t) This signal. when passed
through an ideal integrator. yields kpm{t). Hence. FM demodulator followed by an ideal integrator acts as a PM
demodulator. However. if m(f) has a discontinuity, mm(t) = oo at the point(s) of discontinuity. and the system
wil fail.

(b) ¢rn(t) = Acos [uci+k,/ m(o)do]

-

When this signal ¢ra(?) is passed through an ideal PM demodulator, the output is kg f‘ m(a)da. When this
signal is passed through an ideal differentiator, the output is kym(t). Hence. PM demodulator. followed by an
ideal differentiator. acts as FA! demodulator regardless of whether m( t) has jump discontinuities or not.

5.4-2 Figure §5.4-2 shows the waveforms at points b. c. d. and e. The figure is self explanatory.

5.4-3 From Eq. (5.30). the Laplace transform of the phase error 8.(t) is given by

BO.(s) = —s+AK_H—(N)e'(S)
For A,(t) = k12, O,(s) = -E-} and

2k
B.(s) = $2s + AKH (s))

The steady-state phase error [Eq. (5 33)] is

2k
i t)=lims s) = =
Jim 0.(1) = lim s8.(x) = TPy = %0
Hence. the incoming signal cannot be tracked. If
s+a 2k
H(") - FREN then e'(s) - P {” + AKS:+¢)]
and
2k 2k

Jim Be(1) = lim 40e() = Iy TR G v a) | Ako

Iience. the incoming signal can be tracked within a constant phase 2k/Aka radians. Now. if

¥ +as+ b 2k
H(s) = s a; Ry then Oe(s) = 2 -
« 2 [s + 4Kg.3+u+b)]
and ks
tl-l-nfl.”'(’) = ll_rgsee(-\) = ll_!.‘l'(lJ TrAR(Z Far+0) =

In this case. the incoming signal can be tracked with zero phase error.
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Chapter 6

M

6.1-1 The bandwidths of ¢;(t) and g2(t) are 100 kHz and 150 kHz, respectively. Therefore the Nyquist sampling rates
for ¢1(t) is 200 kHz and for g2(t) is 300 kHz.
Also g1%(t) <= #=g1(«) » ;1(w), and from the width property of convolution the bandwidth of g12(t) is twice
the bandwidth of g;(t) and that of g2 {(t) is three times the bandwidth of ga(t) (se also Prob. 4.3-10). Similarly
the bandwidth of g;{t)gz(t) is the sum of the bandwidth of g:(t) and g2(t). Therefore the Nyquist rate for @’
is 400 kHz. for g27(t) is 900 kHz. for g1(t)ga(?) is 500 kHz.

6.1-2 (a)
sinc1007t) <= 0.01rect (ﬁ;)

The bandwidth of this signal is 100 = rad/s or 50 Hz. The Nyquist rate is 100 Hz (samples/sec).
(b)
sinc?(1007?) <=5 0.01A(3%z)

The bandwidth of this signal is 200 7 rad/s or 100 Hz. The Nyquist rate is 200 Hz (samples/sec).
(c)

sinc (1007) + sinc (50mt) «=> 0.01rect 0.01 (g8 ) + 0.02rect (7357)
The bandwidth of the first term on the right-hand side is 50 Hz and the second term is 25 Hz. Clearly the
bandwidth of the composite signal is the higher of the two, that is. 100 Hz. The Nyquist rate is 200 Hz
‘samples/sec).
(d)

sinc(10071) + 3sinc?(60mt) «=> 0.01 rect(5557) + % O5557)

The bandwidth of rect(giz) is 50 Hz and that of A(5f%;) is 60 Hz. The bandwidth of the sum is the higher of

the two. that is. 60 Hz. The Nyquist sampling rate is 120 Hz.
(e)

sinc(507t) <=+ 0.02 rect{ %)
sinc(100mt) <= 0.01 rect(58%5)

The two signals have bandwidths 25 Hz and 50 Hz respectively. The spectrum of the product of two signals is
1/2= times the convolution of their spectra. From width property of the convolution, the width of the convoluted
signal is the sum of the widths of the signals convolved. Therefore. the bandwidth of sinc(50x1)sinc(1007t) is
25 + 30 = 75 Hz. The Nyquist rate is 150 Hz.

6.1-3 The pulse train is a periodic signal with fundamental frequency 2B Hz. Hence, w, = 27(2B) = 4n B. The period
is To = 1/2B. It is an even function of t. Hence, the Fourier series for the pulse train can be expressed as

p7,(t) = Co + Z Cncosnw,t

n=l
Using Eqs. (2.72). we obtain
1/168 5 [1/16B
no=Co=-—]- df=-l-, a..=Cn=-'-/ cosnw.tdt=—2—sin(ﬂ). =0
To J_ /68 4 To J_y168 nw 4

Hence.

g(1) = a()pr, (1)

e 5]
1 2 . (nnm
4q(f) + E 1 v sm( 1 ) g(t) cos nw,
)

0
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6.1-4 For g(t) = sinc?(5n1) (Fig. §6.1-4a). the spectrum is G(w)
rad/s). Consequently, the Nyquist rate is 10 Hz, that is. we must sam

=1/2B = 0.1 second.
9,‘3 O(38) repeating periodically with a period

signal is 5 Hz (107
his information in the following Tab|

no less than 10 samples/s. The Nyquist interval is T
Recall that the sampled signal spectrum consists of (1/T)G(w) =

equal to the sampling frequency fu
rates: f, = 5 Hz (undersampling). 1

® 0.2 x (W) (b)
Y.
-0.2 0 0.2 > —lpn I 10m o>
|7r. - -5 3 F(Hz)—>
Ty g
13 ? - @
il © - - — ,.w)__}.a.w I
H 1
[ I
{ 3
/ 3
Wi NN, y
04 02 0 02 1> -40n -20x - 20% 4n O
=30 i s 20 ¥ (Hz)—
Ideal Filter (4}

14, -20 -5 s 20 7 (Hz) —~
| 4 9") Practical Filter
~ag B, ®
® - ‘
ATy 4 T# W . ! 1
03 01 0 02 > -40n -0z T 10x On  w->
Fig. S6.1-4

Hz. We present t
0 Hz (Nyquist rate). and 20 Hz (oversampling).

www.free4vn.org

In the first case {undersampling). the sampling rate is 5 Hz (5 sam
every 5 Hz (10% rad/sec.). The success:

not recoverable from G(w)
sampled signal is passed throug

ive spectra overlap, as show

. that is. g(#) cannot be reconstru
h an ideal lowpass filter of bandwi

51

sampling frequency f, | sampling interval T G(w) comments
5 Hz 0.2 A (%) | Undersampling |
10 Hz 0.1 2A(s¢) | Nyquist Rate I
20 Hz 0.05 4A (5% ) | Oversampling |
_—___——'_'——‘._:——-——d

cted

= 0.2A(5¢) (Fig. $6.1-4b). The bandwidth of this
ple the signal at a rate

le for three sampling

ples/sec.), and the spectrum $G(w) repeats
n in Fig. §6.1-4d, and the spectrum G(w) is
from its samples g(t) in Fig. 56.1-4c. If the
dth 5 Hz. the output spectrum is rect ()
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and the output signal is 10sinc (201}, which is not the desired signal sinc 2(571). In the second case. we use
the Nyquist sampling rate of 10 Hz (Fig. $6.1-4e). The spectrum G (w) consists of back-to-back. nonoverlapping
repetitions of 4G(w) repeating every 10 Hz. Hence, G(w) can be recovered from G(w) using an ideal lowpass
filter of bandwidth 5 Hz (Fig. 56.1-4f). The output is 10sinc 2(5xt). Finally, in the last case of oversampling
(sampling rate 20 Hz). the spectrum G(w) consists of nonoverlapping repetitions of #G(~) (repeating every
20 Hz) with empty band between successive cycles (Fig. $6.1-4h). Hence, G(w) can be recovered from G(w)
using an ideal lowpass filter or even a practical lowpass filter (shown dotted in Fig. $6.1-4h). The output is
20 sinc 2(37t).

6.1-5 This scheme is analyzed fully in Problem 3.4-1, where we found the bandwidths of u1(t), y2(t ,andy(lt_z to be 10
kHz, 5 kHz. and 15 kHz, respectively. Hence, the Nyquist rates for the three signals are 20 kHz, 10 kHz. and 30
kHz. respectively. .

6.1-6 (a) When the input to this filter is #(t). the output of the summer is (t) — 8(t — T). This acts as the input to
the integrator. And, /(7). the output of the integrator is:

t _I
"(')‘-‘-/V’(T)-b(f-T)]df=u(t)—u(t—T)=rect(' T’)
[1]

The impulse response h(t) is shown in Fig. $6.1-62.
(b) The transfer function of this circuit is:

H{(w) = Tsinc (“—-)22) o712

sinc iq-:
m 3

The amplitude response of the filter is shown in Fig. S6.1-6b. Observe that the filter is a lowpass filter of
pandwidth 27 /T rad/s or 1/T Hz. . :
The impulse response of the circuit is a rectangular pulse. When a sampled signal is applied at the input. each
sample generates a rectangular puise at the output. roportional to the corresponding sample value. Hence the
output is a staircase approximation of the input as shown in Fig. S6.1-6c.

and
[Hw)!=T

R ]
| T ¢ -1.17!,' ¢ w-

Figure S€.1-6

6.1-7 (a) Figure 56.1-7a shows the signal reconstruction from its samples using the first-order hold circuit. Each
sample generates a triangle of width 2T and centered at the sampling instant. The height of the triangle is equal
to the sample value. The resuiting signal consists of straight line segments joining the sample tops.

(b) The transfer function of this circuit is:

H(o) = Fh(n}=F {4 (-2-',-5)} = T sinc? (‘-*-27;)
Because H{w) is positive for all w. it also represents the amplitude response. Fig. $6.1-7Tb shows the impulse

response /(1) = A(gy). The corresponding amplitude response H{w) and the ideal amplitude response (lowpass)

required for signal reconstruction is shown in Fig. §6.1-7¢. .
(c) A minimum of T secs delay is re%uired to make h(t) causal (realizable). Such a delay would cause the

reconstructed signal in Fiﬁ. §6.1-7a to be delayed by T secs.
(d) When the input to the first filter is A(t), then as shown in Prob. 6.1-4. its output is a rectangular pulse

p(t) = u(t) — u(t = T) shown in Fig. §6.1-4a. This pulse p(t) is applied to the input of the second identical filter.
The output of the summer of the second filter is p(t) = p(t — T) = u(t) = 2u{t - T)+u(t=2T), which is applied
to the integrator. The output h(t) of the integrator is the area under p(t) — p(t — T). which. as .-

ity = / [u(r) = 2u(r = T)+u(r - 2T) dr = tu(t) — 2(t — Tu(t - T)+ (t —2T)u(t - M) =4 (-f—:jl)
0

sliown in Fig. $6.1-7b.

6.1-8 Assume a signal ¢(1) that is simultaneously timelimited and bandlimited. Let g(w) = 0 for |w| > 9n B. Therefore
glarect (z255) = g(<) for B' > B. Therefore from the time-convolution property (3.43)

g(t) = g(1) = [2B'sinc(27 B't)]
= 2B'g(t) » sinc(2nB't)
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6.2-1

6.2-2

6.2-3

6.2-4

6.2-5

6.2-6

Figure S6.1-7

Because g(t) is timelimited. g(t) = 0 for {t| > T. But g(t) is equal to convolution of g{t) with sinc(27 B’t) which
is not timelimited. It is impossible to obtain a time-limited signal from the convolution of a time-limited signal
with a non-timelimited signal.

(a) Since 128 = 27. we need 7 bits/character.
(b)For 100,000 characters/second . we need 700 kbits/second.
(a) 8 bits/character and 800 kbits/second.

(a) The bandwidth is 15 kHz. The Nyquist rate is 30 kHz.

(b) 63536 = 216 so that 16 binary digits are needed to encode each sample.
(c) 30000 x 16 = 480000 bits/s.

(d) 44100 x 16 = 703600 bits/s.

(a) The Nyquist rate is 2 % 4.5 x 105 = 9 MHz. The actual sampling rate = 1.2 x 9 = 10.8 MHz.
(b) 1024 = 2'0 55 that 10 bits or binary pulses are needed to encode each sample.
(c) 10.8 x 10° x 10 = 108 x 10° or 108 Mbits/s.

If ip is the peak sample amplitude. then

quantization error < (0'21)&,)" ) - g'lo‘%

Pecause the maximum quantization error is 521 = 3%‘ = -'l;f. it follows that
Mp o e = L=500

Because L should be a power of 2. we choose L = 512 = 29, This requires a 9-bit binary code per sample. The
Nvquist rate is 2 x 1000 = 2000 Hz. 20% above this rate is 2000 x 1.2 = 2400 Hz. Thus. each signal has 2400
samples/second. and each sample is encoded by 9 bits. Therefore. each signal uses 9 x 2400 = 21.6 kbits/second.
Five such signals are multiplexed. hence. we need a total of 5 x 21.6 = 108 kBits/second data bits. Framing
and synchronization requires additional 0.5% bits. that is, 108,000 x 0.005 = 540 bits, yielding a total of 108540
bits/second. The minimum transmission bandwidth is 12834 = 54.27 kHz.

Nyquist rate for each signal is 200 Hz.

The sampling rate f, = 2 x Nyquist rate = 400 Hz

Total number of samples for 10 signals = 400 x 10 = 4000 samples/second.
Quantization error < %’3 = 3’%%

Moreover. quantization error = & = e =T =2 = L=400
Because L is a power of 2, we select L =512 = 2°. that is, 9 bits/sample.
Therefore, the minimum bit rate = 9 x 4000 = 36 kbits/second.

The minimum cable bandwidth is 36,2=18 kHz.

ey
For a sinusoid. %‘J = 0.5. The SNR = 47 dB =50119. From Eq. (6.16)
P

2
S0 _ 31,’1“7,7‘}) =3L%(0.5) = 50119 => L =1828
o r

Because L is a power of 2. we select L = 956 = 28. The SNR for this value of Lis

APANN
So am?(1) 2
So _ gp2m{!) _ 3(956)2(0.5) = 98304 = 49.43 dB
No mp
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8.2-7

6.2-8

6.2-9

6.2-10

6.4-1

Fig. $6.2-7

For this periodic rn(t). each quarter cycle takes on the same set of amplitude values. Hence, each quarter cycle
contributes identical energy. Consequently, we can compute the power for this signal by averaging its energy
over a quarter cycle. The equation of the first quarter cycle as shown in Fig. $6.2-7 is m(t) = 4A/To. where A is
the peak amplitude and To is the period of m(t). The power or the mean squared value {energy averaged over
a quarter cycle) is

AAAAn To/4 2 2
m3(t) = 2 ’ (i-A-) dt = A
To/4 Jo To 3
mi A?/3
Hence. —m-P = ——A-é- =4
rd
The rest of the solution is identical to that of Prob. 6.2-6. From Eq. (6.16). SNR of 47 dB is a ratio of 50119. is

So
n'\v'o

Tt t) _ a2
= 3L T =3L%(1/3) = 50119 = L = 223.87
r

Because L is a power of 2. we select L = 256 = 2. The SNR for this value of Lis

So -rln.!(f)
B Y A 3(256)%(1/3) = 65536 = 48.16 dB
No ™mp

Here ;+ = 100 and the SNR = 45 dB= 31,622.77. From Eq. (6.18)

So 3L?

—V—o' = (—‘;—1—6-1')—2' =31,622.77 == L= 473.83

Becanse L is a power of 2. we select L = 512 = 2°. The SNR for this value of Lis

So _ 3(512)> _ acoongs =
N = 1ol — 36922.84 = 45.67 dB

(a) Nyquist rate = 2 % 10% Hz. The actual sampling rate is 1.5 x (2 x 10%) = 3 x 10® Hz. Moreover, L = 256
and p = 255. From Eq. {6.18)

So _ _ 3L* _ 3(256)° _

No  [n(z+ D2 (In256)% = 6394 = 38.06 dB
(b) If we reduce the sampling rate and increase the value of L so that the same number of bits/second is
maintained. we can improve the SNR (because of increased L) with the same bandwidth. In part (a). the
sampling rate is 3 x 10° Hz and each sample is encoded by 8 bits (L = 256). Hence. the transmission rate is
8 x 3 x 10° = 24 Mbits/second.
If we reduce the sampling rate to 2.4 x 10% (20% above the Nyquist rate). then for the same transmission rate
(24 Mbits/s). we can have (24 x 10°)/(2.4 x 10%) = 10 bits/sample. This results in L = 2'° = 1024. Hence. the
new SNR is

So _ 3L _ 3(1024)?
No  [in(p+ D2 (n 256)°

Clearly. the SNR is increased by more than 10 dB.

Equation (6.23) shows that increasing n by one bit increases the SNR by 6 dB. Hence. an increase in the SNR
by 12 dB (from 30 to 42) can be accomplished by increasing n from 10 to 12, that is increasing by 20%. '

= 102300 = 50.1 dB

(a) From Eq. (6.33)

ol _ (7)(64.000)

Amux = - so that 1= 3% 800 = 7 = 0.0783
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. _ a*B _ (0.0785)*(3500) _ -
(b) No = ?f: = ———_(3)(64000) =1.12 x 10

So 0.5 3
So___05 _446x10
No - T12x10-% x

AN 2
e ol 1 So _ __ 0383 __994x10°
So=m(t)=3F=3  sothat =T T4

(e) For on-off signaling with a bit rate 64 kHz, we need a bandwidth of 128 kHz. For a bipolar case. we need a
bandwidth of 64 kHz.

[ ]
(32}
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Chapter 7
/

7.2-1  For full width rect pulse p(r) = rect(-L)

%
o eine [ 2T
P(w) = T, sinc 5

For polar signaling [see Eq. (7.12)]

2
Sy(@)= lP(;:)l = T; sinc? (9—2&)

For on-off case [see Eq. (7.18b)}

st 245

ATy b n=-oo

=Zl’- sinc? (ﬂ) l+-2-”- E‘, é w-—gﬂ
4 2 Ty p= !

But sinc? (E’ETE)=0 for m=zT"" forall n%0,and =1 for n=0. Hence,
b

S,(w)= %sincz (%7-2’-) + -g—&(w)

o

For bipolar case [Eq. (7.20b)]

The PSDs of the three cases are shown in Fig. §7.2-1. From these spectra, we find the bandwidths for all
three cases to be R, Hz.

The bandwidths for the three cases, when half-width pulses are used, are as follows:

Polar and on-off: 2R, Hz; bipolar: R, Hz.

Clearly, for polar and on-off cases the bandwidth is halved when full-width pulses are used. However, for
the bipolar case, the bandwidth remains unchanged. The pulse shape has only a minor influence in the

bipolar case because the term sin’ (5’3&) in S, (w)determines its bandwidth.

f
S_.jl“’)
Polar
-b:.fo\a(
_— eon- 0@

Ro F Ry

Fig. §7.2-1
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7.2-2

7.2-3

7.2-4

Tol2 S ()
e L] > 4
)
1 o © i 1 0
Y B nmAar |
L tr T W t.,'!f
(% (&)
Fig. §7.22
(+ B -
P(t) = rect T 4 |-rect _TL‘L
2 2

and

4 4
sl () o ()

From Fig. $7.2-2, it is clear that the bandwidth is ﬁT£ rad/s or 2R, Hz.
)

For differential code (Fig. 7.17)
. 1[N, 2 N, 2
= lim —|—({1)"+—=(-1)"|=1
Ro N-»o N[Z()+2( )]
To compute Ry, we observe that there are four possible 2-bit sequences 11, 00, 01, and 10, which are

equally likely. The product a;ai+ for the first two combinations is 1 and is —1 for the last two
combinations. Hence,

R = lim -1‘7[%(1)«»%(-1)]:0

N-»xo

Similarly, we can show that R, =0 n>1 Hence,
2
() .
s, (o)=L () st (ﬂ)
T 4 4

(a) Fig. S7.2-4 shows the duobinary pulse train y{¢) for the sequence 1110001101001010.

(b) To compute Ry, we observe that on the average, half the pulses have a; = 0 and the remaining half
have a; =lor -1 Hence,
1
o- i 5]

. N, 2 N 1
=1 NenteXo)l==
Jm w12 )+2()] 2

To determine R), we need to compute d;dg+|- There are four possible equally likely sequences of two bits:
11, 10, 01, 00. Sincebit0is encoded by no pulse(a; = 0), the product of aza;,) = 0 for the last three of

these sequences. This means on the average -3-2’- combinations have ayay,; = 0and only %’— combinations
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have nonzero a;a,;- Because of the duobinary rule, the bit sequence 11 can only be encoded by two
consecutive pulses of the same polarity (both positive or both negative).
This means a; anday,jare 1 and 1 or -1 and -1 respectively. In either case axdr+i = 1. Thus,

these %’- combinations have a;a;,) =1 Therefore,

R, = lim -}J—[—’Z—(x)\»%'-(o)]:%

N>

To compute R; in a similar way, we need to observe the product a;ag.2. For this we need to observe all
possible combinations of three bits in sequence. There are eight equally likely combinations: 111, 101,
110, 100, 011, 010, 001, and 000. The last six combinations have cither the first and/or the last bit 0.

Hence, agay,; = 0 for all these six combinations. The first two combinations are the only ones which
yield nonzero a;aj..2- Using the duobinary rule, the first combination is encoded by three pulses of the
same polarity (all positive or negative). Thus a; and a;, are 1 and 1 or -1 and -1, respectively, yielding
ayags2 =1 Similarly, because of the duobinary rule, the first and the third pulses in the second bit
combination 101 are of opposite polarity yielding a3ay.2.= -1 Thus on the average, a;ay,2 =1 for

-]:— terms,»1 for %’- terms, and 0 for§4ﬁ terms. Hence,

e g JE 0§00 30]

In a similar way we can show thatR, =0 n>1, and from Eq. (7.10c), we obtain

2 2
Sy(w)= L%%?L(l +coswly) = |P(;;)‘ cosz(-a-’;l)

1110001101001010

123 nonn A n o.

N —

o 7':(1}. "'"':/ s
Rp/2 Re s Hy—
Fig, §7.2-4

u:..b

For half-width pulse P(f) = rect(2/T3).

Sy(w) = %’-sim:2 (f%i) cos? (22&)

From Fig. $7.2-4 we observe that the bandwidth is approximately R /2 Hz.
7.3-1 From Eq. (7.32)

4000_—_!1.1'%6——002:

1
r=—
3
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. AV mp
7.3-2  Quantization error - = A <001m, = Lz100
(a) Because Lisapower of 2, weselect L =128 = 27

(b) This requires 7 bit code per sample. Nyquist rate=2x 2000 = 4 kHz for each signal. The sampling
rate f; =125x4000 =5 kHZ.
Eight signals require 8 x 5000 = 40,000 samples/sec.
Bit rate = 40,000 x 7 = 280kbits/s. From Eq. (7.32)
e (1+7)Ry _12x280x10°
2

=168 kHz.
T 2

73-3 (8) By =2R, = R, =15kbits/s.
(b) BT = Rb = Rb = 3 kbits/s.

(© Br= %-’- R,. Hence, 3000 = '—? R, = R, = 48 kbits/s.
d) Br = Rb = Rb = 3 kbits/s.
(€) Br =R, = R, =3kbitsss.
7.3-4 (a) Comparison of P(w) with that in Fig. 7.12 shows that this P(w) does satisfy the Nyquist criterion with

@y =2a% 10 and » = 1. The excess bandwidthw, = 7 x 106,
(b) From Table 3.1, we find

plr) = sinc? (zx 1061)

From part (a), we have w; =27 x 10° and R, = 10°. Hence, Tj = 1075, Observe that
pnT)=1 n=0
=0 nz0
Hence P(t) satisfies Eq. (7.36).

(¢) the pulse transmission rate is -;_— =Ry = 10° bits/s.
b

7.3-5  Inthis case %”— =1MHz. Hence, we can transmit data at a rate Ry =2 MHz.
Also, By = 12 MHz. Hence, from Eq. (7.32)
(3 1+r 6
12x10 =T(2xlo )=r=02

736 f, =700kHz. Also,-l-;L=500kHz and f, = 700-500 = 200 kHz.

Hence,r = R{’;z =04 and f) =%-f, =500 - 200 = 300 kHz.

7.3-7  To obtain the inverse transform of P(w), we derive the dual of Eq. (3.35) as follows:

g(t-T) o Gw)e™ /™ and g(1+7) = G(w)e™®
Hence,
gt +7)+g(t - T) & 2G(w)cosTo M

Now, P(w)in Eq. (7.34a) can be expressed as

1 @ 1 o @
= e — t — — 2
P(o) 2"”{4;:1:,,)”‘2"{4;&,,)“ 2R,,) @
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Using Pair 17 (Table 3.1) and Eq. (1) above, we obtain
P(t) = Rysinc (27 Ryt)+ &-smc [Zsz(r + E—R:)]+ =k ginc [ZzR,,(t - ;;{—J}

= Rb[sinc (27:R,,t)+ Lsinc (27 Ryt + :r)+ L sinc (27 Ryt - 7)
[ sin@7Ry) WL sm(27rR1,1+;r) 1 sin(2x Ryt - x)
- 27Ryt 2 2xRy+x Y2 2aRyt-x

sin(27Ryt) 1sm(2:ert) 1 sin(27 Ryt)
2Ry 2 2Ryi+m 2 2xRyt-n

' 1/2 172
-Rbsm(2ﬂRb‘)[2”Rb, (ZKRb""”) (2’r Rbt-”)]

= Rb sin(21r Rbt
27R r(l aR,212)

2Rb cosxw Rbl sin ﬂzﬁg Rb COSﬂzkzbf sinc (jr Rbl)
27 Ryt(1-4R,2%)  1-4Ry

738 P(0) = 2-cod 2= Jrect] 2 |e/or2Rs
Rb 2Rb 2n Rb
)[ /22R +e-JoR ]e"l‘”/z&

(2’*1,
- _‘_m o\, L el 2 leio2R
Rb 2% Rb Rb vy 3 Rb

plt) = sinc (7 Ryt) +sinc ["R"(' 'T:Z)]

_sinTRyt sin( Ryt - 7)
Ryt ARyt -x

sintRyt _ sinzARp? _ sin 7 Ryt
xRyt mRyt-x  mRy(1- - Ryt)

Hence,

7.3-9  The Nyquist interval is 7, = -Rl— =T;. “The Nyquist samples are p (¢nTy) forn=0,1,2, ......
b

From Eq. (7.16), it follows that
20) = p(T3) =1 and p(nTp) = 0 for all other .

Hence, from Eq. (6.10) with 7, =T, and B =—R-"— -l—,
2 2%

o]

_sin ARyt sin 7Ryt __ sin ARyt
AR, AR-x " zR(1- Ryt)
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The Fourier transform of Eq. (1) above yields

P(a))=-l—rect @ ¢t rect| 2 |e/olRo
Ry \2xR, ) Ry \27Ry

=t rect] 22— [e jol2Ry | g~JI2R ]e- Jjal2R
Rb p 4 Rb

2 cod @ | rectt —2— |ei0l2Rs
Rb 2Rb 2)!Rb

7.3-10 (a) No error because the sample values of the same polarities are separated by even number of zeros and
the sample values of opposite polarities are separated by odd number of zeros.

.

(b) The first sample value is 1 because there is no pulse before this digit. Hence the first digit is 1. The
detected sequence is
11000100110110100

7.3-10 The first sample value is 1, indicating that the transmissions starts with a positive pulse, that is, first digit 1.
The duobinary rule is violated over the digits shown by underbracket.

12000-200-20200—20220-2

Following are possible correct sample values in place of the 4 underbracket values: 22 0-2,0r20-2 -2,
or 00 0 -2, or 2 00 0. These sample values represent the following 4 digit sequence: 1100, or 1000, or
0100, or 1010. Hence the 4 possible correct digit sequences are

1101001001x,x,x3x,11100
where X,X;X;X, is any of the four possible sequences 1100, 1000, 0100, or 1010.

7.4-1 S =101010100000111
From example 7.2

T=(10 pPepepten’en®enen? oD eD%e.)s

R=(1eD3eD5)T

T =101110001101001
R = 101010100000111 =S

biv-

7.4-2 S =101010100000111

T-(lepzeD“eoﬁeosebweb‘zeb“a..)s A
_?———'

R=(1© D?)T (seeFig. $74-2) T

T = 100010000000110

R =101016100000111 = § Fig. §7.4-2

743 S=101010100000111
T=(1$D®DZGD4 op'opte D’ oD eD”)s

R=(1©D® D*)T (see Fig. §7.4-3)

7 =110111101001011
R =101010100000111=S
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7.5-1

7.6-1

7.6-2

www.free4vn.org

Fig. S7.4-3

From Eg. (7.45), we obtain
.1 1 03 -007]"'[0] [-0328
co |=| 01 1 03| |1]|=]| 107
¢ | |-0002 0. 1 | o] |-0113

@ 2Z=5
g

n
(i) Forpolarcase P, =(Q(5)=287x 10”7
(ii) Foron-offcase P, = Q(5/2)= 000621
(iii) For bipolar case F, = 150(5/2) = 0.009315
In the following discussion, we assume A, = 4, the pulse amplitude.

Ry

(b) Energy of each pulse is £ = Asz /2 and there are R;, pulses/second for polar case and >

pulses/second for on-off and bipolar case. Hence, the received powers are

2 2 (00015)°
Proia =12_T¢R,, =£2.=(__—)—-=1.125x10'°
2 2
Py = Ab xR A 0s625x1078
2 2 4
2 2
Phipota =:‘_2_Tb.x-%¢- = i:-=05625x 1076

(c) For on-off case:
We require P(€) = 2.87 x 107 = (4, / 20,). Hence,
Apl2op, = S5and 4, =100, = 0.003

2 (0003)
Pon-off ’{“L—;—)-=225x10'6

For bipolar case:
A
P(e)=287x107" =150(4, /20,,) = == =5075
n

Hence

A=Ay, =5015x20, = 0.003045
and

A2 -6
&ipollt =T =231x10

For on-off case:

A
P =10"< —‘1-) = —£-24175
20, 20,

62

oldroad



o, =107 = 4, 2(475)2x10%) =95x107>
For on-off case, half the pulses are zero, and for half-width rectangular pulses, the transmitted power is:

42) a2 (95x107
s,.=_‘.( P ]: 4 -_-( 2 )=2256x10‘6watts.

2] 2 4
There is an attenuation of 30 dB, or equivalently, a ratio of 1000 during transmission. Therefore
Sy = 10005; = 22.56 % 107 watts

7.6-3  For polar case:

A4,)_ 4
P, =106 =g 22 | 22 =475 4, =475%107
n c'l

For polar case with half-width rectangular pulse:

A)? 1 N2, -6
S5 = —E-2 =-2-(4.5x10 ) =1128x107 watts

Sr =(1000)(1128x1076W) = 1128 1073 watts

For bipolar case:
A A
P, =10 =150 —2 | = 22 = 4835 and 4, = 4835x 210 = 967 x 107
20, 20,
For bipolar (or duobinary), half the pulses are zero and the receive power S; for half-width rectangular
pulses is

Apz 1 ' -3 2 -6
S; = —=—=—(967x10 =2338x10" walts
el

Sy = (1000)S; = 2338 x 107> watts

7.7-2  Sampling rate = 2 x 4000 x 125 = 10,000 Hz.
Quantization error = :nz,; =0.00im, = L =1000
Because L is a power of 2, we select L = 1024 = 210 Hence, n=10 bits/sample.
(a) Each 4-ary pulse conveyslog; 4 = 2 bits of information. Hence, we ne¢=c112(l =5 4-ary pulses/sample,
and a total of 5 x 10,000 = 50,000 4-ary pulses/second. Therefore, the min_imum transmission bandwidth is

50,:00 =25kHz

_ R,,(12+r) ) 50,00(2)(1.25) - 3125 KHz

©) Br

7.7-3  (a) Each 8-ary pulse carrieslog;8=3 bits of information. Hence, the bandwidth is reduced by a factor of

3. ,
(b) The amplitudes of the 8 pulses used in this §-ary scheme are+A/2, £34/2, +54/2,and 74 /2.
Consider binary case using pulses +4/2. Let the energy of each of these pulses (of amplitude £4/2)

be E;. The power of this binary case is
Rjinary = EpRp
Because the pulse energy is proportional to the square of the amplitude, the energy of a pulse :t%‘- is

szb. Hence, the average energy of the 8 pulses in the 8-ary case above is
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2 2 1 2
afser? oo 13) +(:3) A1) |
Egy = - =21E,
Hence,
Bay=E x pulse rate = 21E) x-’% =TEuR; .
Therefore,
Ps-nry =1 ﬂainuy

we need

749-1 (a) M =16. Each 16-ary pulse conveys the information of log, 16 = 4 bits. Hence,

‘2’300 = 3000 16-ary pulses/second.
Minimum transmission bandwidth = -3-5—- = 1500 Hz

(b) From Eq. (7.32), we have Ry = 1—3-; Br. Hence,
3000 = %BT = BT = 1800 Hz.
2.9-4 (a) For polar signaling, R, bits/second requires a bandwidth of R, Hz. The half-width rectangular pulse of

5, _A%
E
b= (2) 28

2
The power Pis givenby P= EyRy = —-le A8
t-—isk Eb. Hence the average energy of the M-ary pulse is

s2fa(M -] E,,]

amplitudcg- has energy

(b) The energy of a puise
Ey= -;4-[25,, +2(£3)? +2(28) +....

M2
22 ¢ k)
M k=0
M2 -1
= E
3 b
Each M-ary pulse conveys the information of log M bits. Hence we require onlyl—o—g% M-
2
pulses/second. The power Py, is given by
2 2 2
E (M-, (MP-147 a2
24logy M~ 24logy M

Py = =
MTloga M 3loga M

7.7-§  Each sample requires 8 bits (256 = 2') . Hence: 24,000 x 8 = 192,000 bits/sec
BT =30kHz
R= —-2— Br = —(30 000) = 50,000 M-ary pulses/sec.
We have available up to 50, 000 M-ary pulses/second to transmit 192,000 bits/sec. Hence, ecach pulse must

192,000
transmit at least = = 3.84 bits.
smit at leas ( 50’ ) 1

oldroad
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=» choose 4 bits/pulse
= M = 16is the smallest acceptable value
-
7.8-1 (a) Baseband polar signal at a rate of 1Mbits/sec £sD ’F (a2
and using full width pulses has BW = iMHz. PSK
doubles the B# to 2MHz.

(b) FSK can be viewed as a sum of 2 ASK signals.
Each ASK signal BW = 2 MHz. The first ASK signal .

occupies a band f.o + 1 MHz, and the second ASK | I 1 { l
signal occupies a band f,) +1MHz. Hence, the to L
bandwidth is 2 MHz + 100 kHz =2.1 MHz.

ngz lookmad wwa

Fig.57.8-1

7.8-2 (a) A baseband polar signal at a rate 1 Mbits/sec using Nyquist criterion pulses at r = 02 hasa
BW=-(-1-;—r)Rb -%xlo‘ =60x10°Hz.
PSK doubles B# to 1.2 MHz.

(b) Similar to Prob. 7.8-1.
BWpsy = 0.6 MHz +0.6 MHz +100 kHz

BWgsk =13 MHz
& PsD of Fs

783 logy M=2 for M =4. '
We need to transmit only 0.5 x 108 4-ary pulses/sec
(8) BW is reduced by a factor of 2.
B WFSK =1 MHz . N

(b) In FSK, there are four center (carrier) frequencies ) p
St Je2s fe3» a0 £y, each separated by 100 kHz. te, “a Cy {‘1
Since ASK signal occupies band f, +05 MHz, the total l(__ 300 kiR
bandwidth is

. IMUE

0.5 MHz+ 0.5 MHz + 100 kHz +100 kHz +100 kHz = 1.3 MHz.
Fig. $7.8-3

7.9-1

{,= 2800 rolations /“c

ﬂllt) \\
wyt) ‘y_‘c Y] Q”'fw
S A 4 —
", (t) L\ / Coder
4 1 .
~ /T
—t

Fig. oT.4-1 (@)
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mal‘t) > P ~
d % \ Quantizer
l & e

\ {C /’ Coder

Vﬂ;l‘t) >
~
’,'E RN \ 'r 4. = 7200 roladioms Lo
"‘bﬂ)——"—x '&/5 4’
N7

mq. l{) >

Fig. (b)
Fig. §7.9-1

Either figure (a) or (b) yields the same result.
my(¢) has 8400 samples/sec.

f my (1), m3(¢), my(r) each has 2800 samples/sec.
Hence, there are a total of 16,800 samples/sec.

2.9.2  First, we combine my(t), ms(¢), and my(¢) with a commutator speed of 700 rotations/sec. This combined

signal is now multiplexed with m(¢) with a commutator speed of 2800 rotations/sec, yielding the output of
5600 samples/sec.
i), ' Commadaln speed
/’ E'X‘ N ‘FC = 2‘00 rofat(ons
\ \ > Sec
malt! ¢ /
3 > \ - P
y ~
'
.
2?.;.2___{ A
s \{% 7
melt) -y
I 4
Fig. $7.9-2
66

www.freedvn.org
oldroad



7.9-3

£, = T2c0 ) = 21602 rpe
oTOR A o LI
-—7——‘% cor _C_éﬁ‘___ // N
< 2
N N Guarliges 2] € kbfs 7/ f. T
myled > Quanlizec 21¢ kijs \ ! '27; ke/
— 2 TeRr>/E
Coder —
/
- s
£~ 2400
’ﬂ'hl:;) 3 s 5'(«.14&'\1‘3"‘ —-2;6 Rbis
Cole
(2O
PARernate arrangement
m, 4 e48kb/s
et P
> R N
gt 2)e bols (XED, gt
e e - 1 ( >
—_— PN \ JEae kbls
’ -F_q '
f 3&3,\ ;
"‘,3[-43 2)ekbs ,
s S ) -~ -
My 1€) 214 Rble T (b)
-— - - - —— '
Fig §7.9-3
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Chapter 8 Exercises
8.1-1 If a plesiochronous network operates from Cesium beam clock which is accurate to + 3 parts -

in 1012, how long will it take for a DS3 signal transmitted between two networks to become out 7

of sync if a 1/4 bit length time error results in desynchronization? e

Solution: A DS3 bit is transmitted in l/(44.736-106) =2.235336-10" sec. In the worst case,

both network clocks will be out of synchronization by 6 parts in 1012,

2.235336-10°%/(6-10''2) = 3922.27 sec/bit or 980.57 sec/ ¥ bit

8.1-2 For the bit stream 011100101001111011001 draw an AMI waveform.
Solution:

e e

Note that typically, for illustrative purposes, the waveform is given as

W \ -
. PR
<

8.1.3 For the following waveforms, determine if each is a valid AMI format
for a DS1 signal. If not, explain why not.

-

dnaemsend
T

Solufion: No. 16 0’s violation

Solution: No. bi-polar violation

]

"
-

z

N g

+

5

g

Solution: No. 1's density violation

e 5 | l & " " & " 'y " A & M 3 2 e " " "
v T ' — ) 4 T v v T T T T I—l'——r 4 v Y 1

5

Solufion: Yes
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8.1-4 a) You have received the following sequence of ESF framing pattern sgguencé bits
...00110010110010110...

Is this a legitimate framing bit sequence in order to maintain

synchronization between the T1 transmitter and receiver?

Yes No,

If yes, why? If no, why not?

Solution: No. The bit sequence 0011 cannot be in an ESF framing bit sequence.

b) The following T1 AMI signal is received:

Is this an acceptable T1 signal?
Yes No
a. If yes, explain.
b. If no, explain why not (what, if any, DS1 standards are violated) and

draw on the figure the AMI waveform which would be transmitted by the DSU?
Solution: No. 16 0's violation. The 16 0’s will be replaced by a pattern of 1’s by the
DSU.

8.1-5 The signal 110100600000000000001 is received by the DSU in a T1 data stream which uses a
B8ZS format. Draw the output of the DSU for this signal? The first 1 is already drawn.
Show the bit stream which is substituted by the DSU.

Solution:

M — U

8.1-6 T-1 synchronization at two distant Jocations is controlled by separate crystal controlled
oscillators which differ in frequency by 125 parts per million. If the terminal equipment doesn't
maintain sync in how many complete D4 superframes will the faster oscillator have generated (at
most) one more time slot (8-bit) than the slower oscillator ? Circle the correct answer.
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a)s

b) 10

c) 15

d) 20

e) None of the above - if "none”, what is the number of D4 superframes before an extra time slot
is generated?
Solution: e) The faster oscillator will generate 125-10°1.544-10° = 193 bits per second more
than the slower oscillator. This is one frame/sec = 24.125 time slots. Hence, a time slot
difference will be generated in 1/24.125 = 0.04164498 frames or 0.0034704 superframes.

8.1.7 Two plesiochronous digital networks, A and B, utilize Cesium beam clocks accurate to 3
parts in 10". The networks are operated by independent long distance companies and are
synchronized to each other by means of a UTC signal.

a. If a company leases a T1 line with D4 framing which is terminated at one end in
network A and at the other end in network B, how often must the networks be resync’d to
each other 1o avoid a framing bit error in the customers T1 signal in the worst case? {You
may assume a framing bit error occurs when the two networks are out of sync by 2 1/2 of
aT1 "bit time".}
Solution: A T1 bit time is l/(1.544~106 )= 6.47668-10 sec/bit. In the worst case, the
two clocks would be off by 2:3 = 6 parts in 10'3 or 6-10™* errored bits per bit transmitted.
Hence, 6.47668-10°7 sec/bit / 610" errored bits per bit = 1.07945 10° seconds per errored
bit or 5.39723-10° seconds per errored half-bit.

b. UTC operates via GPS satellites which are approximately 23,000 miles above the Earth.
How long, in terms of T1 bits, will a correction signal take to be transmitted to
the network switches? '
Solution: The speed of light is approximately 186000 miles/sec.
23000x2 = 46000miles up and down. 46000/186000 = 0.247 sec
0.247x1544000 = 381850 bits
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Chapter 10

/

13+13 1
52 2
1+1 1

k BB me— L w—

() P(black queen) 5 "6
3

13

10.1-1 (a) P(red card)=

12
P(picture card) = — =
(¢) P(picture card) =

@ PN=2=3

© P(nss)-%‘zl-%

10.1-2 (a) S = 4 oceurs as (1,1,2),(1,2,1),(2,1,1). There are a total of 6 x 6 x 6= 216 outcomes.
3 1

Hence, P(S =4) = 6T

(b) §=9occursas (126, (1.3.5), (L4, (1,53), (1,62), @.16), 2:2,5), 2:3,9), @A), @32, CHD,
B8, 3,28, 333, (3:42), G5, (4,1.4), 423), 33.2), 441, (5.1.3), 62.2)
(3.1, (6,12), (62.1)
P(s=9)= -22-156-
(© S =150ccurs as (3.66), (4,56, (46.5), (54,6), (5.5.5), (564), (63.6), (649, (654, (6.63)

10
P(s=10)=27

10.1-3 Note: There is a typo in this problem. The probability that the number i appears should be ki not &;.

[
1= Zki=l¢+2k+3k+4k+5k+6k=2lk=>k=-il-l-
i=1

P(i)=-2i—l (=123 45, 6)

10.1-4 We can draw 2 items out of 5 in 20 ways as follows: 0,0, 0,05, 0,P;, 0,P3, 0,04, 005, 0,P,, 0;P;, 050, 050,
05P,, 0;P,, P\0,, P03, P,03, P\P3, P,0,, P;0,, P30, P,P). All these outcomes are equally likely with
probability 1/20.

(i) This event E; = 0, A, U0, A U0, AU0; A, U03 AU0 BUAD UR0,UR03UROUP0UPR0;
12 3
Hence, P(Ej)= ===
ence, P(E}) 50" 5
(i) ThiseventE; = AARURA
2 1
X Eqy)lz—=—
Hence, P(E;) =10
(iii) This event Ey= 0‘02 U0|03 U020| U0203 U030‘ U0302
6 3
P = 3 —
Hemfe, (E3) T
(iv) This event Eq = Ey UE;and both E, & Ejare disjoint.
4

Hence, P(E4) = P(Ez)+ P(E3) =.13=%

n
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10.1-5 Letxg, be the event that the first chip is oscillator and x5 be the event that the first chip is PLL. Also,
let xo, and xp represent cvents that the second chip drawn is an oscillator and a PLL, respectively. Then

P(l oscand 1 PLL)= P(xol,x&)+P(xﬁ,xoz)
= P{xo,)Plx o)+ P{xa ) Plsos )
3.2 2 3)_3
G-3)(5-3)-3

10.1-6 Using the notation in the solution of Prob. 10.1-5, we find:
3
@ Psolen)=3

1w ..

10.1.7 (&) Wecan have(‘g ) ways of getting two 1's and eight 0's in 10 digits

(4)=12 s

218!
s : ' 20 e\ w 45 45
P (two 1’s and eight 0's) = 45(05) (0.5) = 45(05) = %" 024 '
(b) P(at least four 0's) = 1-[ P(exactly one 0)]+[ P(exactly two 0 s)]+[ P(exactly three 0 )] -
10 5
p(one0) =('0)05)° = —=—=
(one 0) = (P03 = 7052 = 513
45
P(two 0s) =('9)05)"° = —
(wo0's) =(12)05)" = 353
120
(twee 0'5) =('3)03)™ = 772
P(at least four 0's)=l-(—5—+ 43 + 12°)= 849
512 1024 1024,/ 1024

10.1-8 (a) Total ways of drawing 6 balls out of 49 are

9\ _ 49!
(%) = oz = 13983816
1

Hence, Prob(matching all 6 numbers) = 13983816

(b) To match exactly 5 number means we pick 5 of the chosen 6 numbers and the last number can be
picked from the remaining 43 numbers. We can choose 5 numbers of our 6 in(g) = 6 ways and can choose
one number out of 43 in (413 ) = 43 ways. Hence, we haved3 x 6 combinations in which exactly 5 numbers
match. Thus,

. 43x6 -5
22D _1845x10
P (matching exactly 5 numbers) 3983816 1.845x

(¢) To match exactly 4 numbers means we pick 4 out of the chosen 6 number in ( 2) = 15 ways and choose

2 out of the remaining 43 numbers in(‘%) =903 ways. Thus there are 15x 903 ways of picking exactly 4
numbers out of 6 and

. 15x903 -4
= = 9,686 x 10
P (matching exactly 4 numbers) 13983816 86
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(d) Similarly, we can pick three numbers exactly in (3)(‘33) = 20 x 12341 = 246820 ways. Hence,

246820

—————— = 001765
13983816

P (matching exactly 3 numbers)=

10.1-9 (a) Let f represent the system failure. Then
P(7)=(1-001)"° = 090438
P(f)=1- P(f)=00956
®) P(f)=099and P(f)=001

If the probability of failure of a subsystem s; is p, then
P(f)=(1-p)" or 099=(1- p)*° = P=00010045

10.1-10 If / represents the system failure and f,, and f; represent the failure of the upper and the lower paths,
respectively, in the system, then:

® P = PUfe) = PUPUL) = [P
P(f) =1- P(7,) =1-(1-001)"" = 00956
and
P(f) = (0.0956)° = 0009143

Reliability is P(f) = 1- P(/) = 09908
(b) P(f)=0999

P(f) = 1-0999 = 0001

P(f,) = +/0.001 = 00316

P(7,)=(1- P)'® =1-00316 = P = 0003206

10.1-11 Let P be the probability of failure of a subsystem (s, or 53).

For the system in Fig. a:
The system fails if the upper and lower branches fail simultaneously. The probability of any branch not

failing is
(1-P)1-P)=(1- P)2 . Hence, the probability of any branch failing is1-(1- P).
Clesrly, Py , the probability of the system failure is Py = [l ~(1- Py Il -(1- p)’] 24P? P<<l

For the system in Fig. b:
We may consider this system as a cascade of two subsystems x; and x; , where x, is the paraliel combination

of s, and s;and x, is the parallel combination of s ands;. Let Py(x;) be the probability of failure of x,.
Then <
P(n)= Py(x;) = P?
The system functions if neither x| nor x; fails. Hence, the probability of system not failing
is(1- P2)(1- P?). Therefore, the probability of system failing is
P =1-(1- P2)1-P?)=2P - P 22P? P <<l
Hence the system in Fig. a has twice the probability of failure of the system in Fig. b.
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10.1-12 There are( ) = 2598960 ways of getting 5 cards out of 52 cards. Number of ways of drawing 5 cards of

the same suit (of 13 cards) is( ‘3) =1287. There are 4 suits. Hence there are 4 x 1287 ways of getting a

flush. Therefore,
4x1287

2598960

=19808 %1073

P(flush) =

10.1-13 Sum of 4 can be obtained as (1,3), (2,2) and (3,1). The two dice outcomes are independent. Letx, be the

outcome of the regular die and x, be the outcome of irregular die.

Pay (43)= P (0P, (3)——x1=§

Px; x (2,2)= Py, (2)1’_,,2 (2) =-— x 0=0
lexz (3vl) = Px| (3) (1) = z g = 316

Therefore P,(4)= T +—3!g=l—12-

Similarly,
B(8)= P..,(14)+ P, (23)+ P, (3:2)+ £, (41)
1 1.1 1 1 1 1

2 X0t =X =t =X+ =X == -
6

3 6 6 6 12

10.1-14 B= ABUA‘B

P(8) = P(4)P(Bl4) + P(4°)P(B|4°)
-()2)3)3)-=
P(4B) (EIEX%) 1

P(B) 1 sl
26

P(4|B) =

10.1-15 (a) Two 1's and three 0’s in a sequence of 5 digits can occur m(g) =10ways. The probability one such

sequence is
P =(08)2(02)° = 000512

Since the event can occur in 10 ways, its probability is
10x 0.00512 = 0.0512

(b) Three 1's occur with probability (§ )(08)*(02)* = 02048
Four 1’s occur with probability (§ }08)* (02)" = 04096

Five 1’s occur with probability (3 )(08)*(02)° = 03277
Hence, the probability of at least three 1's occuring is
P = 02048 + 04096 + 03277 = 09421

10.1-16 Prob(no more than 3 error) = P(no error) + P(1 error) + P(2 error) + P(3 error)
= (1- BY'® +(10)2.(- ) + ()220 ) + ()20 £)”

= (1-1007,)+ 1002, (1-99 7, )+ 4950P,2(1-98F,) + 1617007, (1-97F,)
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10.1-17 Error can occur in 10 ways. Consider case of error over the first link
P.(correct detection over every link) = (1- A )(1- A)--(1- Py)
Pg =1~ P, =1-(1- RY1- A)..(1- Ao)
= 1-[1 - (P, + R +..+Rg) + higher order terms]
=P +A+.+Pg P <<l

5 ]
10118 Pe)=Y(3)R/0-R) =1023(1- B,)? +5P4(1-R)+ P
J=3
=10P3(1-P), P <<l

10.1-19 (a) P(success in 1 trial) = ;% =01
(b) P(success in § trials) = 1 - P(failure in all 5 trials)
=1- Py, Py, P, Py, Py
Py, = Prob(failure in 1* trial) = 9/10
Py, =Probi(failure in 2** trial)=8/9
Similarly, Py, =7/8, Py, =6/7, and P, =5/6

Hence, P(successin$ trials) = 1 -(-?-IEXZXQIE) =1~ 3. 05
I0OAIABATAG 10

10.1-20 Let x be the event of drawing the short straw and the F,
draws the short straw. '
Now, A(x)=0.1
Py(x) = Prob(1% person does not draw the short straw) x Prob(2™

- nel =G5 )s)

person draws the short straw)

Similarly,
Py(x) = Prob(neither 1% nor 2™ person draws the sh
1

1 8
- [1-A)- Al =530
Similarly, P4(X) = Ps(x) == ﬁo(x) =01
10.1-21 All digits are generated independently
(@) P(all 10 digits are 0) = (03)'°
(b) There are ( ‘3 ) ways of arranging eight 1's and two 0's. Hence,
Preight 1's and two 0'5)=('$)(07)(03)?
(c) P(at least five 0’s)= P(five 0’s)+P(six 0’s)+...+P(ten 0’s)

=(*9)07)(03)° +(18)0n)(03)° +(9)07’(03)’ +(")ory® (03)* +("8)07)(03)° + (03)'

1021  P,(0) = Py (1,0)+ Py (0.0) = Px(l)Pylx(Oh)-o- P,(0)Pyx (0l0)
= 06x01+04[1- P, (1f0)] = 006+032 = 038
P,(1)=1- P,(0) =062

15
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PR (1-R)O

1022 (a) Py (llt)=

R (-QFR+(-R)Q

() Px|y(o|1) =1- ley(lll)

(note that Py(l)

and P, (0) are derived in Example 10.10)

1023 (8) P(x21)= j’l"-;-xe‘% = %

1 3

(b) Prob(-1<xs2)= fl—--;—xe’dx+ I:-;-xe"‘dx =1-1-2

(c) Prob(x s-2) = ﬁ-%xe’dx -2

10.24

b, <d) 4

e 2¢

232

F,(s)

oS

@* AL

°|

x> o| -

Fig. $10.2-4

o 5..»

Since this is 8 half-wave rectifier, y assumes only positive values. So P(y<0)=0.

Hence, Fy(y) =0 (fory < 0) and P(y < 0*) = % Hence, F,(O*') =

10.2-8 x is a gaussian r.v. with mean 4 and oy, = 3

Hence,

(@) P(x24)= Q(L;i) =0(0)=05
®) P(x20)= 49—;i)= 1-—4—;—) =1-0.09176 = 0.9083

(© P(x2-2)= g(—‘-z—s-'i) =1-0(2) = 1-002275 = 09773

10.2-6 (a) From the sk
Gaussian PDF.

(b) Hence, (i)

etch it is obvious that x is not gaussian. However,

1

2

Fig. S10.2-§

it is a unilateral (rectified) version of

Hence, we can use the expression of Gaussian r.v. with a multiplier of 2.
For a gaussian r.v.

2
py(») = L e/ with oy =4

43‘ 2x

P(x21)=2P(y21) =2QG-)= 08026

(i) P(1<xs2)=2P(1<ys2) =z[g(%)-g(%)]= 0.1856

(c) If wetake a

and rectify y (all negative of y multipled by -1), the

www.free4vn.org

Gaussian random variable y

1
py(y)= YW

-y3132

76

I b (x)

ol x> ,'

Fig. $10.2-6

resulting variable is the desired random variable x.
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10.2-7 The volume V under pyy(x,y) must be unity.
1 A
Ve—(Ix)d=Z=1, A=2
> (1x1) >
Px(x) = [ Pry(x: 9}

But y = —x +1and the limits on yare 0 to1-x . Therefore,

. l-x 2(1~x) 0sx<4
pu(x)=Jg " 2dy=2y =
0 0 otherwise

2(1-y) 0sysl

Similarly,  py(y) ={
0 otherwise

Fig. §10.2-7

Py(xy) __ 2
P == 0 "%

-x 0<x<1

{ /1.y 0<ysi
otherwise

Similarly, pyjy () ={
0 otherwise

Clearly x and y are not independent.

1028 pey()= e &7 P utay)
® pe)= e ™ itey = xe™ i)

2
Similarly, P(y)=ye™” 2y(y)

pr(sly =)= 53‘7—)’1 = xe ufz)

and py(yx=x)= Py -y2/2,,(y)

“rx)

(b) From results in (a), it is obvious that x and y are independent.

(@ +by?-207) /m

1029 px(¥) = 2 Pxy(x.0)y = ;;:75123 dy

=M P2l 12
e LR Sy

2
Similarly we can show that py(y) = 7-1-=e" fa
2ma

Therefore Px]y( )= P:(Z‘;;’) J_ a(x--—y

Py(¥1x) p’: (;:)y) \[— ‘(x-—y

717
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10.2-10 K j: j’j;e'("2 il 2)M = KI:e"z [ j:e‘yz e a)»]dx =1

But I:e‘yz—vdy=ﬁ¢le4 and, K7 j:e-sxzm =K J';( ,535 )=l
Hence, K=-1-J—3_-
Y4
2 2
Xp+ - o 1l 3 _3,2
px(x)=KJ:)e—(’ +xpty )@=Ke x’]’:e y ’ydy=KJ;e 3x4/4 _ ’Z_,;e 3x/4

, 3 3,2
Because of symmetry of pyy(x,y) with respect to x andy. py(y)= yyd 3y7ia

R

Pay (xb) = py(») ¢
and
32 2
x, “la Y .
Py(xly) = —_p:,f(x; ). '” e (‘ ] .‘

Since pyy (%, ) # Px(%)Py( ¥), x and y are not independent.

10.2-11 P, = P(e1)P.(1)+ P(£]0) 7 (0)
If the optimum threshold isa, then

- 545
-5
A

o 2o 20

_ 2 2 _ 2
ar, _ —l—[e’("’ o) 2;? p (1) (4*4) 1 px(o)] =0 Fig. $10.2-11

da 2n0,

_ 2 2 _ 2
Hence, e-(A’ ) 129 P(1)=e (4pva) 120 P,(0)

2 TR0
And a= g’.'_[n[_i(_).]
24, | A1)

- 1 (x-2)'n8
10.3-1 X=2, 0x=3, x)= e
x px(x) 3\[2';

78
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1032 py(x)= -;—|x|e'H
Because of even symmetry of px(x), X=0and
%% = ersz(x)dx = 2I:x2 %xe"'dx

j”’ T ==
x>
Fig. S10.3-2

b (2>

x2 —a,z %2 -a' =3=6
e"'z'z’zu(y). Therefore
=] wpy )y = I:-;—yﬁ(y)dy + I:;:'E;ye
1
- ]27:'[
v =2y p, () = L,—yzﬂ(y)dy 7 —J—f"z’"’zdy

2
® 2 —y2/262dy=_0'__

_757] 2

2
0,2 =y -(3) = = ~(03990)” = 034080”

1 1
-y 120* &

2
® e’ 29 g, 203990

10.3-§ The area of the triangle must be 1. Hencel(=% and px(x)sé(xﬂ) -15x53
Ia 1y3y2‘16416 5 pez)
== Dy =o| 5 - zm|m—— == [
In"”*(’ W= =152 8(3 2) 3 1
< 1¢3.2 (= 2)
K =gl =g T*’s’)_l S
1[81 27 1 1] 1 e
—| —— —— = | 22— N -
gl4 3 4 3] 3 =1 XN
s —2 ;2 11 25 8
e R L. Fig. $10.3-5
o' =% - =3-F =3 ¢

6
10.3-6 x-z;x,P (%)= 36(z)+ 36(3)+36(4)+ 36(s)+36( )+35(7)+
3‘-é(a)+—-(9)~~—(10)+—(11)+ L2)=22=7

—_ 12

X2 = iszzx,'sz(xj) = -3?(4) + 3—6'(9) + -3—6'(16) +§3(25) +§(36)+ 363(49)4.
5 4 3 2 1,
33(64)+35(81)+33(‘00)+?€(121)+?€(’“)=5“3

79
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10.3-7 x" = !
axJZz

For n even, we find from tables
(OXS){n-1)02  n even

0 n odd

10.3-8 Letx; be the outcomes of the ith die. Then,
- l+2+3+4+5+6=_;_ i=1,2,..,10

X; =

" 6
2
‘;;‘__12+22+32+42+52+6 9
' .6 6
2 T3 =235
gy =Xi -(%) Ty

Ifx is a RV representing the sum, then

X= il +-X.2+...+iw = l({-;') =35
2.2 .2 2 _.f35\_175

ox =05y +0x, +.H0L = 10(12)- P

x2 =0l +%? = 3—2—5-+(35)2 =1254.167

1041 py(x)= %6(::) + -;-5(,: -3)

[x"e*' 2% dx. Forn odd, th integrand is an odd funcion of x

1 .2
pa(n)= 2 f=2”e /8

y=x+n

py(y) = px(x)* Paln) = B &(x)+ %J(x - 3)]* 2,[127 e

Fig. $10.4-1

e 1 Ay-nPra e 1 sy )| — ~(y-2)218
=3 Lod(x){T 5= }a& +3 L”J(x 3){—7—'2 o e ]dx

2 _{v_1)?
I L o L

427 42x

10.4-2 py(x) = 048(x)+065(x ~3)

. Therefore x" =0.

and
-, 3 e'(y-'-*)z"

1
Py(y)ngzje 10\[2_;

10.4-3  py(x)=08(x-1)+(1- Q)5(x+1), pa(n)= P&(n-1)+(1 -Q)o(n+1)

pal)= =" 7

py(¥)=[8(y-1)+(1-Q8(y + ] *[PEly -1+ (1~ P)s(y+1)]
=(P+Q-2PQ)8(y)+ PQs(y-2)+(1- PY1-0)8(y+2)

80
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10.4-4

10.5-1

10.5-2

10.5-3

10.6-1

www.free4vn.org

p.(2)= Px(x) * Py(}’)
Taking Fourier transform of both sides, we have

P,(m)se"%‘”z IR

Py(w)= P (w)* Py(w)
P (¢n)=z"’§'”2 e Jo¥

- e-(ﬂi +0? )mz - ja(%+Y)
Taking inverse Fourier transform we get
1 Arenfafeie))
;;2#(0',2( + 0‘3)

Itis clear that Z=X+Yando’ =0% +0,

P2)=
s ——————— D B
For any reala, [a(x-X)-(y -y)] 20,0r a*c? +0% ~2a0,y, 20. Hence, the discriminant of this
quadratic in a must be nonpositive, that is:
c

——xy-‘ <1 or jg<1

OxOy
Wheny = Kjx+K; Hence, ¥= KX+ K3

a'§ = ko2 and oy = (x-X)(y-¥)=(x-X)(Kix+ Ky - KiX-K)= Kjo2. Hence,

403‘, -40,2‘05 <0, thatis,

Txy
o0y

= K,cri/ chri =1 if K; is positive. If K is negative, 0y = K,ai is negative.

Pxy =

Buto, and oy are both positive. Hence, pyy = ~1

_ (2 1 p2n .. —
x=j'o cosap(0)40=zr-jo cosfdf=0 Similarly, y=0

— : 1= 1 f2x . 1 e2x . _
Oy =xy=cos€sm0=5sm20=3 o sm26p(0)d8=z’-r- 5 sin26d6=0

Hence, oyy =X y=0 andx, yare uncorrelated. But x2 + y2 =1
Hence, x and y are not independent.

In this case

Ry = Ry = Ryy =m} = Py

Riz = Ry; = Ryy = Ryy = Ry = 08255,

Ry3 = Ry = Rp = 0562F

Rg3 = 030857,

Substituting these values in Eq. (10.86) yields: a; =11025, a; =-02883, a3= -0.0779
From Eq. (10.87), we obtain

2= [l -(0825a) +0562a; + 0308a3)]P,,, =02753F,
Hence, the SNR improvement is

10log| — 2 — | = 563 dB.
02753,
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Chapter 11

/

11.1-1

11.1-2

11.1-3

11.1-4

This is clearly a non-stationary process. For example,
amplitudes of all sample functions are zero at same
instants (one is shown with a dotted lin¢). Hence, the
statistics clearly depend on¢.

Ensemble statistics varies with #. This can be seen by
finding

x(t) = Acos(ax +6) = 4 j;oocos(ax +8)p(w)Mw

100
= 1-(')% R cos(ax +6)de . This is a function of £.
Hence, the process is non-stationary.

This is clearly a non-stationary process since its
statistics depend on ¢. For example, at? = 0, the
amplitudes of all sample functions is 5. This is not
the case at other values of 7.

x(t) = acos(ax +6)

x(1) = acos(ax + 6) = acos(ax + ) = cos(ex +6) .[_AA ap,(a)da

= [cos{ax +6)/24] [ ada =0

Ry(t).12) = a2 cos{ax, + 8)cos{ax; +6) = cos{ax, + 6)cos(ax; + o)a—2

2
= cos{ax; +6)cosax; +6) ij -;—jda

2
aﬁs-cos(ax, +8)cos{ax; +6)

83
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Fig. S11.1-2

[} t»
L )
>—E—<‘° -

° T
Fig. S11.1-3

XY

Fig. S11.1-4
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11.1-5 x(t) = acos{ax acos(ax +6) = j 0 cos(ax + 6) p(@) do

a a . 100
‘_1560 cos(ax+0)dw=msm(ax+a

0
= =2 [sin(100 + 6)-sin ]
Using this result, we obtain e

2
R(ty,12) = a® cos(axl +6)cos{ax; +6) = g—cos[a;(t, +1)+ 20] +cosaty -12)

200(' oy 2)[sm[100(11+12)+20]-—sm20]+200( e 2)[sm100(tl_,2)]

1116 X(@)=ar+b=a+b Buta=0 Hence, x(t)=b
3 2 4

“_0 22=[a?
Also, a=0, a —jz p(a)das--?_zs-i

R (Il,lz) (M1+b)(&l2 +b) a ’I’Z +a(11b+lzb)+b

= aztltz +ab(1) +12)+b = %t,t; +b?

PR
1117 () x(7)=K=0 [ K-> |
(c) -1 o L8 K,
Ry(t1.12) = KK = K’—j K’p(K)dK=—j (<2dK—— - > T—>
(d) The process is W.S.S. Sincex_(tj =0and R(1.12) = % - ) € pore
(¢) The process is not ergodic since the time mean of each K
sample function is different from that of the other and it is 3
not equal to the ensemble mean (x 0) o t‘_;
< K .
® = RO=3 4 :
o b-:
Fig. S11.1-7
aw
&>
11.1-8  x(¢)=acos(@1 +6) ) ¢q‘ > AT
- _5 _ l :
a=0 a® =3 7/‘\\/ /\\/ /\‘ T
(b) x(1)=acos(w +6)= a cos{w t+6)=0 t>
(© Ry(t1,t2) =82 cos{ah +6)cos(ry +6) /\ /\
1
S{coswc(q -1) +cos{wc(t, +1) +29]} \/ \/ \./ tf"
1 A
= scoswc(q —12)4’—2-;]0 CO{a)c(h —12)+20p3 o~ A~ 5
1 - S V‘t—-.

= -scosm,_.(t, -1)

(d) The process is W.S.S. Fig. S11.1-8
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(e) The process is not ergodic. Time means of each sample function is different and is not equal to the
ensemble mean.

o ;-2—= Rx(°)=%

11.2-1 (a), (d), and (¢) are valid PSDs. Others are not valid PSDs. PSD is always a real, non-negative and even
function of @. Processes in (b), (c), (f), and (g) violate these conditions.
11.2:2 (a) Letx(t)=x, and x(¢+7)=x; Then,
(Xl - 4 Xz)z = X|2 +X22 +2X1X2 2 0, X|2 4‘)(22 21 2x1Xx,
But, x;x3 = Ry(r)and x)2 = x72 = R,(0) Hence, R,(O)Z‘Rx(r)|
®) R(r)=x{)x(t+7), lim Ry(r)= lim x(t)x(t +7)
TR F->0

Ast -, x(r)and x(t + ) become independent, so lim Ry(7) = x(t)x(1 + 7) = (XXX) = x?
f=—pO

112-3 R (r)=0 forr= 15% and its Fourier transform S, (@) is bandlimited to B Hz. Hence, Ry( r)isa
waveform bandlimited to B Hz and according to Eq. 6.10b
[
R(r)= X R"(-ZEB-) sinc (228t - n). Since Ry (E"E) =0 for alln exceptn=0.

n=-o

0 .
R,(£) = R(0) sinc (27B7) and Sy(w) = 51’:—(3—)-rect(-4—%-) . Hence, x(1) is a white process bandlimited

to B Hz.

1124 Ry(7) = Pax, (1 1)+ Pox, (-1-1)- Peyxy (=1 1) = Payx,y (1-1)
But because of symmetry of 1 and 0,
lexz (1' l) = Px,x; ('1"1) and lex; (-1, l) = lexz(l»‘l)

and Ry (1) = 2 Peysy (1, 1)= Payny (1-)] K~ T

"3

NP I I

= 2Px| (])[ szlx, (lll) - Px2|x| (- lll)} ‘.!c.n'rb-“b—- nTb_.

= ZPX) (l)[sz[xl (lll) -(l - szlxl (l|l))] - 2Px2|x; (m) -1
Consider the case nTy <|r] <(n+1)T; . In this case, there are at least nnodes and a possibility of (n+1)

*  nodes Prob[(n + l)nodes] = 1:;IL =an
b

Prob{n nodes) = 1 - Prob{(n+ 1)nodes] == (n+1)- F: ‘

The event(x, = ljx; = 1) can occur if there are N nodes and no state change at any node or state change at
only 2 nodes or state change at only 4 nodes, etc.
Hence, Py, (1) = Probf(n+ 1)nodes] Prob{state change at even number of nodes) +

Prob(n nodes) Prob(State changes at eveen number of nodes)

The number of ways in which changes at K nodes out of N nodes occur is ( ,’}’ ) Hence,

Peg 1) =(7)08)° 04" + (5" }08)" (04)" ... | (L;j.- ,.J+

85

fi
www.free4vn.org oldroad



n 0 n . (n 2 n-2+ n+l-2
(2o (0a)" + (308 (04) ... | [ 1 Tz,)
and R, (1) =2F, , (§1)-1 This yields
12,‘(1')----1—1.2|—;bl <1 (n=0)
= —0.44+0.24-‘7-.? Ty <l <27 (n=1)
conse-o0asll 21 <<3n  (n=2)
T

and so on.

T, 37

d Rx
2 47T
0o ¥8 024
| l g
——, ) E—
-0 2y '°-D¢.
-I-Z
dz
dat*
[+ 44 .

0.0576 T 44 0526
> L
v v
-0,288 -0.288

e}

Fig. S11.2-4

The PSD can be found by differentiating R, (r) twice. The second derivative d*R, / dr? is a sequence of

impulses as shown in Fig. S1 1.2-4. From the time-differentiation property,
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2
’dd_z (1) & ( jo) Sy(@)= -02S,(w). Hence, recalling that &(r - T)ee™/ T we have
T
-028y(w) = i[—z.a +144( 0T 4 g~IoB )- 0288(e/24% +¢7/ 20T )+]
L

= —Tl—[—2.4 +288coswT} — 0576 cos2T, +0.1152cos3aT) +..)
b

and

Sy (@)= ;i:z—[ZA - 2.88(cosw7’b -%cosZaﬂj, + -21?cos3aﬂ}, - l—;—s-cos:%aﬂ;, +)]

11.2-§ Because Sp(w) is a white process bandlimited to B, Rpp(7) = Ry (0) sinc (2Bt) and
n
Rm(ﬁ) =0, n=4%1, +2, 3.

This shows that (7 t+—|=R -f—)=0
( )’{ 23) '“(23
Thus, all Nyquist sample are uncorrelated. Now, from Eq. 11.29,

2 «©
Sy(0) = [Pl [Ro +3 Ry cosm»oﬂ,]

Tb n=l

Ry, =23,8;,,=0 n 21 and wherea, is the kzh Nyquist sample.

Ry = a—{ =xl= R (0). Hence,
2
S, (@)= l-t(-;-:l!— Re(0) = 2BRm(o)|P(w)2| since Tj = 5'—5

11.2-6 For duobinary .
P,k(l)= R, (-1)=025 and F,, (0)=05

— 1 1 i
ay =(l)z+(-l)-4-+({-i)=0
1y 1
=i =07 {0 500(3) 3

Ri=agape =2, O 8k8kstPayag, (ax8x41)
ag Gk
Because a; anda, | each can take 3 values (0, 1, -1), the double sum on the right-hand side of the above
equation has 9 terms out of which only 4 are nonzero. Thus,
Ry = (1)(1)Plglh.l (1’1) + (“l)("l)”n.q.‘ ('1)(‘1) + (l)(-l)Plglkq (‘X‘l) '('l)(l)Plklk,.l ("l)(l)
Because of duobinary rule, the neighboring pulses must have the same polarities. Hence,

P‘k'h—l (l’l) = P‘k (I)Plh,lllk (lll) = .}(-;-) = %

Similarly, Pgay,, (-1-1) =% Hence, R, =‘%

Also Rz =838542
In this case, we have the same four terms as before, buta; and ;. are the pulse strengths separated by one
time slot. Hence, by duobinary rule,

1(1 1
Pagarny (1) = Py (DPy () = ;(z) “l6
PR l
Similarly, Py,q,,, (-1,-1)= %
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1
In a similar way, we can show that Py, o, , (1=1) = Pasay,y (-1,0)= ﬁ

Hence, Ry =0
Using a similar procedure, we can show that R, =0 for n2 2. Thus, from Eq. (11.29) and noting that R, is

2 2 «

o Plo T; .

an even function of n, we obtain Sy(w) = I-P—(T—)L[—;- (1+cosaT} )] = L(?J—cosz (22—") v
b b

T; T;
For half-width rectangular pulse P(@) = —?—sinc (%Tl) and S, (w) = -?—sincz(%l) cos’ (%)

1127 8, =(1)Q@+(-1)(1-Q)=20-1
Ro =1} =()*Q+(-1)’(1-0) =1
Because all digits are independent,
Ry =885, =88, =(20- 1)* Hence,

2 @®
Sy (@)= ‘L(;;’l‘—[l +2(20- I)Z(Zcosnwn)]

11.2-8 Approximate impulses by rectangular pulses each of heights and width & such thathe =1and £ = 0
(Fig. S11.2-8a)

Ry(r) =T T xix2 P x, (xix2)
x x X
Since x; and x can take only two values h and 0, there will only be 4 terms in the summation, out of which

only one is nonzero (corresponding tox; = h, X3 = h). Hence,

Rx(f) = hz PX|X2 (h’h) = hz PX] (h)szlxl (hlh)

Since there are @ pulses/second, pulses occupy as fraction of time. Hence,
2

P, (h) = az and Ry(r)= K aefy),, (M) = ahP,,y, (Hh).

Now, consider the range|r| < &. Py, (Hh) is the e

Prob(x; ) = h,given thatx; = h. This meansx; lies on one f‘m ﬂ H ﬂ

of the impulses. Mark off an interval of 7 from the edge of . . = 1] LI
this impulse (see fig. S11.2-8b). If x lies in the hatched <-

interval, x, falls on the same pulse.
Hence,

Py () = Prob{x, liemmehuchngion)sf-;l-=1_1 €-T — o

and Rx(r)=a.h(l—-:-) E

Since R,(r) is an even function of r, R (r)= d{ - 1:71)

. vevad

In the limit as £ = 0, R,(r)becomes an impulse of strength . Rx(®) @
R (r)=ad(r) |d=0.

When 7 > &, x; and x; become independent. Hence, > .
Pegin (0) = Py () = 2 ,
R(r)=a*he=a® = |f>0
Hence, R (1) = ad(r)+a? Fig. S11.2-8
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11.2-9 In this case the autocorrelation fanction at 7 = 0 remain same as in Prob 1 1.2-8. But for r > 0 whenever
x(t), x(1 + r) are both nonzero, the product x(r)x(z + 7) is equally likely to be h? and —h%. Hence,
R (r)=0, T=0and Ry(r)= ad(r)

11.2-10 The process in this problem represents the model for the thermal noise in conductors. A typical sample

function of this process is shown in Fig. S11.2-10. The signal x(r) changes abruptly in amplitude at random

instants. The average number of changes or shifts in amplitudes are 8 per second, and the number of
changes are Poisson-distributed. The amplitude after a shift is independent of the amplitude prior to the

shift. The first-order probability density of the process is p(x:1). Itcanbe shown that this process is
stationary of order 2. Hence, p{x;?) can be expressed as p(x). Wehave

Ry(7) = [ [ x1%2Payny (X1, %2 )00

=" J: x,%2Px, (31)Px, (%2}t = %1 iz (1)
To calculate py, (x2|x1 = x1), we observe that in r seconds (interval between x, and x2), there are two
mutually exclusive possibilities; either there may be no amplitude shift(x, = x; ), or there may be an
amplitude shift (x5 # x;). We can therefore express Py, (%2 = xy)as
Px, (%2lx1 = x1) = Py, (¥2lxy = %1, RO amplitude shift) P(no amplitude shift) +
Px, (2[%) = x1, amplitude shift) P(amplitude shift)

t t+T
| RS

- — T
o *2  Fig, §11.2-10

The number of amplitude shifts are given to have Poisson distribution. The probability of k shifts
in r seconds is given by

k ,
pu(r) = E- et

where there are on the average shifts per second. The probability of no shifts is obviously po(r) , where
po(r) =P
The probability of amplitude shift=1- po(r)=1-€7P . Hence

Px, (xa2lxy = x)= P Pxy (x2]xs = x;, no amplitude shift) + (l - e'p’) Px, (xaxy = x;, amplitude shift)

_ ' v}
when there is no shift, x; = x,and the probability density ofxy is concentrated at the single value x;.
This is obviously an impulse located atx, = x;. Thus,

Pxy (x2[X1 = %1, no amplitude shift) = 8(x3 —x1) 3
whenever there are one or more shifts involved, in general, x # x;. Moreover, we are given that the
amplitudes before and after a shift are independent. Hence,

Pxsy (xz‘xl = X1, mplimde Shlﬁ) = Pxy (xZ) = p(x) )
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where p,, (x;) is the first-order probability density of the process. This is obviously p(x). Substituting
Egs. (3) and (4) in Eq. (2), we get
Pxy (x2|x] = xl) =e ﬁts(xz -x) ""(l € )Px2 (x2)

= P [a(ey - )+ (¢ - )y (52)

Substituting this equation in Eq. (1), we get

x(r) = p'r I x| X2Px, (x,)[a(xz —x|)+(e ‘1 sz (xZ)}tldxz
= e‘ﬁr[-[:.[_oxlxszl (11)3(xz = m)diy + [ [ xma(e” - e (21)Pny (3 )dx'dxz]
= e-pr[ﬁxlszu ()t + (e =) sy (i) [ 32 (32 )dxz]

= e'ﬂ’[;(7 + (eﬂ’ - l)iz]

where X and x2 are the mean and the mean-square value of the process. For a thermal noise X =0 and
Eq. (5) becomes

O]

R(r)=xeP" >0
Since autocorrelation is an even function of r, we have
R, () = x2¢~ P
and

22

7+ o

Sy(@) =

11.3-1 For any real numbera, (ax - ¥ 20

a? 2 + y - 2axy 20
Therefore the discriminant of the quadranc in a must be non-positive. .Hence,

(ny) <4x? y or (xy) < x2 v
Now, identify x with x(r;) and y with y{r,) , and the result follows.

11.3-2 Ry(7) = uryu(r + 7) = [x(t) + y()[x(t + 7) + ¥{1 + 7))
= Ry(£)+ Ry(r) + Rey () + Ryx (1) = R () + Ry (7)
since x(¢) and y(r) are independent.
Ry(7)=[2x(r)+ 3y(l)12x(t +7)+3y(t+ r)]
= 4R, () +9Ry(7) since  Rey(r) = Ryx(r) =0
Ry (7) = [x(1) + () [2x(¢ + 7) + 3y(e + 7)) =2Ry(£) + 3Ry (7)

Ryy(7) = Ryy(-7) =2Ry(7)+ 3Ry(7)

113-3  Ryy(r)= ABcos(wgt +¢) cos[nwo(t +1)+ n¢]

= -';—B{co{mot +nwg(t+1)+(n+ l)¢] + cos[nmo(t +1)-og+(n- 1)¢]}
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11.3-4

11.4-1

www.free4vn.org

co{a)or +nwg(t+7)+(n+ l)¢] = -il-’;j:' cos{mo: +nat +’¢') +(n+ l)¢]d¢ =0

Similarly, cof nwo(t + ) - @ot +(n - 1)¢]=0 and Ryy(r)=0

x(1) = C, + 3. Cy cosna(t = b)+6,

n=|

©
=C,+ ZC,,(nwot -nagb+ 0,,)
n=l

Since b is a r.v. uniformly distributed in the range(0,7,), @ob = -2;,’52 is a r.v. uniformly distributed in the
b

range (0, 27).
Using the argument in problem 1 1.3-3, we observe that all harmonics are incoherent. Hence the
autocorrelation function of R, () is the sum of autocorreiation function of each term. Hence follows the

result.

(@) S;(w)=2KTR, and Sy(w) =2KTR,
Since the two sources are incoherent, the principle of superposition applies to the PSD.
IfS,, (@) and So, () are the PSD’s at the output terminals due to S; (@) and Sy(w) respectively, then

50, (@) =|Hi(@) $i(®) and S,() =|Hz (o) S2(0)

where
Ry | joC Ry
H,(w) - Ry +1/ joC - JoR,C+1 - Ry = Ry
R joC o . R R(jeRCH)+R JORRC+ Ry + Ry

1+ . 1+
Ry +1/ jaC JaRC+1

© > . —
S Rig R RR+RR
«
R Rg C Vo c v, 1T
(b)

oY

(a) (c)
Similarly, Fig. S11.4-1
R R
H. = ] =
2(0)) Rz(ja)R|C+l)+Rl JOR R C+Ry + Ry
_ 2KTR R} 2KTR, R}
So(@) === 7 ad Sp(@)=—5—=—33 2
o R| RzC +(Rl+R2) @ R‘ ch +(Rl+R2)
Svo(m)=sq(“’)+soz(w)= 202 p2 2 2 .&-R-a'-
o RI ch +(R1+R2) . R, Ry c
1/ joC R +R, = VY
(b) Hw)= == AKTR,R
(@)=~ Ry~ JaCR R + R+ Ry) 2ETRR,
j(lC Rl+R2 R"!- Rz )
2| 2KTR R:
So = M0V | Ty
v = |HO) R TR,
(R1+R2)2 '2KTR|R2 _ 2KTR1R2(RI +R2)

DICRIRE +(R+ Ry RitRe o RIREC+(Ry+ R,)?
which is the same as that found in part (a).
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1142 y(r)=[_ Ha)(t-a)a
Ryy () =x(t)y(r+7)= "(’)I:, Ka)x(t + - a)da
= J: h(a)x(t)x(t + 7 - apa = I: Wa)Ry (7 - a)da = h(z)* Ry(r) and Sxy(@) = H(@)Sx(w)

1

jaC 1
In Fig. 11.13, H{@)=—{—=—=-
R+ .1 JwRC+1
jaC

and Sy, (@) = 2KTR/(j@RC +1)and Ry (7) = 2KTR e*/RCy(7)

11.4-3 (a) We have found R, () of impulse noise in Prob. 11.2-8

R,(7)=ad(7)+ a?,and Sy(w)=a +27a8(w)
Hence,
Sy(w) = |I-I(¢u)|2 [a + Zzazé(w)] = ZItale(O)lz &(w)+ alH(a))I2

and Ry(7)= g-l[Sy(m)] = ¢22|H(0)|2 +ah(t)*h{-7) . v
®) Hr)=L.e"ulr). Hlw)= 1. ! 1 .
' jo+ p

2 - 2 2
2 - aq -
|H() = q2 5, and R(f) = @%¢* +a ‘[ qz 2]==azqz+--—2r W

Y e PR

1 [ —=

’ h(r)

Fig. S11.4-3

11.5-1  n(t) = ne(r)cosw,t +ns(t)sinw, !
The PSD of n(t) and ny(t) are identical. They are shown in Fig. S11.5-1. Also,

- 4 ‘.
S,(@) ,and is given byn? -2[22“-x1o‘ +‘—g—(:;’--%)]= 125x 10 S

n%(or n}) is the area under Sy, (@), and is given by ng =nl= 2[5000JU + %% x 5000] =125x10° N

n! is the area under

' L3
NS

LY

\
.. »
s ® - - -

~S5k Sk Fe i3d>

N\

Fig. S11.5-1
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11.5-2 We follow a procedure similar to that of the solution of Prob.
11.5-1 except that the center frequencies are different. For the

3 center frequencies Sy, (m)[or Sp, (@) ]are shown in Fig.
S11.5-2. In all the three cases, the area under Sp,_ (@) is the
same, v1z., 125x10* . Thus in all 3 cases

n2 =n2 =125x10°W

N™ J %
XK ! .
i % Nl £
-10K | Bk tom -k ) ok ~lok 5K BR  lom IBK
fHy > 57 H3 > £y =

Center {veq . 105 k. ceritey freq- 95 R Center freq- go K

Fig. S11.5-2

1153 () =n2(r)=n(r)= 2[-x10‘3xlooxlo3]-loo

- t;. S (D)

ot I

0.5;4&8. : ;: —_ Fig. S11.5-3

6

. Sm(w) =_b.’.L2—— 6 = !
154 @ Hoplo)= 50050 L6 602+60 @l+10

9+
! .e'mi‘l
2310

(¢) The time constant is 7:-6 . Hence, a reasonable value of time-delay required to make this filter

(b) hq,(t) =

realizable is 7::? = 0.949 sec.

(d) Noise power at the output of the filter is
N, = j“"’ Sm(@)Sa(®) i = 1 tan~! -2 © 3
279 Sp(@) +Sp(@) 2870l + 702 ;r:/-l 0lw V10
The signal power at the output and the input are ldenncal
Sf = S,, ——‘dﬂ) =1
-9+ 02

SNR=-2 s° ‘[‘_6=1.054
N 3

[
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1155 @) Hyp(@) =

www.free4vn.org

4
Sm(®) = ’+4
Sn(@)+Sp@) _4_, 32
0? +4 w* +64
o?+64 1 5333
2 L e
9w’ +96 9| o +1067

®) hoplt) = %5(:) +8.163¢7325

(¢) The time constant of the filter is 0.306 sec.
A reasonable value of time-delay required to make this filter realizable is 3 x 0.306 = 0.918 sec.

(d) Noise power at the output of the filter is

1 Sm(‘”)sn (a’) i 32

1
= — w=—| ————de= 0544
° " 2 9= S (@) + Sp(@) 27 L" g(a,z + 10,57)
The signal power is
h
Si=sa=-l" c—;de=l o)
279 4 + 2
So 1 1838 = ——
N, 0544 of —>
Fig. S11.5-5
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Chapter 12

S S;
12.1-1 Wﬁj=y=—'§, N=2xSy(@)=2x107%, ssz"—”uoooaz.
=1000 = = S, =008
’ 2x 10'“x4ooo !
Also, H (@)=10"3. Hence, Sy = Si___gx10*
|H. (@)
s,=51—p[2xsooo;r]=sxlo‘=p=1o
12.12 l Sen(3 niLd -3
-3 : 10 m () +n (£
ML'E) (w) ) Hd_ Jeorx| = '\g( )
- T . s = —
« % > JO+ed X
Fig. S12.1-2

s,.°<w>=sn<w>|ﬂd(w>|’=1o-'°[”—’if‘iz—] a = 30007
:

_lga, -1 o? +a? 107°(a® 5 Yo _32
No'ﬁjolo ( = =" 3+am0 3><10

=S, =337x107

S,
35dB=3162=_.—a-= 0
No 232_,“0—7

1073
But s,,(t)=—;—m(t). Hence,
S, =19-m2(z) 337x1073 = m? (1) = 2157 x10°
a
me = Be - 9
Also, m =5-;L°,Bdm= — = 80008 215710

Hence, = 2696 x 10° and Spp(o) = 2696 x 10° rect(%)

1 fa 2 1 (a o[ 10°
S =— Iy Sml@)|Hc(0) do=— [ 2696x10 (mz e }m

=26.96'“_12 2696 =268x10~4
arn alo T4a

1 (a 1 (a 6, 2696x10°a 9
Sr -.-;jo Sm(0)do=— J 2696x10 do = =———— = 6865x10

S, S, S;
12.2-1 (a) 30dB=1000=—%= =—L = =S, =4x1074
@ N, T =B 1070 x 4000

[

(b) From Eq. (12.7), N, = B = 10-19(4000) = 4 x 107
© S =|He(w) Sy and 107857 =4x107" = Sp = 4x 104
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1222 (8) %’-=1ooo=£"—- Si =5 =4x107*

o MB 10719 x 4000
() N, =NB=10"19x8000=14x 10”7
© S; =|Ho(@) S7 = 10857 =4x10™ = 57 = 4 104

12.2-3 Let the signals m;() and my(7) be transmitted over the same band by carriers of the same
frequency (@, ), but in phase quadrature. The two transmitted signals are y/2[m;(¢)cos@ 7 + m, (¢)sin wct]

Vaetes O, T V3 st
nted M )0 )

L PFl——

 mgl)+ 0y (D

tPF——

Va sined, t V2sinat

Fig. S12.2-3

The bandpass noise over the channel is n (t)cosw t + ny(r)sinwr. Hence, the received signal is
[ﬁml (O)+ nc(t)]coswct +[J§m2(t) + n,(t)]sin ot

Eliminating the high frequency terms, we get the output of the upper lowpass filter as my(f)+ 715- n.(r)
Similarly, the output of the lower demodulator ism; (n)+ 7]-_; ng(7)

These are similar to the outputs obtained for DSB-SC on page 535. Hence, we have -1%9- = y for both QAM

[/
channels.

1224 @) p=i"-'(ilm=ff- Hence, m, = 4

) 2 2 m2
® _‘&_._l“__.rg_ln y = 2# XA wherex? = =i
No 24m? mp2 -3 K" +u m?
-—2-+m
H
2 m; S 1 -7
(¢) For tone modulationx® = —5 =2 andforu=1, —L=—y="=
,,,p/z N, 2+1° 3
2, m? m2+;n_i m,?
@ RatioSL = A2 o P =Bt 1k if k2 >>1
St m? m? m
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5, .2 m: (30m)’
12.2-5 (a) From Prob. 1224, —2- = 5 7. For3c-loading, m , =30 pandx? = —5 = "—3—=9
N, x? + U m? Om
S 1 r
and wh =], 2L =—r0
enu=l N, "9 10

(03
Wh 05, Se. o 22
(®) When#="2 N, 9+(05)> 36

12.2-6 For tone modulation, letm(f) = u4 cos@,t . For BSB-SC,
¢ nsa(f) = V2phcosw ut -cos !

= %[ws(a’c + @)t +cos{w, - mm)’]

;lez #2A2 2A2

_ _H

5=t and m), = T T—J-;M Hence, the peak power
2 S S S

S, =(2ud) =242 42 d——°—=='=———hs--s

p=(V2ut) =24 Al and S =y = Sp =g WIS

For SSB-SC

ssa(f) = m(t) cost + my()sin@f
= pACOS Wt COS@ I + UASIN Dyt SIN Dt = pAcos(w, - W m )t
2 42 S H Az Sp

A S,
S,-.—.-‘i?—and mpy = pA. Hence, SpsyzA and WL’”IB‘?JE':M
o

For AM
¢ u (1) = A1+ pcoswpt)cosat
2 2 2 24
S,-=-A—+m_=i_+ﬂA
2 2 2 2
= A(1+u)and Sp = A2(1+p)2.
Hence,
2 -y 2
Sp(2+4?) s, m? 22k s [ Sp(2+4?)
= 3 and ——:———-=y= 2 2 .2 - — 3 3
4(1+ ) No alsmd A2 +(pPA2f2) NB \2+4% ) 4(1+ p)° B
Under best condition, ie., for u =1, S . Sp
’ » 10AB

Hence, for a given peak power (givenSp) DSB-SC has 6dB superiority, and SSB-SC has 9dB superiority
over AM. These results are derived for tone modulation and for 4 = 1(the case most favorable for AM).

12.2-7 For4o loading, m, = 40, and the carrier amplitude A = mp = 40y, (for u=1). For Gaussian m(z),

m? = o2, (assuming i =0)

Prob(E 2 A) = j" By 5,210 gp_ = 41200 =001
2 2 2,2 2 .
Hence, A _3%m . 4605and S; = A”+m =1£.°'_m_+.£2a=_ll.agn
202 o? 2 2

2
Therefore, ¥ Thresh = jl'B = ﬂ-gﬂ = 1—7-( jB )s -1-;-,-(4.605) =9.79dB
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12.3-1 %’— ~28dB = 631. Hence,

o
S _631= 3p’r g
N P

(3 m)

Therefore, ¥ = -6-3-1'-2"—3 = 47325

(a) Also,y = -5; = §; = y AB = 47325x2 % 10710 x 15000 = 14197 x107

p. 1) kfmp kf(30’m)
= = 000
M B= 2 > =2 30, = kfam 20,0007

S, =a’k} m2(7) = azkjam—(w"‘) (20,0007)* =4n

© N, --§— 0.0199

123-2 mp = B, m;, = ﬁ and bandwidth = -3— Hence,
T, T,

(So/No)pyy _ (27xYT,)'B? _3a?
(So/No) g H4BIT,) 4

12.3-3  m(t) = cos 3wotandmy =1
. 2 N 2 )
) = 3w, cos’ @, tsinw,t and #(t) = =3w,|@, cos @ ot COSW ot =20, COSW 1 SIN” Wo!
For a maximum

()= 0. This yields cos? @t = 2sin? wgt

orl-—sinzw :=2sin2cot==»sinwt=l cosmt:Jz
0 ) ") 7;’ 0 3

and
my = ‘-30)0 cos? @t sinmot‘ = 30), ?-I%-) = 72-=w,,
(SolNopy Gl S0 o
2 =
(So /NO)FM 3m}, 3(%‘”02
1234  m(t) = a)cosw ! +ay COsl, mp =ay +ay
1) = ~(ay@ sinwyt + @303 sin wst), my, = a,wl +ay0;
2
(so/Na) PM _ (Zﬁ) a’%(al +ay)
(So/No)FM 3”! 3(010); +azw2)2
mzaz(l +—J—)
= 2
3w§az(1 +_L_!2.)
98
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) (1+2)?
31+0)

12.3-8 Error in this problem. There should be 472 in the denominator (see below).

12.3-6

12.3-7

S,4(®) = @*Sp(w). Hence,

[ ([ aeg = [t rsaogl o] 5

From Eq. (12.42a)

— _[ sl _ 1 [ ko)) a
R Tsaa ) A% [ ()

These results are true for a waveformmf{z) -

! 2
& e _E_
Ezsﬁn(f/lfo)u _ °Lol+fzk
© —dx

I:l"’(f/fo)Zk df faI—Q]+x2k

2

dx

3

S

)

~

”

5
N
Sm
L]
~—rt

w
- - B
WN!N
b
~——’

[
~

)
n
k
2 sm(zk)

The definite integrals are found from integral tables.

2
o Sn(3a2k) 7 ° (3x/2k) 3/

Ask = ®, Byl =

(w) ‘(0‘ e ? 21202 , m _zr" 2 Lo 21202 do=2
O’

Hence, the normalized PSD’s is 3‘2‘2—(" 1o’
o

— —— 3 2 .
If W =278, then W? = (21B)" =2[ -2“-’—2c‘°' 126 4oy =202 1f p(W)is the power within the
o .
band-W to W.
p(w)=2j'0w @ !-m2/2¢2dm=2[l—e-wz1202],
p(w) = 2,and ”( AV) _ | _-Wnd’ 099 W=3030, B=04820

A=)
W) _ 095 W=2450, B=03950
)

AW)
)
w2

x=099 =5 =3060% > W2 = PM superior

=09= W=2l150, B=03420
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w2

x =095 —3—=200¢7 = W2 = PM and FM equal
W2 <2
x=09 =5 = 1540% < W? = FM superior

12.3-8 m{t) = a, coswyt +a; coswyt, and
2 2
Sal1) = S8l - R+ 8L + R+ {8 - f)+ U7 + )]
x-n—2-=rsm(f)df=(a|2+a§)l2
2
2-(I" = r2sal )= = 2 [ s +£zlL} _adsiradst

2 2 aj +a2

3(01 fl +02fz)

Since B = f5,PM is superior to FM if fz 3 )
1 +a
2
hat is. if /4 a)’ (fl/fz) 1 orifiexty? < 12X
(ar/az)’ +1 °3 3
S, aom? 1o o 2_.2 g Loy
12.39 (a) W--.—:;p y._T—_-a-ﬁ y. Sincem, =30, m® =0 and234dB=2138, 218.8-§ﬂ r—3(2) y
o mp

=164.1. Also, 7 Tnesh = 20(f+1)

So Brhresh -L:%l-l- 721

_ 2188x3
r=""73

So . %ﬂzr - —(721)2(164.1) _2844=3453dB (40 dB =10,000)

N,
S, 1, 77-,,-20) 12x10’
b) 2=~ = 10,000 o -20)" = = y=2425
) 3 387 = 3( T R r (v m -20)° y
Required increase in 7=-2%‘2z’5-=1479 17dB
l 1
12.3-10 From Eq. (12.40) —_—
3 l+( 2/m’,)
(1) Tone modulation ,82=l( ! ):ﬂ—047
3\1+05 )
(2) Gaussian with 30— loading £ Y 1 1 g=o0s47
; 3l1+1/9
(3) Gaussian with 4 — loading Vs = p=0s6
3\ 1+1/16
m?
where For tone modulation, —2—=05
mp .
-n? o? 1
For Gaussian modulation with 3o - loading, —5 =——5 =&
m, (3a)° 9
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12.3-11 Let us first analyze the L+R channel. In this case, the demodulator output signal, when passed through the

2
°t’4“; [see Eq. (12.33))

0-15 kHz (lowpass) filter, is given by (L + R)' +n,(f), whereS, (o) =

When this signal is passed through the de-emphasis filter Hy(w) = jwa:»la) , the signal is restored to (L+R)
1

and the output noise power N, is given by

2.2 2
1 ¥ 2 N W ojo Ao a W
N, =—| |Hg(@) Sy, (w)dw = ~—do = W-wtan  —

Let us now consider the (L-R) channel.
Letw, =27 x 38,000 and @, =27 x2100.
The received signal is FM demodulated (Fig. 5.19¢). The PSD of the noise at the output of the FM

demodulator is Sp,_(@) = Naw? / A* [see Eq. (12.33)] The output of the FM demodulator is separated

into(L + R)' over 0-15 kHz and (L - R)' cosw,t over the band 38+ 15 or 23 kHz to 53 kHz. Let us consider
the signal over this passband, where the noise can be expressed as nc(f)cosw t +ng(r)sinw,t. The signal

is(L- R) cosw,t. Hence, the received signal is [(L -R) + nc(t)]cosmc +ng(t)sin@ r. This signal is
multiplied by 2 cose .t and then lowpass-filtered to yield the output(L - R) +n¢(t). But
N 2 2
S, (0) = So(0 )+ Sp(0-00) = (0400 +(0-0:) ]

@)
jo+aw

When this signal is passed through de-emphasis filter Hy(w)= ,the signal is restored to (L-R) and
1

the output noise power N is given by

o1 ? N # 2 2)_of
W3 =LY |Hl0) 5o (o) = 25 [ @+ 00 +l@-00) |7z do

2 2 _ 2
ofly, oo an' | w=27x15000
4 o) @]

Hence, the (L-R) channel is noisier than (L+R) channel by factor-ll:,-,-?- given by
o

2 2 2 2
2 W+Mm'll 2 B+um"£
N o) @) h N

W-o tan” | — B-fitan™ | —
: o} : h
Substituting B = 15,000, f, = 38,000, f; = 2100 in this equation yields:

-l-;,-q'- =166.16=222 dB.

]
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1241 L=M"=n=logyl
Se

2
m-(t
No m?

=3 MZ“(.TE_]
2
Mp

12.4-2 So. =55 dB = 316200
(]
For uniform distribution

m? = L m*dm
2mp —mp

2
(a) 316200 = 3(2)2"[-‘1‘-2—]
m

P

_ 3(2)2n(_;_) pYL

2n=18.27
Since n must be an integer, choose n = 10 and L=1024

() -SNL =3(2)% % = 1048576 x 10° = 60.7 dB.
a

Bpcpy =2nB =90 MHz (assuming bipolar signaling)

L XOIN
amp
Fig. S12.4-2

(¢) To increase the SNR by 6 dB, increase n byl, that isn =11. Then the new bandwidth of transmission is

22 x45=99 MHz.

1243 S =2BnE,, E,=2x10", B=4000, n=3

S; =2x4000x8x2x107° =128
=S, 128 =256x102
NB  2x625x107" x4000

QUL:) = V32 = 1569 x107°

B,, = nB = 88000 = 64 kHz (assuming bipolar line code)

2n )
2
(2 %g-= %) [mz}
° 1+4(22"-1)QUZ) Mp
n
’25 -5
WhereJZ= 4 = 2"2"]0 7 = zég=
n N 2x625x10” 8

So, Se. X2) (-l-) =21845=434dB.

Ny 1+4(2‘°-1)Q(J§5) 9

(b) If power is reduced by 10 dB, theny =256, o(v32 )= ©(179) = 00367 and

S, " N.9o7=
No—l+4(216—l)Q(\[3_.2-)(9)_227 356dB.
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The table below gives SNR for various values of n under the reduced power.
d)

" ) 3 3 —5 3
SolNo | 722dB [ 117006 | 10.97dB | 8.36dB | 6.35dB

Hence, n = 3 yields the optimum SNR. The bandwidth in this case is B,, = 3x 8000 =24 kHz.

12.4-4 1~ Pz = P (correct detection over all K links) + smaller order terms
=(1-B)Y (- R) 2= (k- )R J1- B2 1- P~ (K-D)Fe
So Pg = P +(K-1)P,
(b) y=25dB=3162, y=23dB=1995

P, = O({3162/8) = 0(6287) = 16 10710
P = O{/199.5/8) = 0(4.994) = 3 1077

Pp =99x16x107104+3x1077 =316x107 = P

12.4-5 Fn-lsj:mpm(m)dm-j:mldm=-§

— 2

m? =j:m2pm(m)dm=r m —dm-—"s—

a'?,, = m2 —(m) = -3—

5, o m/my’

No [n(e)f (@m/mp2y+@ml/ wmp)+ 1/ u®)
I r}

) il 6383 "y

= 2 3 = 2

(In256)" Om, A, L Im 40006871 +153x107°
mp 255mp  (255) L mp

12.5-1 As noted on Pg. (570), the optimum filters for DSB-SC and SSB-SC can be obtained from Egs. (12.83a)

and (12.83b), provided we substitute %[Sm(w +o.)+Sp(w-o, )] for S,(e) in these equations. Let

$n(@) = 2[Sm(@+ @)+ Sm(@- )]

1 a? . P
2| (0+w,) +a® (0-w,) +a?
az(a)2 + mg + az) a=3000x )
(mz +mg +a2) —4020)2 @ =2xx10°
We shall also require the power of Sm(®)-
I= —r Sm(@)do
We can simplify the evaluation of this mtegral by recognizing that the power of the modulated signal
m(z) cos ¢ is half the power of m(z). Hence,
o
1=—— S =—— 0@’ .82 e 2
I m(w)dw wz +a2 @ 2 aio 4 ( )
We shall use the PDE system shown in Fxg. 12.19
103
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(a) For this system
STan(a’)/gm(‘” G)

e e,
Feel ey

‘HP("’)F

Because H.(o) and Sp(@) are constants, we have

y(of - SriEale) _ 10/ {Bal@)
o)y j:J?@_)dw

where S, (o) is found in Eq. (1). Also from Eq. (12.83b)

|Ha(o)’ = G [oBnl@l _10%); VSmle)de @
AN TS Ea@)  10°/{Eml@)

(b) The output signal is Gm(r) . Hence, S, = G? 2(t)
We have already found the power of m(t) to be 2(a/4) = 2. Hence
Ga (10‘2) (30007) 3.

2 2 20
To find the output noise power N, we observe that the noise signal with PSD S,,(@) =2 1079 passes
through the dc-emphasis filter Hy (@) in Eq. (4) above. Hence, §,() the noise PSD at the output of
Hy(w) is

S, =

2x 10"6{: Sp(@)dw

Sal =San(w2= -
o) = Sp(@)Ha(@) @

2 5 ©
Also, the output noise power is nc(r)/v2 and N, = 259- [see Eq. (12.6b)}, where nZ=n’= %j’o Sp(@)dw
s, __ 3 37

i—ff,(m)dw le: §,(@)do

and

12.8-2 Similar to Prob. 12.5-1
B’m?
12.6-3 The improvement ratio in FM is , where

15 fJ—n-(74f]
m —2]0 Sp(@)df = jopayszap and f, % ¢ JSml@) =], fJ‘df_J‘f f_

Hence, the improvement ratio is
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Chapter 13

13.1-1
' aufFUf 94"“0(
bLed p (&) output of 2 b L) filter matehed
A nbut ATLT © w:é. Hf’LD ATo +o b(t)
T, t= ™ T 2T, t*
@ ® @)
Fig. S13.1-1

For the integrate and dump filter (1&D), the output is the integral of plt). Hence, att = Ty, po(Ty) = ATp.
If we apply &(r) at the input of this filter, the output h(t) = ult) -t - T3) -

Hence,
H(w) = Tysinc (-w—zr-'t)e'j"m 2
and '
n2(1)=-‘—‘["° Z1dsinc? (25- ©
o\)=glw’t
= ___b_dlzT -};j’: sinc? (x)dx = ~w2n
and

This is exactly the value of p2 for the matched filter.

13.1-2 The output p,(r)of this R-C filter is
p,(l)=A(l—e"/RC) 0<1s7, <
-1,/RC\,~(1-TB)/RC A .
= A(l-e b/ ),'(' )/ t>% . 1 % 2Tb t
The maximum value of p,(¢) is 4, which occurs at 7

Ap = Po(T) = A(l"e
1 N do N

W g o, e - Ny

“B/XC)

02=—~-—- =
nT o 29®14+02R2C? 4RC
and
) 2 _.~N/RC
p=fL=4ARc(l e )
a2 N
2
RC
_ 44T, (1-"WFC)
N T,/RC
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We now maximize p* with respect to RC. Letting x = T,/RC, we have

2
2 1-¢7*
pz___4A 7},_( € )

N x
and
dp? 2xe""(l - e"‘)-(l - e") ‘
& ) =0
This gives
2xe F =1-¢7* or 1+2x=¢€*
and
1 126
x=126 o —_—
' RC T,
Hence,
2
P = (0 .816)2—'4-&

Observe that for the matched filter,

; 2 __2_ T _ 2 __Ep+Eq-2qu
1321 fiu = u\!IO [P()-q(r)] dt = 2
The energy of p(r) is T times the power of p().

Hence,
2 2
- 2.2 2
=A(1 m) +Am ATy
2

Ep

2
Similarly, E, = "—271’- = Ej

qu = g.bp(;h(;)d; = jg;’ [-Az(l -mz)c:os2 wt+ Am? sin® wcl] dt

A2 2,2
=—-5-Tb+A m-T,
Hence,
442T3(1-m?) 8E,(1-m?)
mx T o
and

13.2-2 Let C, be the cost of error when 1 is transmitted, and Co be the cost of error when 0 is transmitted. Let the
optimum threshold be a,, in Fig. $13.2-2. Then:

Ap-a,
C1=C|oP(€|m")"CloQ( pa 2 )

Apta,
a'n

Co = Co1 P (€jm=0)=Cy Q(
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The average cost of an error is
C=P,(1) G + Py(0) Gy (1)

If Py (1) = Pry(0) = 05
1 1 A, -a A, +a
C=3(C +Cp) = 'Z'[CIOQ( Pa,, : )+C019(—£;;—°)]

For optimum threshold dC/day = 0. Hence, to compute dC/dagy , we

observe that p(l‘\O) P el 1)
olx) = 1_7;71;,,-y2/zdy / é S~

- A? Xy AP Y-

and
dQ 1 -x2/2
—_==- e Fig. S13.2-2
dx JZIK ‘e
Hence,
[ 2 2
(4p-a0) (4p+40)
dC 1 202 202
—_— Cipe n -Cge n =0
da, —Tzan o |10 01
Hence, )
(4p+ao) _ (Ap-3,)’
Cu_,l 202 207
Cio
and
2
In (91)“ and g, =20 in [gm_]
Cio o? 24, |G
But
NE
ch=—> wd 4=
Hence,
N C
=—In =01
9o =% [c,o]

13.2-3 We follow the procedure in the solution of Prob. 13.2-2. The only difference is Py(1) and Py, (0) are not

0.5. Hence,
C = Py(1) C; + Pm(0) Co = Pm(1) Cro Q(Apa'ao)+ P (0) Co Q(Ap;ao)

and
("P"'v)2 (‘p*"olz
dC ! Y T 20k
Lo P()Coe 2 -pm0)Cyue 2 |=0
by i (1) Cio Pm(0) Cot
Hence,
In [Pm(o) Con]= 2a94p = ap =_9‘.2._|n [Pm(o) Co:}
Pa(1) Cro ol 24, | Pu(1) Ci0
107
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But
AE
on=—5 andd, = E,
Hence,

Qg =
4 Py(1) Cio

125 P(ﬂ"%) P(l"lm l)

Fig. S13.5-1

'(’*Ep) / 2"nW

Plrim-y) = —7=

e-’z/zo'% \ 0-’2' —-JlE_p

] e’("Ep)z/z"zn
an‘/ﬂ J

The thresholds are+ £, /2 and

Aet)-2 2222l 2
Heim) e} 22} o 32

sl 4]
3]

13.5-2 Here, p(t) and g(r)are identified with 3 p(¢) and p(z), respectively. Hence,
H(@) = [3P(-0)- P{-a)fe7*B = 2P(-0)e" /o

Ke) = 20(% 1)
1 ]
a5 =3[ Esp~ Ep|=2[9E, - E, = 4E,
But multiplication of 4{t) by a constant does not affect the performance. Hence we shall choose /{r) to be
p(Ty ~ 1) rather than2p(T; ~1). This will also halve the threshold toa, =2E,,. This is shown in Fig.
S13.5-2. Also, '

and

Epg = jor” [3p(0)]pl(e)at =3,
108
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13.5-3

13.5-4

and

o= JE,+E,-2£N ) Jﬁspwp—wp: !:15_,,_
¢ N N M

9E_+E
The energy/bit is Ep = —-ﬁi——ﬂ =5Ep Hence,

_ ’0.85,,
Pe - "N_
ForM=2, WN= 2x1078

For 256,000 bps the baseband transmission requires a minimum bandwidth 128 kHz. But amplitude
modulation doubles the bandwidth.
Hence

By =256kHz

107 = Quﬁ:i)z Ey=27x10"
N

S; = EyRy = 2.7x1077 x 256,000 = 0.069¥

For M =16 :
By = 256,000
‘ng 16

2(15 ’ .
Pem = Pploga16=4x 1077 = ) Z:Eb )

This yields Ej = 543x 107
S, = EyRy = 543 %107 x 256,000 = 139%

=64 kHz

For M =32
256,000

logz 32

P,y = Pylogy 32=5x10"" = 2(3‘) "13025” )

This yields Ej =1719x 107
S, = EyRy = 1719 x107° x 256,000 = 44W

=512kHz

Br=

For M =2and N =2x10"%

This case is identical to MASK for M=2

107 = Q("zih)=> Ey=27x107"

S; = EyRy =2.7x107 x 256,000 = 0.069%

By = B8 i

109
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ForM =16
P =(log216)P, = 4P, =4x107

2
4x107 =2 "Mﬁ = E, =167x1078
2560

S; = EyRy =167 x107° x 256,000 = 04275W

In MPSK, the minimum bandwidth is equal to the number of M-ary pulses/second.

Hence,
- 256,000 = 64 kKHz
log; 16
For M =32

Py =(logy 32)P, =5 1077

2
5x1077 sZQ[ %%ﬁ]s E, =524x107°

S; = EyRy =524 x 1078 x 256,000 = 134W

256,000 _ 512kHz
logs 32

Br=
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Chapter 14

”

14.1-1 The following signals represent 2 sets of 5 mutually orthogonal signals.

4
= 1 |
& 1. 1.
2 ST
2 sin2! ¢
-' J‘T‘ s T
T T TN B
b -
{" t \/
) ' \,—1_ ces ally
[ rb —rb
S l - ™\ e
-.;h J Tb' v
4 P—
'.—’-_- Tb Tb
T, To /\
:2 -‘? b V \/
! .‘i;'?: écs ‘gt
S—— - b Ih
i O] T~ NIWANV/!
Fig. S14.1-1
14.1-2
| 2
= &
2 1
¥ o i .L - ?_‘
T, 2T, T,
9 3-.rn
- 2T + =
_\T‘F; -—2-5;{; ot Ve
(] -
U’T’, ‘\'}_ .1.
21, Tl o
¢ 2v‘-‘; _—L__J
Fig.S14.1-2
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2z
1413 1) (1,1,0)is —‘/-%._w[lﬁ-ﬁsinwot] o=
0

E'(\,.A

L z
2) 2,1, 1)is %[Z-ﬁsinwouﬁcoswot] =T_To—[2+2cos(wot+ 4)]
0

2/
L #\ ya

- - o, - - - -

-4AT, g \/ T
Fig. S14.1-3
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£0x) {,@©

»)
14.14 4 1 =t
7:’3, T (a, 1,°4,4,2)
w1 ]
o o % % BT % e et
Ta 4
-1,2,3,1,4)
J)k) 4;&)
y - ) &JI
a4 ]
&lb ﬁlb
T [F % " e % e % B
-24 -2
e N (-2,4,2,2,5)
(3-2,3,4 1)
Fig. S14.1-4

b) The energy of each signal is:

E‘=M70=31 A 52=4_+1ﬁ£1£t110=41
To To

Ea=9+4+9+16+17b=39 E4=4+l6+4+4+07b=28
To To

¢) Fy-Fy=(-6-8+6+8+0)=0. Hence, £3(¢) and f4(r) are orthogonal.

142-1 Let x(t)=x; x(1+1)=x; x(1+2)=x;
We wish to determine
lex2x3(xh"2”‘3)

Since the process x(r) is Gaussian, Xj, X2, X3 are jointly Gaussian with identical variance

(oil = aiz = 0’2‘3 =R (0)= 1). The covariance matrix is:

UX|X2 = axle = xl"z = X(l) X(( + ‘) = X(l) =

— O |-

%x Oxixa  Txixs
K =|0oy,x a',z‘2 Oxyxs | AlSO Oxyxy =Oxyxy =X2X3 = x(t +1) x(t+2) = Ry(1) = -
2
6)(3)(] ax;xz 0x3 dxp(; = ax3X| =X|X3 = X(I) X(I +2) = x(z) = ;l-f

s$0

n3
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1

K=|-

|
— N QN‘__

Q|— - ® |-

1
Le?

1
._._1 = = = Ay = — =~
A =833=1- = and Ajp = A =823 =432

e3 e
1
A3 =43 =0, Axn =l—:4—
And
1 -??A’)‘Xi!j
Xi1X9X3) & =———r=¢
px;x;x;( 152 3) (2”)3/2J‘-E|
14.3-1 '
\ L el
; ————— ——— 5
_—s‘—%’- at— ' M
1 X < '

Fig. S14.3-1

Actm)= Pmb(nl ) %) and P(q’"M) = Prob(m > '—2"-)

() = P(Cms) == P(Clrg-1) = Proe{ i <
Hence "
plcim) = P{Clma) =y | ¢ i = - =)
and " .
P(Clm) = P(Clm3) =..... Jl’(qm,m):j;.T .‘j/z,-nf/ dn,=1-2g(m)
Hence

Pou =1- P(C)

= 1-[P(m|)P(C|m;) + P(my) P(Clmy )+.....+ P(m ) P(Clrmy )]
a 2(M-1) a \
R Cat:Cor itr)

2 2 2
3a M-1
The signal energies are (tg) , (t—) , ......(:t———a)
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Hence the average pulse energy Eis

M-2
23 (M2 -1)a®
=2_ 2.
2M éo(Zk ) 12
— M2 -1)a?
loga M 12logy M
Hence
Pag = 2(M-1) 6(log M) E
¢ 2
M (M*-1) o
Which agrees with the result in Eq. (13.52¢) s,  Sal| Ss : 34
* ' e [
1432 P(Cim) = P(Clma) = P(Clms) = P(Clm) & =
* - O : [ ] [ ] : ]
Sy ' 58.

P(Cimy) = P(Clms) = P(Clmg) = P(Clm) Y
P(Cm) = F(n;<—2-, n1>—-) '

Jedg )l
P(Clmy) = P(|n||<—, n2>-—)

T el Q(m’)] ]

¢;(¢:) t f‘Tb s, - E |2 R

f """'N'\"’— Can?u’fe, c,nfquor

' . S %"/ﬁ—
ret) 86> '| nSiqt ros . 2 seleat
2 J' ! ra.siﬁ. r.s f-s.,, lage.nf

Fig. S14.3-2

E
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The average pulse energy Eis

S ERE]

E d
E;, = = —
5" joga8 2

ol {32
s {R) smmseely3)

This performance is considerably better than MASK in Prob. 14.3-1, which yields

P =1750 ["Ozsij ]for M=8

14.3-3 In this case, constants a;'s are same for k=1, 2, ..... M. Hence, the optimum receiver is the same as that
in Fig. 14.8 with terms a;'s omitted.
We now compare 7 -85y, F-52, -.---F"SM -
Since r-s; = JEr cosé; is the angle between 7 and s; , it is clear that we are to pick that signal s; with

which 7 has the smallest angle. In short, the detector is a phase comparator. It chooses that signal which is
at the smallest angle with 7.

14.3-4 Because of symmetry,

P(Cim,) = P(Clmy) =.....= P(Clmpy)

where M =2N
d -d
Sy=3 Ol’—z—
2
and E|=Ez= ..... =EM=-A%=E
Let

Then

Fig. S14.3-4
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and

P(C)= P(Clmy)

|

Here, M =2" . Hence, each symbol carries the information log; M = N bits.
Hence
E[N
and
14.3-5
N d
= — - Fig. S14.3-5
2 dln2+ > g
d-
(i) = (1) = Probny > ~d-4)] =1~ Tj-/-';—]
P(qu) = Prob (|n1| < /J) = 1-2475—-—)
1
P(C) -Z-P(qmo)+—r(c1m,)+—r(qm )
L P — -2
2 ;;J!/Z ;]Ju/z
ol dimam2 d? +Nin2
27| 2dJu)2 2dJ N2
Also
- d?
E = 05(0) + 02542 +025d% = 5
Hence
1 -Z—E— -In2 35 +In2
P, M = 1- P(C) = - +
¢ 2 2%25/& 23]5/4&
14.3-6

Py =1-P (C)
P(C) =5 [P(CIm)+ P(Clm)
RERERIE Lol
R
3d

1 x/s (@1-d)* +a} /¥
Sz

il—
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14.3-7
53
.
PRl A
i N
™ t> .,
N s ,'0'
& |5 &
; ¢’-tt) A ,"
B t > s,
2
Fig. S14.3-7a
Note that
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s‘a:)

T T

% 1 5,08) i i‘(‘&B “ 75 55 (*j
i
o]

-

d
VT,

Fig. $14.3-7b

(c) P(Clms) = Prob(noise originating from s remains within the square of side —%)

=A< T Ial<3%)

o] ) i}
Pz o] ]

_ 2
We also observe that E , the average energy is E = —5{4‘; ) 04d?
E _04d® 024 . d ,55 55
N N ol 20 72a,,

Therefore P(gms) = 4{ %3—)

The decision region R, for my is shown in Fig. a and again in Fig. C-1. R, can be expressed as the first
quadrant (horizontally hatched area in Fig. C-1) =4;. Thus
P(Clm,) = noise originating from s, lie in R
= P(noise lie in 1st quadrant) ~ P(noise lie in Ay)

and

2
= [l - E%-)] - P(noise originating from s, lie in A)
n

But P(noise lie in 4)) = %[P(noise lie within outer square) — P(noise lie within inner square)] (See

<5 i)
ot o]

119
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P(Clmz)="29(2:,,)"9(2:,)'9(2‘/;0,)
=l 0(2:..) Q(N'a,.)
42} 48]

e d B4

Moreover, by symmetry

Pelmz) = P(emi) = Plelms) = Pleim)

Fig, $14.3-T¢

Hence
1 5
Fom = ;[EP(dm,)]
8N 4\
14.3-8
. . fms
/. P om2
*——‘_\ '4 -
. . dw"t| emgy ‘i )
P ] L
. ° L4

Fig. S14.3-8
PLC)= 5 S47(cim) = 5[ chm)+ )« it )]

The decision region R, for m (see Figure) can be expressed as

R, = outer square of side d\2 —-i— (outer square — inner square of side d)

= -} outer square of side dﬁ +-3— inner square of side d
120
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Now P(Clm)= Prob(noise originating from m; lies in R)

== P(n lie in outer square) += P(n lie in inner square)

eesited
] 4]

Similarly Rj, the decision region for my (see figure above) can be expressed as

R, = outer square of side dv2 - -;-(outer square — inner square of side d)

= %outer square of side d2 --lz-inner square of side d

and P(Cimy ) = noise originating from m; lie in Ry

-%}{M<%)+%P(‘n[<g—) |
k] k)

1 ————T ){’ . '.::;’:."\;__ 5
SR v 2 ol
4
k; RA R 8 e

The decision region R; for m; can be expressed as
Ry=R,4+Rp-Rc
and
P(C{m3) = Prob(noise originating from m; lie in R3)

= P(noise in R 4)+ P(noise in Ry) - P(noise in Rc)

< o> 0 <)o Ll al< 5 - 3] A < )l <3

]
(SR

=%&-2@(J§df+{'-zg(ﬁﬂ et

r°-~,t LXN 1
£y P"",'m4 "‘4 "i 24
'i‘ ! W 3 l
ad
RA Rg
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The decision region Ry for mg can be expressed as
Ry=Ry-

and

P(Clma) = P(m >=d» 12 > -d)- %{P(Inxl,' |na| <d)- P(\nd: Ina| < %)}

- 42 -4 dofZ)] )]
For any practical scheme 0() << 1, and we can express
[1- kO] =1-2400)

Using this approximation, we have

ramy=1-d )7
Hem)=1-30{ )2 757
o) 4
B4

Hence
P(C)= —[ P(Cimy)+ P(Clma) + P(Clms)+ + P(Clma)|
-3 ) 3 )]
Now El d Ez-—Zd E3 =4d de4 =8d
Therefore E=- (a'l2 +2d? +4d2+8dz)=—d2 '
And £ =—t—=%
105216 4
T 2
so that _E.Lg_é_:.‘_s.f_
N 4N 16N
Therefore
p(c)=1_2 ’_8._.5;. _3 ’1_9..’31 3 ’2&
2 15 N 4 15N ) 4 15 N
Moreover
ARG RTEARY: (5
15N 15 N 15 N
Hence
3 8 E,
P(C)zl-— ——
( ) 2Q[ 15 JJ}
And
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Pou = 1—P(C)=%Q[,f%%)

Comparison of this result with that in Example 14.3[Eq.(14.57)] shows that this configuration requires
approximately 1.5 times the power of the system in Example 14.3 to achieve the same performance.

14.3-9 If 5, is ransmitted, we have
b,=E+a+fEnl , b_,=-E+a-\ﬁE—n‘
b2=d= Enz , b_z’d—' En2

bk=a+s/_fnk , by=a-JEng

and
P(Cim;) = Prob.(&y > b_y, by, b2, bis b-k)
Note that
b>b irnpliesE+a+JEn1 >-E+a-JEn; or m >-JE
b >b impliesE+a+JEn|>a+JEn2 orn2<JE+n1
by >b_y irnpliesE+a+J_£-nl>a-JEn2 or n2>-(«/f+n|)
Hence
b, > b, and b_, implies -(nl+J—E-)<n2 <(m +JE)
Similarly
b, > b, and b_ implies -(n, +JE)<nk <(n1 +JE)
Hence

P(C\ml)= Pl’Ob.(bl > b—l’ bz. b_z, b3, b._3,"' bk, b.k)
=Prob.[n‘ >-JE, |n2‘<(n1 +JE), l“3l<("1 +,/-£_)’ ey || <(n, +JE)]

Since nj, ny, - ny areall independent gaussian random variables each with variance M/2,

P(Clmy) = [P(nl > —J—E_) P(in2| < +\/—E-)P(|n3| <ny +JE) P(}nk| <np+ JE)]

N-1
L% a] eE_
m’_&z Jl[ :l(mhff)e ‘xdn] dm

ARG 275]2/’ Nl
Pay = 1= P(Clm) =1~ 7= slsjw [1-200] &
Also 2

E eom———
5= Togz 2N

14.4-1 The on-off signal set and its minimum energy equivalent set are shown in Figs. (a) and (b), respectively.
The minimum energy equivalent set of orthogonal signal set in Fig. (c) is also given by the set in Fig. ().
Hence, on-off (Fig. a) and orthogonal (Fig. c) have identical error probability. The set in Fig. (b) is polar
with half the energy of on-off or orthogonal signals.
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N
N
— do--— -glf 5 A.—d OI
CH z @)
S k)
Fig S14.4-1
2
1442 Here ¢i()= 7.';005‘”0‘ = 4/40 coswq! 20 =_;l
#5(¢) = Va0 sinwy M
Therefore
() =V20 2(1) | 1=V @2
s2(1) =5 (1) s2=V59,
(1) ==V5 #1(1) ’3“\/—‘:’
The vector a = —Zs, = —[J—¢l -Ji0o, +J_¢2]——¢2 .
Hence the mimmum energy signal set is given by
§ (¢ )-31(’)-£¢2(') V20 4, ’)'£¢2( 1)= ﬁsmmof
()= 52(‘)—£¢2(‘)=\/5 mm-f—m - 103 cosag- 2 sinay

53(‘)--‘3(’)"£¢2 (1) = =V5 (1) -£¢2( )=--l()\/ic:osmot-zo‘/5

The optimum receiver - a sultable form — in this case would be that shown in Fig. 14.8a or b.

5,

sinwg!

. V20 S,” R '
\\ \ . ] ’.. . rd
- ,'
R_; ‘k‘i-é-\ R:_
3\
5'; Sg_ q ->
Fig. S14.42

14.4-3 To find the minimum energy set, we have a = -:-(sl +85)+S3+854) = -h-6

Hence the new minimum energy set is

ch-b =T =+ =T h -t b=k -3 8
124
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Note that all the four signals form vertices of a square because (51 §2), (52 §3), (83 54), and (54 §,) are
orthogonal. The distance between these signal pairs is always 242 . This set is shown in Fig. S14.4-3a.

The signal set is now rotated so as to yield a new set shown in Fig. S14.4-3b.

¢;(e) N . g": ] r—
W ' Ay __,___é_’;,__ . >
—— ',' J'Y ¥s .E_'E'
[ - 5%
F RS sample at Q= —o-H58N
2 'L':'l'l"b. .- ‘-}; = -0-e02N Fig, S14.4-3
Observing symmetry we obtain

P(C) = P(Clm) = P(Clm;) = P(Clms) = P{Clma)
= P(nl >—y2 and n, >—J-2—)

18]
] o

P, =1-P(C)=1-[1-0(316)]" =158x10"

2 1 1 1
4-4 = = = =
" 5= Todi0 ™ PTG TG and 53 1@10“‘““]

@ @ (&)
1oV ovis| > P

163 t-» & 2?1

(&) The orthogonal basis set (b) The signal set (&) The minimum energy s&t

/’ 4 2 s/ 4 .
s D -3 5,_&\ )
e . o
-4 [ (d> The minwwn enevgy wave foxm s
Fig. S14.4-4
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P(Clm3) = P(Clm ) = P| m; < —2—017;) =1- Q[%%z—{-) 1-0(707)
P(Clm,y) = P(ln[ < 515) =1-20(107)

and

P(c)--[zp (Clm) + P(Clms )] = —[2 ~20(7.07)+1-20(707)]
=l—-§Q(7.07)

Py =1-P(C)= 539(7.07) =103x107"2

2
Also £1=E3=(-5T}$) =4x1073
P V(1 Y - '
| — | + 2210 E=i(E,+Ey+E =—x10
(10\/13) (10710) (Bt B2+ E)

Mean energy of the minimum energy set:

Epin =-;-(2x10'3+0+2x10" )=2x107

w

14.4-5 The use of Eq. (14.76) and signal rotation shows that the minimum energy set in this case is identical to
that in Prob. 14.4-4. Hence the munmum energy set is as shown in Fig. Sl4 4-4c. this situation is identical

to that in Prob. 14.3-5 with d = m From the results in the solution of Prob. 14.3-5, we have

Also, we are given s,(@) = % = 1075, Hence, N=2x107".

(a) From the solution of Prob. 14.3-5
Py = —Q(7 02)+Q(7.12) =109 x 10712
(b) and (c) identical to those in Prob 14.4-4

14.4-6 (a) The center of gravity of the signal set is (s +52)/2
Hence, the minimum energy signal set is

(51+52) _31-% &x2=s2_(’1+’2)___'2'51

=TT 2 2 2
The minimum energy signals are
x,(t) = 05-0.707 sin"’—2°’-
wg = 20007

xq(t) = 0707 sinl‘iz‘i 05

0.001 ol 2 s

®  Ey= | (05-0.707 sin-L) dr = 04984 x10”
0

= E, =04984x 10-5. We are given N =5x10"°

’25
Q[ "] O(4.465) = 041x107°
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(¢) We use Gram-Schmidt orthogonalization procedure in appendix C to obtain

»(r)=5(1)

001
2 sinwgt dt
ya(t) = w/—smwot—{ i = Zsmwoc—-z-’/—z:
001 n
A N
n=
I.P1|

|y,|=,}jy,dz =001 7 =7-s:')“)=1=31.6y,

¥3 (r =1-cos2wyf --s-smwot +-§—

lyZl J y%di—“%l l"—— » =T_-—_-J‘-72.2y2
001 1-

1 . -
S)(l)=-—6' l) =.03]6y1(1)

52() =557 L 5a(1) +—y1(') =.01385,(1)+0285(¢)

salt)
S8 .
4 \ ' oo!
Y ¢ mamt'® o t‘ ‘ t"’
. o000 t> . ¢ 00\
p.-ccl & \ —2h
f
oS
Y2 52_
o'°’38 .u.....c---.-.-.-..u .o 5
. : s'
Z cozle O
l o-0285 o03le I,
Fig. S14.4-6
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Chapter 15
15-11 P =04, P, =03, ,=02and P, =0l

H(m)=—(R log P+ Py log P + Pylog Py + P4 log Ps)
=1.846 bits (source entropy)

There are 10° symbols/s. Hence, the rate of information generation is 1846 x 10° bits/s.

15.1-2 Information/element = log; 10 =332 bits.
Information/picture frame = 332 x 300,000 = 9.96 x 10° bits.

15.1-3 Information/word =log; 10000 =133 bits.
Information content of 1000 words = 133 x 1000 = 13,300 bits.

The information per picture frame was found in Problem 15.1-2 to be 9.96 % 10° bits. Obviously, it is not
possible to describe a picture completely by 1000 words, in general. Hence, a picture is worth 1000 words
is very much an underrating or under;tating the reality.

15.1-4 (a) Both options are equally likely. Hence,
1=1og(gs) = 1 bit

(b) P(2 lantemns) = 0.1
1(2 lanterns) = log10 = 3.322 bits

15.1-5 (a) All 27 symbols equiprobable and P(x;) = Yr-
Hy(x) = 27(35 log; 27) = 4.755 bits/ symbol
(b) Using the probability table, we compute

27
H,(x)=-Y P(x;)log P(x;) = 4.127 bits/ symbol
i=]

(¢) Using Zipf’s law, we compute entropy/word H,(X).

8727
H,(x)=~ 2 P(r)log P(r)

r=1

8727
=- 3 U jog(2l) = 9.1353 bits/ word.

r=1
Hletter =11/82/5.5=2.14 bits/symbol.

Entropy obtained by Zipf's law is much closer to the real value than Hj(x) or Hz(x).
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152-1 H(m)= ZP logP == blts
i=]

Message mabLility Code s & s; s
m, 12 0 172 0 12 0 12 172 0
m; 1/4 10 1/4 10 1/4 10 1/4 1/4 i2 1
m; 1/8 110 1/8 110 178 110 1/8 ll

m, 1/16 1110 1/16 1110 1/16

ms 1132 11110 1732 11110 1/16
m 1/64 111110],_.1/32 1111

m; 1/64 111111

1110 1/8
1111

1/4
lll

L=TRL=; S0)+7 (2)+—(3)+—-(4)+—(S)+3%(6)+314-(6)

= -:—: binary digits

H(m) 100 = 100%

Efficiency =

Redundancy y = (100-17) = 0%

7
15.2-2 H(m)=-Y P, log P, = 2289 bits

i=l

= 2289 _ 14442 3-ary units
logy 3
Message  Probability Code s
m, 173 0 173 0 173
m, 173 1 173 1 173

me 1/27 221

82

0
1

m; 119 20 19 20 13 2
m, 1/9 21 19 21
m 127 zzo]_, v 22

m, 1727 222

L=TRL =30 L+ 3@+ 5@ 4350

i=]
- % 3-ary digits
=14442 3-ary digits

Efficiency n = ﬂ,:_n')"-' ::z; x 100 = 100%

Redundancy y = (1-n)100=0%
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4
1523 H(m)=-3 P log F; =169 bits

i=1

Message  Probability Code s
m, 0.5 0 ]
m, 0.3 10 0.3 ]._. o 5 1
m; 0.1 110 r—o 0.2 11
m, 0.1 111

L= PL; =05(1)+03(2)+01(3)+01(3) = 17 binary digits
Efficiency n= ”(Lm) x100 = li%? x 100 = 992%

Redundancy y = (1-7)100=08%

For ternary coding, we need one dummy message of probability 0. Thus,

Message " Probability _Code S
m, 0.5 0 0.5 0
m; 0.3 1 0.3 1
2

m, 0.1 20 02
ms 0.1 21
ms 0 22

L =05(1)%03(1) +01(2) +0.1(2) =12 3-ary digits

H(m) = 1.69 bits = —ﬁ = 10663 3-ary units
log; 3

H(m) _ 100= 10663 %100 = 88.86%

Efficiency n=

Redundancy y = (1-7)100=1114%

15.24

Message " Probability  Code s s;
m; 12 0 172 0 12 0
m; 1/4 1 1/4 1 1/4 1
m; 1/8 20 1/8 20 1/4 2
my 1116 21 1/16 21
ms 1/32 220 1/16 22
me 1/64 221
m, 1/64 222

L=Y PL =%% 3. ary digits

From Problem 15.2-1, H(m) = -:% bits = 1242 3-ary units

H(m) 1242
= ——2x100= 100 = 94.63%
Efficiency n T x1 13125 —X b

Redundancy y = (1-)100=537%
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15.2.5

——

Mgss_ggeﬁ Probability Code s $2 S3

m, 173 1 173 1 173 1 173 1 173 1 2/3
m; 173 00 173 00 173 00 173 00 13 00 173
m; 19 011 1/9 011 1/9 011 219 010 173 01

my 179 0100 172 0100 1/9 0100 179 011

ms 1227 01010 127 01010]-—9 1/9 0101

mg 1/27 010110 2127 01011

ms 1727 010111

L=YPRL = % =2.4074 binary digits

H(m) = 2289 bits (See Problem 152-2).

H(m) 00 2289

= =95.08%
7 2.4074x100 95.08%

Efficiency n=

Redundancy 7 = (1-7)100 =4.92%

15.2-6 (a) H(m) = 3(4 log3) - 1585 bits

(b) Temnary Code

Message  Probability  Code

m, 173 0
m; 173 i
ms 173 2

1 1 1
=l M=) +=() =1 3-ary digi
3()+3()+3(l) 1 3-ary digits

H(m) = 1585 bits = l—ls-g%ﬂ 3-ary unit

g2
H(m)

Efficiency 7= x 100 =100%

Redundancy » = (1-7)100=0%

(c) Binary Code

Message Probability Code S

———

m, 173 1 2/3 0
m; 173 00 1/3 1

L= %(1)«»(2)%(2) = % = 1667 binary digits

. H(m) 1585
= ——ix100= —— =95.08%
Efficiency 7 T x 1667 x 100 = 95.08%

Redundancy y =(1-m)100= 492%
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(d) Second extension — binary code

1 1 1 29 . . .
L= 5[(7)(;)(3) +(2)(;)(4):l kT 1.611 binary digits

H(m) = 1585 bits

H(m) 1585

Efficienc 100 = —— x 100 = 98.39%
iciency 7=~ X Tl 3

Redundancy y = (1- 7)100=161%

M Prob Code s $3 33

eSsage

I V. R TR T B b1} o1 p 7, N ] m

mm; 19 0000 1’ 00l Y. 10 Py 10 7/9 no l/3 ]J’
mms 19 0001 15 0000 7] 001 29 1t b7 |} 0}
mym, 1) 110 19 0001 15 0000 1% 001 29 000

mam; 9 m 1m 110 15 0001 19 0000 1’ 001

mam, %) 100 WM 1% 110 15 0001

mm, L) 101 19 100 - TT)

mym; ) 010 1”101

mym, 1 ol

15.4-1 (a) The channel matrix can be represented as shown in Fig. S$15.4-1

P(1) = P(nlx)P(x;) + POnlx2) P(x2) . Xy 2/3

21,1213 P=3

"33 3 45
Plys)=1-P(3) = 22
(»2) ) 5

P= 2 » r o
) H(x)= P(x,)log—— + P(x7)l0g > T2 =
VR P(y) P(x ) 1o
1 2 3 . .
= -3-1032 3+ ;logz -i' =0.918 bits Fig. S15.4-1
To compute H(x|y) , we find
POix))P(xy) _ - P(y;|x) P(x1) .3
P(xjln)= T8 l3 P(xyly2) POra) »
P(y.lxz)P(xz) P(}’;lxg)”(xz) 54
P{xaly1) = PO ‘3 P(xaly2) = P(y) 7]
1 1
H = P log——+ P log ———
(xly1) = P(x;ly;)log P(xlly|)+ (x21y1)log Piaalon)
10 13 3 13
ﬁlogzl—o Elogz——0.779
i
H P | P log ———
(xly3) = P(x;|yy)log PG I )+ (x21y2)10g Peralya)

5 32 5 64
= =1 _.+.._| —=0624
2 082 5 082
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and
H(xly) = Pn)H(xin) + P(y2)H(xly2)

13 32
= —(0. —=(0.624) = 0.6687
45(0779)4-45(06 )

Thus,
I(x)y) = H(x)- H(x|y) = 0918 -0.6687 = 024893 bits/ binijt
H(y)= ZP(y)log 13logﬁ 24 32-03673bns/symbol
! P(y) 45 13 a5 B33
Also,

H(ylx) = H(y)-1(xly) = 08673 - 02493 = 0.618 bits/ symbol

15.4-2 The channel matrix P(y;|x;) is

(P) %, ——=, (P

1 ox' 0 P
(&
»lo p 1-p (®) X2 < Yz )
01l-p p | -p
—— (&
Also, P(y)) =P, P(y2)= P(y3)=0Q (Q) '3 P Y3 )
Now we use P(x;ly;) = -—Zf% to obtain Fig. S15.4-2
- i Jiri
]
1 0 0
P(x;|y;) matrix as Yj 0 p 1-p
0 1l-p p

H(x) =3 P(x;)log

i . 1o
o) =-Plog P-2QlogQ with (2Q-.1 P)

= -—[Plog P+(1- P)log(l;z’:)] =Q(P)+(1-P)
1
H P(y ;) P(x; log———
(xly)= ;%‘. (y;)P(xily;)log PG
1 1 1 1
= Plog] +4plog—;+(l-p)logl—:—p—]+ 4(1—p)log:;+plog;]
=0+20Q(p) = (1- P)Ap)

1(x}y) = H(x)- H(xly) = Q((P)+(1- P)-(1- P)Q(p)
=Q(P)+(1- P)[l—Q(p)]

Letting B = 2P or Q(p) = log
l(x[y) Q(P)+(1-PX1- ~-log A
—l(xly) =0 or ——-[Q(P)+(1 PX1-log8)]=0. Thxsmeans
EF[PlogP+(l-P) ~(1- P)log(1- PX1-log &) =0
logP-log(l-P)+[l—logﬂ]=0
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Therefore log-l% =-l+logh

Note: -1+logy f=-l0g2+ log; B =log; -‘g;

P B B 2
— R — P=_——- -— =
=P 2 52 ! P=50
(o]
B B+2 2 p+2 2 2
C= MAXI = } log &= 1-1 = log ==
(xly) Iz og 5 +ﬂ+2 08— +ﬂ+2( o:ﬂ) 0g 7
B

18.4-3 Consider the cascade of 2 BSCS shown in Fig. S15.4-3. In this case
P =(1- RX1- F)+ ARy =1-Fi- B~ 2AR
PO =(1- AP + P(1- R)=PR+P-2RP

Caseande o “he R+ BSC

k- bsc.s,2 \ o
—eeet MH-I M ‘ LL)

Fig. S15.4-3

Hence, the channel matrix of the cascade is

\-n-m-2RR A+R-2AR | [1I-A R )-8 Pz]
P+ P -2RP 1-A-m-2RP| | 1-AILR 1R

This result will prove everything in this problem.

(a) With A=hA = P,, from the above result it follows that the channel matrix is indeed M2
(b) We have already shown that the channel matrix of two cascaded channels is M M;.

(c) Considera cascade of k identical channels broken up as k-1 channel cascaded with the k™ channel.
If M, is the channel matrix of the first k-1 channels in cascade, then from the results derived in part ®),

the channel matrix of the k cascaded channels is M = My M. This is valid for any k. We have

aiready proved it for k = 2, that My = M 2. Using the process of induction it is clear that My = M.
We can verify these results from the development in Example 10.7. From the results in Example 10.7, we
have, for a cascade of 3 channels

1- P =(1- P} +3P2(1-P)
=1-3P,+3P2-F} +3p2-3P}
=1-3P, +6P2 -4F}

and
Pg =3P, —6P2 +4P}
Now
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M3=[1-P, P, ]’ [1 —(3P,-6P2 +4P}) 3P,-6P,2+4P,3]

F, 1-P] |3p,-6P2+4P> 1-(3P, -6P2 +4P%)
Clearly
P =3P, -6P2 +4P}
which confirms the results in Example 10.7 for k = 3.

(d) From Equation 15.25
Cs = [PE log—+(l P‘g)logl lP ]
where Pg is the error probability of cascade of k identical channel.

We have shown in Example 10.7 that
k k!
=1-l (1~ P L _pJ k-j
P =1 [(1 Ry L R) ]
If kP, <<1, Pg =kP,
and

1 1
C_, = l—[ch log;—P‘—+(l—kP,)log ]—kP‘]

15.4-4 The channel matrix is

| » Y2 Y3 Let
$ q 0 P q=1-—p x,=0 y1=0
x, q P x =1 y3 =1
»n=E

P(») = P(xp.y1)+ P(x2,01) = P(x))POnlx) + P(x3)P(nix2)
1

|
-54"'5(0)——

P(y5) = P(x,y2)+ P(x2,y2) = P(x}) P(yalx1) + P(x3)P(y2lx2)

P(y3)=1-POn)- P(y) =1-g=p
Also,

P(xlly.)=ﬂy.l},_’gl_‘;(ﬂl,g_//%=,
P(x;lyl)=.’1<lll;.‘(zy_)ll;£‘22=o
P(xll}'z)=£(-y-¥017)§(ﬁ)-=o

P(x;|y) = f_(y_:lp%_)zi)’gz_), :g

P(xly3) = L’(_&}'.j?y_";_‘ﬂl p,/’2 -1

P(x,ly3) = _.(Zz};.‘(z;)—’)’-(-’fz- ,ap1= !
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(53]

P(x1,3) = P(x))POnlx1) =
P(x;,y;) = P(x))P(321%1)
P(x1,y3) = P(x))P(r3in1)
P(x3,3) = P(x2) PO %2) =
P(x3,y2) = P(x2)P(2|*2)

]
s oW

L}

N e oW

P(x2,y3) = P(x2)P(31¥2) =
Therefore,

H(x) = - P(x;)log P(x;) - P(x3)l08 P(x;)

+-l-=l
2

[S I

1
H = P iy l - :
(xly) ;%‘. (x;,y;)log PGi))

q 1 1 1
=40)+0+—p+0+—gx0+=p=
2() S P+0+74 5P=P

1(x|y) = H(x) - H(x]y)

=1~ p bits/ symbols

1
15.4-5 H(xlz)- Hxly) =X X P(xi'zk)bg_—_—_p(:lzk) R ARy
x 2 I Xy i
i 1
= P(x;,y;, log———~ P(x;,y; I
ZILPE B by D R O
P(xily;)

= §x:§§ P,y 208 gy 20)

Note that for cascaded channel, the output 2 depends only on y. Therefore, x b 4 .
P(zxly i) = P(ely)) —r——"

By Bayes’ rule
P(xly;,2k) = P(xily;) Fig. S15.4-5
and

P(x;ly;2k)
H(x|z) - H(xly) = XX P(x;,,2¢) 108 :(X':’ljzkz;

xyz

=Z2F u,,n{?"""’ B 1z ]

It can be shown that the summation over x of the term inside the bracket is nonnegative. Hence, it follows
that

H(x|z)- H(xly) 20

From the relationship for /(xly)and 1(x|z), it inmediately follows that
I(x{y) 2 I(x]2)
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15.5-1 We have H(x):j_‘l'uplog%dx#ﬁl—plogpdr and j_‘;lpdx=1
Thus,
oF
F(x,p) =-plog p and i ~(1+logp)

12/
#i(x.p) = pand 2=
P
Substituting these quantities in Equation 15.37, we have

-(1+log p)+a, =0 p=e®”!

and
M M - -
[M pde =0 €™ e =2M(eM ") =1
Hence,
7 = L and p(x) = ——
2M 2M
Also,
H(x)= p(x)lo dx = —Io 2 Mdx =log2 M
{44 PxYlog—— p( 3 [0
1552 Wehave H(x)=-; plog pdx, A =[] xpa, 1= [} pax

F(x,p)=-plog p and f;§=-(l+logp)
o¢, _
¢1(x,p) = pxan ——x

¢(x,p) = pand ﬁ=1
op

Substituting these quantities in Equation 15.37, we have

~(1+logp)+ax+az =0
or

p =ealx+az-l - (eaz-l)eapr

Substituting this relationship in earlier constraints, we get
Hence,
(& 3ud
- -e -
1= fy pdr= fy €2 lea¥gy = ~¢ — 1e%27! =g
)
p(x) = -ae®”

and
1
A= de =} -~ Ny = - —
Jo = fo —e1xe o
Hence,
a = ~L andem = —ay=A
A
S0
1, %
— x20
pxy={4°
0 x<0
To obtain H(x)
137

www.free4vn.
vn.org oldroad



H(x) = - [ p(x)log p(x)dx = —j: p[- log A --j-:—loge] dx

= log Af plx)a + B2 xplx)ce
= log A +loge = log(eA)

15.5-3 Information per picture frame = 9.96 x 10° bits. (See Problem 15.1). For 30 picture frames per second, we
need a channel with capacity C given by

C=30x996x10° =2.988x107 bits/sec.

S
C = Bl 14—
°g( N)

We are given % =50 db = 100,000 (Note: 100,000 = SO db)

But for a white Gaussian noise

Hence,
B=18 MHz

15.8-4 Consider a narrowband Af where &/ —» 0 so that we may consider both signal noise power density to be
constant (bandlimited white) over the interval Af . The signal and noise power Sand N respectively are
given by _ '

§=25,(w)Af and N= 2S,(w)4f
The maximum channel capacity over this band A/ is given by
S+N S,(@) + Sp(w)
C = lo = ]o _s__..—n——-—
o Af"[N]Afg[ Sa(@) ]
The capacity of the channel over the entire band (), f3) is given by
12 S,(@)+S,(@)
C=[3?log | 2"
I’fl & { Sh(@) g
We now wish to maximize C where the constraint is that the signal power is constant.
Zj'fflz S(@)df =S (aconstant)
Using Equation 15.37, we obtain

0 S, +S a8
2 og |20 a8 =0
3, og[ 5 ]+aas’
or
SS+S,, =--l— (a constant)
a
Thus,
1
Sy(@)+Sa(@)=-—

This shows that to attain the maximum channel capacity, the signal power density + noise power density
must be a constant (white). Under this condition,

oy, [S0455@)) oy (g [
C=jf‘2 log[ S,.(a); ]dj’-—jjl2 log[ mS’n(m)}df

' )—I,’,’ log [Sa(@))df

a

=(f2-fi)log (
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= Blog [5,(@)+ Sa(@)]- [£*log [Sa(@)] df
15.5-5 In this problem, we use the results of Problem 15.5-4. Under the best possible conditions,

C = Blog [5,(@)+Sa(@)]- | f log [Sn(@)]df
constant

We shall now show that the integral j';lz log [Sp(@)]df is maximum when Sp(@) = constant if the noise

is constrained to have a given mean square value (power). Thus, we wish to maximize
[ 10 [s, (@) df

under the constraint
2 jfl’ log [Sp(@)]df = N (aconstant)
Using Equation 15.37, we have

or

and

Sp(w) = --:; (a constant)

Thus, we have shown that for a noise with a given power, the integral
S
7 1og [Sn(@)]df

is maximized when the noise is white. This shows that white Guassian noise is the worst possible kind of
noise.

139

www.free4vn.org
oldroad



R

Chapter 16
llIllllIIIIlIlIlIllIlIlIlIIlllIIIIIllIlIIllIlllllIIllIllIlIlllllIlllllllll.llllllllllll.llll

611 2% 2 3 (3)=(3)+(F)+(F)+(P)
2048; 1423+23x 11423 x77 = 2048

16.1-2 (a) There are (7 ) ways in which j positions can be chosen from n. But for a ternery code, a digit can

be mistaken for two other digits. Hence the number of possible errors in j places is
. { ] .
(3)3-1 or 323 T T/ 32 X (7)2/
j=0 JSO
(b) (11,6) code forz =2
3% z(},‘)+({‘)2+(5‘)22 = 14224220 =243

This is satisfied exactly.

16.1-3 For (18,7) code to correct up to 3 errors
22 3 () or 212 () (1) (¥)+(¥)
j=0

18! 18! 18!
= +

=14 — 4 —— =1+18+153+816=988
17! 2116! 31 18!

2! = 2048
Hence
3
2> ()
J=0

Clearly, there exists a possibility of 3 error correcting (18,7) code. Since the Hamming bound is
oversatisfied, this code could correct some 4 error patterns in addition to all patterns with up to 3 errors.

1621 GH” =[1; P] [:"]

=POP
=0

16.2-2 ¢ =dG where d is a single digit (O or 1).
Ford =0
e=0[t11]=[000)]
Ford =1
e=1[111]=[111]
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162-3 ¢ =dG where d is a single digit (0 or 1).
Ford =0
c=0{11111]=[00000]
Ford =1
e=1f11111]=[11111]

Hence in this code a digit repeats 5 times. Such a code can correct up to two errors using majority rule for

detection.

1624 0 is transmitted by [0 0 0] and 1 is transmitted by 11 1]
(a) This is clearly a systematic code with
G=[111]

16.2-5 (a)
100---01 1

G=l........ P= ! Note that m=1

(b)

Data word Code word

- O OO
-t O D e DO
- DO O
—— OO OO
-0 OO
- D= OO
- D OO

(¢) This is a parity check code. If a single error occurs anywhere in the code word, the parity is violated.

Therefore this code can detect a single error.

(d) Equation (16.92) in the text shows that cHT =0.
Now
r=c®e
and
HT =(cOHT =cH @eHT =eH'
If there is no error e =0 and

rHT =eHT =0
Also
r_ [P .
H' = _ Butsince m=1, I, =[1]
[Im
and
=
1
H =
1
1)
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If there is a single error in the received word 7, e has a single 1 element with all other elements being 0.
Hence
rHT =eH T -1 (for single error)

16.2-6

PData word Code word

o 0 0o(0 0 0 0 O 0

o 0 1/t 1.0 00 1

o 1 o1 1 1 0 1 0

o 1 1/0 0 1t 0 1 1

1 o o0 1 1 1 01

1 0 1j1 0 1 1 0 0

i1 1 0|1 0 0 1 1 1

1 1 1]/0 1 0 1 1 0

From this code we see that the distance between any two code words is at least 3. Hence dpjn = 3.

16.2-7

Data word Code word

0 0 0|0 0 0 0 O 0

o 0o 1/0 0 1 1 1 0

o 1 0{0 1 0 1 01 Observe that dpgin =3

o 1 1{0 1 1 0 1 1

1 o ol1 0 0 0 1 1

1 0 1|1 0o 1 1 0 -1

1 1 0(1 1 0 1 1 0

1 1 1|1t 1100 0

162-8 HT isa 15x4 matrix with all distinct rows. One possible H T is:

'1111'\
1110
1101
1100
1011
1010
1001}
HT =|0011 =[ }

0111
0110
0101
1000
0100
0010
000 1]
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G=[I,P]=[000001000001010

100000000001 111]
010000000001110
001000000001101
000100000001100
000010000001011

000000100001001
000000010000011
000000001000111
000000000100110

1000000000010101]

Ford=10111010101

c=dG=(10111010101]G=101110101011110

[111]
110
101
100
010

162-9 (a)
100111
G=|oto110 & H'=
poJio01
1 P
(b)
Data word Code word
o 0 00 0 0 0 0 O
0 0 1/0 0 1 1 0 1
0 1 0{0 1 0 1 1 O
0o 1 1/0 1 1 0 11
1 o 0o|l1 0 0 1 1 1
1 6 1{1 0 1.0 1 0
1t 1 0/1 1 0 0 0 1
1 1 1{1t 11100

(c) The minimum distance between any two ¢
Since there are 6 single errors and 7 syndromes,

@

00O O

www.free4vn.org

OO

COOO=mOO
-0 0O OO
COmmOOOO
O OO0 O
OO @ et
- e O D s gy
-t OO D -

001]
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ode words is 3. Hence, this is a single error correcting code.
we can correct all single errors and one double error.
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(e)

r

s e c d

101100
000110
101010

110 010000 111100 111
110 010000 010110 010
000 000000 101010 101

16.2-10 (a) done in Prob. 16.2-7
[011]
101
110
T _
® H =100
010
001
e s
100000 011
010000 101
six single errors 001000 110
000100 100
000010 010
000001 001
1 double error 100100 111
16.2-11
1000101
G-[l P]- 0100111
ST 0010011
0001110
c=dG
144
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16.2-12

16.2-13

www.free4vn.org

- 1r c 1

0000 0000000
0001 0001110
0010 0010011
0011 0011101

L%

o100/ [0100111 [101]
0101| |o0101001 111
o110| lot10100 0t1
o111| |o111010 HT=|110
1000{ (1000101 100
1001 1001011 010
1010} }1010110 001]

1011 |1011000
1100} [1100010
1101 |[1101100
1110 1110001
[1111) [1111111]

s=eHT

. - - -

¢ s
0000001 [001
00o00010| (010
0000100| [100
0001000 {110
0010000} {011
0100000( [111
1000000] [101]

s=rH T where r = received code
c=r®e
¢ = corrected code

We observe that the syndrome for all the three 2-error patterns 100010, 010100, or 001001 have the same
syndrome namely 111. Since the decoding table specifies s =111 for e = 100010 whenever e =100010
occurs, it will be corrected. The other two patterns will not be corrected. If for example e = 010100
occurs, s =111 and we shall read from the decoding table e = 100010 and the error is not corrected.
If we wish to correct the 2-error pattern 010100 (along with six single error patterns), the new decoding
table is identical to that in Table 16.3 except for the last entry which should be
e s

010100 111

From Eq. on P.737, for a simple error correcting code
2"k 5 pilor 2782041 - n-82logy(n+1)

This is satisfied for n 212 . Choose n=12. This givesa (12, 8) code. H T is chosen to have 12 distinct
rows of four elements with the last 4 rows forming an identity matrix. Hence,
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G=[1,P]

0011 ]

0101 100000000011

0110 010000000101

0111 P 001000000110

1001 § 000100000111
gT=(1010 G= 1000010001001

1011 000001001010

1100 | 000000101011

1000 ] 000000011100

0100

ooto | (7

0001

The number of non-zero syndromes = 16—1=15. There are 12 single error patterns. Hence we may be
able to correct 3 double-error patterns.

) e
0000 000000000000
0011 100000000000
0101 010000000000
0110 001000000000
0111 000100000000
1001 000010000000
1010 000001000000
1011 000000100000
1100 000000010000
1000 000000001000
0100 000000000100
0010 000000000010
0001 000000000001
1111 100000010000
1110 001000001000
1101 000000010001

16.2-14

Data word | Code word
00 000000
01 011011
10 101110
11 110101

The minimum distance between any two code words is dmin =4 . Therefore, it can correct all 1-error
patterns. Since the code oversatisfies Hamming bound it can also correct some 2-error and possibly some
3-error patterns.
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G=[1,P]

0011 ]

0101 100000000011

0110 010000000101

0111 P 001000000110

1001 § 000100000111
gT=(1010 G= 1000010001001

1011 000001001010

1100 | 000000101011

1000 ] 000000011100

0100

ooto | (7

0001

The number of non-zero syndromes = 16—1=15. There are 12 single error patterns. Hence we may be
able to correct 3 double-error patterns.

) e
0000 000000000000
0011 100000000000
0101 010000000000
0110 001000000000
0111 000100000000
1001 000010000000
1010 000001000000
1011 000000100000
1100 000000010000
1000 000000001000
0100 000000000100
0010 000000000010
0001 000000000001
1111 100000010000
1110 001000001000
1101 000000010001

16.2-14

Data word | Code word
00 000000
01 011011
10 101110
11 110101

The minimum distance between any two code words is dmin =4 . Therefore, it can correct all 1-error
patterns. Since the code oversatisfies Hamming bound it can also correct some 2-error and possibly some
3-error patterns.
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®)
[1110]

1011
1000
0100
0010
10001]

and s=¢HT

X
i.’
il

100000 | 1110
010000 | 1011
6 single error patterns 001000 | 1000

000100 | 0100
000010 | 0010
(000001 | 0001
110000 | 0101
1010003 0110
100100 | 1010
7 double-error patterns 100010 | 1100
100001 | 1111
011000 | 0011
l 010010 | 1001

2 triple-error patterns { : g ?: (l) : ? : ‘l) :

16.3-1 Systematic (7, 4) cyclic code
glx)=x+x+1

Fordata1111  d(x)=x" +x? +x+1

2 +x+l)=x° +x° +x* +.x3

P +x?+l

Sextes’

13(33 +X

x3+x+l x6+x

x6 -9'.::4 +x3

x3

Xs +x3+12

x3+x2

2 +x+1

x2+x+l

6, .5, 4, 3.2

c(x):(x3+x+l)(x3+x+l)=x +x04x +x” +x" v x4+l

The code word is 11111111
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For data 1110

d(x)=x"+x? +x

x3+x+l x°+x +Xx

+x° +X

x2

x5 3..,2

The code word is 1110100

A similar procedure is used to find

(b) From Table 1 it can be seen that the minimum distance between any tw

single error correcting code.

d

[4

[
S b
- O

|
1
1
1100
1011
1010
1001
1000
0111
0110
0101
0100
6011l
0010
0001
0000

1111111
1110100
1101001
1100010
1011000
1010011
1001110
1000101
0111010
0110001
0101100
0100111
0011101
0010110
0001011
0000000

Table 1

(c) There are seven possible non-zero syndromes.

x3+x+IF6

www.free4vn.org

for e=1000000

s=101

the remaining codes (see Table 1).

x°+x+1
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x6+x‘ +x3

x‘ +x3

¥ +xi+x

x3+x2+x
3

X +x+1

x2

+1

o codes is 3. Hence thisis a
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The remaining syndromes are shown in Table 2.

e

1000000 101
0100000 | 111
0010000 | 110
0001000 | 011 T2k
0000100 | 100
0000010 | 010
0000001 | 001

(d) The received data is 1101100

r(x)-—-J:‘-l»x"’«1»;:3-0—,‘:2
,1:3-o»x+l)x6+xs +x3 +x?
26 axtasd
Sext 4P
x5 -'-x:’-lr.):2
x4+ 23
2 +x?ex
Baextex
s(x) = % +1 ' ¥ x4l
s=101 <2 +1
From Table 2
e=1000000

c=r®e=11011008€1000000=0101100

Hence

d=0101

1632 glx)=x" +x0+xT 42840 x4l

o(x) = d(x)g(x)

1.

and

and

www.free4vn.org

dl=oooolnxloooo,dﬂﬁ=x7+x°+é+x‘

d,=101010101010, dy(x)=x" +x° +xT 42+ 2P +x

¢\(x) =d\(x)g(x) = AL, S E e e S o T IR

c,=00001100011101110010000
t:z(x)=d2(x)g(x)=x22+.1:'8+,\:”<t-::15+.\:'3-0-J:s+:c5+.v:‘-n»:c3+.1:2 +x

c2810001101010000100111110
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x2+l
2

16.3-3 x+1 +xt+x+l
x3+x2

x+1

x+l

0

Hence :r3+:r2+:|:+1=(::+l)(x2 +l)=(x+l)(x+l)(x+l)=(x+l)3

x‘+x+l

16.3-4 el +xt+x? 41 Hence x5+x4+x2+1=(x+1)(x‘+x+l)

xs+x4

p ANUEREN-EE

+1
+1

o -

0
Now try dividing x* +x+1 by x+1, wegeta remainder 1. Hence (x+1) is not a factor of (x“ +x+ 1) .

The 2™-order prime factors not divisible by x+1lare x? and x? +x+1. Since (::4 +x+ l) is not divisible

by x? , we try dividing by (x2 +Xx+ l) . This also yields a remainder 1. Hence x* + x+1 does not have

either a first or a second order factor. This means it cannot have a third order factor either. Hence

o+ x +x2+l=(x+l)(x‘+x+l)

16.3-4 Try dividing x'+1 by x+1

x6+x5+x‘+x3+x2+x+l

x+lF’+l
7

X +x6

et ——————

x°+l

x6+x5

xS +1

Paxt
x*+1
ex’

x3+l
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Therefore (x7 + l) =(x+ 1)(::6 sxdextexdex

Now try dividing (x® +x% +x* +x% +2% 42+ 1) by (x+1). It does not divide. So try dividing by
(x*+ 1). It does not divide. Try dividing by (x?+x+ 1).. It does not divide. Next try dividing by

(x* +1). It does not divide cither. Now try dividing by (a® +x+ 1). Itdivides. We find

+x+l)

(x6 +x+xt +x+x? +x+l)=(x3+x+l)(x3+x2 +l)

Since (x3 +x%+ I) is not divisible by x or x+1 (the only two first-order prime factors), it must be a

third-order prime factor. Hence

x’ +l-==(x+l)(x2 +x+1)(x2 +x? +1)

16.3-6 For a single error correcting (7, 4) cyclic code with a generator polynomial
g(x)=x3+x?+1

k=4 n=7
'xk-l g(x)q
%2 g(x) x3 g(x) xS 4xd
. - ng(x) - x“’+x4+x2
x g(x)| |xt+xP+x
g(x) Baxtal
| &(®)
Hence
1101000
_ 0110100
“loo11010
0001101
Each code word is found by matrix multiplication ¢ =dG’
[1101000]
0110100
c=[0000] 10511010
0001101
[1101000]
0110100
c=[0001] 10511010
_0001101_
151
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The remaining codes are found in a similar manner. See table below.

d c
0000 0000000
0001]0001101
0010{0011010
001110010111
0100(0110100
01010111001
011001011190
0111/0100001
1000(1101000
1001 /1100101
1010 (1110010
10311 (1111111
11001011100
110111010001
111011000110
11111001011

163-7 g(x)=x>+x?+1

The desired form is

1000- - -Ohy by by - -+ himy
0100 - -0k hahyy - hmy
0010---0m3hyhy - - - hm

........

0000 - - Vhyhuhy -y

[ & 7 ]
(kxk) (kxm)

The code is found by using c=dG
Proceeding with matrix multiplication, and noting that

0+40=0, 0+1=1+0=1, 1+1=0 and 0x0=0, O0x1=1x0=0, 1xi=1

we get
1000110
0100011

cs=[1111] 0010111 =[1111111]
0001101

ca=[1110]G=[1110010]

and so on.
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16.3-8

d

1111
1110
1101
1100
1011
1010
1001
1000
0111
6110
0101
0100
0011
0010
0001
0000

c
1111111
1110010
1101000
1100101
1011100
1010001
1001011
1000110
0111001
0110100
0101110
0100011
0011010
0010111
0001101
0000000

These results agree with those of Table 16.5

(»)

(b) The code is found by matrix multiplication.

In general
For this case

-

0001101

1011000
, |o101100

000101

“loo1o0110

1

¢c=dG'

g(x)= x4 gx" g ki
ai=) g=18=0 g=I!
Since hyy = g2, My = 83,

i = g4, the fourth row is immediately found. Thus, so far we have

Next, to get row 3, use row 4 with one left shift.

0011010
0001101]

The 1 is eliminated by adding row 4 to row 3.

0010111
0001101

Next for row 2, use row 3 with 1 left shift.

www.free4vn.org
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0101110
0010111
0001101

The 1 is eliminated by adding row 4 to row 2.

0100011
~ 0010111
0001101

Next for row 1, use row 2 with 1 left shift.

1000110
0100011
0010111
0001101

This is the desired form.

¢ d
00000000000
0001 (0001011
00100010110
0011(0011101
01000101100
0101 0100111
01100111010
011110110001
10001011000
1001 (1010011
10101001110
1011 (1000101
1100(1110100
1101 |1111111
1110(1100010

11111101001

() All code words are at a minimum distance of 3 units. Hence this is a single error correcting code.

1639 g(x)=x>+x+1. Hencerow4is0001011.

1011000
0101100
“loo1o0110
0001011

Row 4 is ok.

Row 3 is left shift of row 4.
For row 2, left shift row 3.
And add row 1 to obtain row 2.
For row 1, left shift row 2.
And add row 1 to obtain row 1.

www.free4vn.org

0001011
0010110
0101100
0100111
1001110
1000101
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1000101
G- 0100111
oot10110
0001011

16.4-1 The burst (of length 5) detection ability is obvious. The single error correcting ability can be demonstrated
as follows. If in any segment of b digits a single error occurs, it will violate the parity in that segment.
Hence we locate the segment where the error exists. This error will also cause parity violation in the
augmented segment. By checking which bit in the augmented segment violates the parity, we can locate
the wrong bit position exactly.

16.5-1 The code can correct any 3 bursts of length 10 or less. It can also correct any 3 random errors in each code
word.

1671 Pg, = k2B, [N)= 120(V2 % 9.12)=9825x 107
’ 4
Pec = (?){QUZ:E_]&)] =(%3)[Q(J9.5165)]4 =9872x107°

To achieve a value 9.872 x 107 for Pg, , we need new value E, /N say E}/N. Then

9.872x10'9=kQ( 2—‘-5-"’—)=129( -2-51)
\I N J N

Hence
Q( -25-”-} =08227x107°
‘J N
and
2Eb _e03= Eb o 1818
J N

This means E, /A must be increased from 9.12 to 18.18 (nearly doubled).
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